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MNOACHUTEJIBHAA 3AIINCKA

OneKTpoHHBIN JoKyMeHT (/1) mo aucuumuinae « THOCTpaHHBIN S3BIK
(aHrNIMiCKM)»  MpEeIHA3HAYeH MJI1 MarucTPaHTOB SKOHOMHUYECKHUX
CIEIMAIbHOCTEN JHEBHOM W 3ao0uyHOM (opm o0OydeHUs B KayecTBe
JOTIOTHUTEILHOTO Kypca Ha 2-OM CTYNEHW TOJYYEHHUS BBICIIETO
oOpa3oBaHus.

B oCHOBYy »AJIEKTpOHHOrO  JOKYMEHTAa TOJIOXKEH  y4eOHO-
Metoauueckuit 0ok (Unit), HalleJI€HHBIA HA MOATOTOBKY MaruCTPaHTOB K
UCIOJB30BAHUI0 HMHOCTPAHHOTO sI3blIKa B MX HPOodeCcCHOHAIBHOMN
NEeATEeIbHOCTH, T.6. OOy4YeHHME TMCbMEHHOM HW YCTHOW (opmam
KOMMYHUKaIuu. B kadecTBe OMHONW M3 OCHOBHBIX 3ajJiay MpPU OOyUYECHHUH
MarucTpaHTOB UHOCTPAHHOMY S3bIKY OCTAaeTCsl MPOPECCHOHATBHOE YTCHHE
¥ TIOHMMaHUE OPUTHHAIBHOM JUTEepaTypbl MO MPOQPUII0 MaruCTPaHTOB.
YueOHble MaTepualibl OPUEHTUPYIOT MArucTPaHTOB Ha pa3BUTHE U
COBEPIICHCTBOBAHUE a) M3ydYaroliero, 0) O3HAKOMUTEIbHOTO, B)
IPOCMOTPOBOTO, r) MTOMCKOBOTO BUJIOB YTEHUS
HSKOHOMMYECKHUX/CHIEUANIbHBIX TeKCTOB. JlanHbii JJ[ cocTouT U3 cemMu
pa3aesoB U NPUWIOKEHHS, & UMEHHO:

- pasnen I «kEconomic Systemy;

- pazaen Il «Macroeconomics and Microeconomicsy;
- pazaen I «Competitiony;

- pazzaen IV «Types of Business Enterprisey;

- pazznen V «Managementy;

- pazaen VI «Marketing»;

- paznen VII «Money and Bankingy.

Kaxnapiii pazgen )l comepKUT 4YaCTOTHBIA T'paMMaTHYECKUM
MaTepuana, HEOOXOAMMBIM MarucTpaHTam [jIsi YTEHHWs, TOHMMaHUS W
U3BJICUCHUS] HHPOPMAIIMU U3 aHTJIOA3BIYHBIX TEKCTOB MPO(ecCuoHAIbHOU
HaIpPaBJICHHOCTU. 3JECh XK€ MNPUBOIATCS YNPAKHEHUS IS TPEHUPOBKHU
rpaMMaTHYE€CKUX HaBBIKOB U YMEHHUI. B 0CHOBY 0TOOpa rpaMMaTH4YeCcKOro
MUHUMYyMa TOJIOKEHBI JIaHHBbIE JIMHIBOCTATUCTUYECKUX MCCIIEIOBAHUM,
BBISBJISIIOIINE HAM0O0JIee TUITMYHBIEC U YACTOTHBIE CTPYKTYPHI 111 HAYYHOTO
YKaHpa U CTUJIA PEUHU.

[Tpunoxxenne «My Higher Degree Course» wuMeeT MeIbio
dbopMHUpOBaHME Yy  MAarucTpaHTOB  HABBIKOB  MOHOJIOTUYECKOW U
JMAJIOTUYECKOM peun 1o YCTHOM TemMe «Mos HaywyHas paboTay,
MPEeayCMOTPEHHONH  TPOrpaMMOM  KaHJIUJATCKOTO  MHUHMMyMa 110
WHOCTPAHHBIM SI3bIKaM.



B cooTBeTrcTBMM C MpOrpaMMHBIMH TPEOOBAHUSIMU YCTHas pPEUb
MPEIOaraeT pa3BUTUE U COBEPIICHCTBOBAHHME YMEHUNW W HABBIKOB
MOATOTOBJICHHONM UM HEMOJIFOTOBJIECHHOMW peuu MO HaydyHOu pabore U
CIIELIMAJIbHOCTH MAruCTPAHTA.

DJIEKTPOHHBIN JJOKYMEHT PACCUMTAH Ha JIBA CEMECTpa aAyJIUTOPHOU U
BHEAYJUTOPHOM pabOThl C MAarucTpaHTaMd U TpeJHA3HAYEH IS
IIOATOTOBKHU MX K CJade 3K3aMEHa I10 MaruCTepCKOMYy KypCy aHTIIUMCKOro
SI3bIKA.



UNIT I
ECONOMICSYSTEM
Read and remember the following words and word combinations:

stock market — ¢poHIOBBII PHIHOK

transact — OCyIIeCTBIATh CACIIKY
consumption — moTpeodIeHuE

alternative goods — aJibTepHaTUBHBIE TOBAPHI
reconcile — mpUMEHUTH, COTIIACOBATH
adjustment — peryaupoBaHue, MOMpPaBKa
ensure — rapaHTUPOBaTh, 00ECIEUNBATh
counter — MpUJIABOK

luxury lunch — pockomuinslii 06en

10. cattle — poraTslii ckOT

11. contract — 31. moaxBaThIBaTh (0 OOJIE3HN)

12. remote — oTHaJIeHHBIN

13. decision — pemnieHue

14. labour — Tpyn

15. scarce — CKyJIHBII, HEJOCTATOYHBIMI

16. satisfy — y1oBIe€TBOPSITH

17. executive — HICLIOJTHUTEIbHBIN, AAMUHUCTPATUBHBII
18. conversely — HaoGopoT
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Read and translate the text:
TEXT A THE ROLE OF THE MARKET

Markets bring together buyers and sellers of goods and services. In
some cases, such as a local fruit stall, buyers and sellers meet physically. In
other cases, such as the stock market, business can be transacted over the
telephone. We need not go into these details. Instead, we use a general
definition of markets.

A market is a shorthand expression for the process by which
households' decisions about consumption of alternative goods, firms'
decisions about what and how to produce, and workers' decisions about
how much and for whom to work are all reconciled by adjustment of
prices.



Prices of goods, and of resources, such as labour, machinery and
land, adjust to ensure that scarce resources are used to produce these goods
and services that society demands.

Much of economics is devoted to the study of how markets and
prices enable society to solve the problems of what, how, and for whom to
produce. Suppose you buy a hamburger for your lunch. What does this
have to do with markets and prices? You chose the cafe because it was
fast, convenient and cheap. Given your desire to eat, and your limited
resources, the low hamburger price told you that this was a good way to
satisfy your appetite. You probably prefer steak but that 1s more expensive.
The price of steak is high enough to ensure that society answers the “for
whom” question about lunchtime steaks in favour of someone else.

Now think about the seller's viewpoint. The cafe owner is in the
business because, given the price of hamburger meat, the rent and the
wages that must be paid, it is still possible to sell hamburgers at a profit. If
rents were higher, it might be more profitable to sell hamburgers in a
cheaper area or to switch to luxury lunches for rich executives on expense
accounts. The student behind the counter i1s working there because it is a
suitable part-time job which pays a bit of money. If the wage were much
lower it would hardly be worth working at all. Conversely, the job is
unskilled and there are plenty of students looking for such work, so owners
of cafes do not have to offer very high wages.

Prices are guiding your decision to buy a hamburger, the owner's
decision to sell hamburgers, and the student's decision to take the job.
Society is allocating resources — meat, buildings, and labour — into
hamburger production through the price system. If nobody liked
hamburgers, the owner could not sell enough at a price that covered the
cost of running the cafe and society would devote no resources to
hamburger production. People's desire to eat hamburgers guides resources
into hamburger production. However, if cattle contracted a disease, thereby
reducing the economy's ability to produce meat products, competition to
purchase more scarce supplies of beef would bid up the price of beef,
hamburger producers would be forced to raise prices, and consumers
would buy more cheese sandwiches. Adjustments in prices would
encourage society to reallocate resources to reflect the increased scarcity of
cattle.

LANGUAGE PRACTICE



1. Answer the following questions to the text:

What do markets do?

What process is described by the term “market™?

Why do prices adjust?

When is it still profitable to sell anything at a profit?

. How does a society allocate resources into production of any
commodity?

6. What way do prices guide the decisions of buyers, owners and
workers to buy, to sell and to take a job accordingly?

7. What do adjustments in prices encourage society to do?

R

2. Read the following statements and find out what is not true
about the role of the market:
a)  Markets bring together buyers and sellers of goods and services.
b)  People's desire to have steaks for lunch guides resources into
hamburger production.
c) The student behind the counter is working there because it is a
suitable part-time job which pays a bit of money.
d)  Much of economics is devoted to the study of how prices are guiding
people’s decisions.
e) Adjustment in prices would encourage society to buy more meat
products.

3. Read the following words and word combinations and give
definitions:
a)  market;
b)  price resources;
c)  scarcity;
d)  stock market;
€) consumption;
f)  adjustment of prices.

4. Read these sentences and translate them into Russian:
a) A market is a shorthand expression for the process by which
households’, firms’ and workers’ decisions are all reconciled by
adjustment of prices.
b)  Prices of goods, and of resources adjust to ensure that scarce
resources are used to produce these goods and services that society
demands.



c) Much of economics is devoted to the study of how markets and
prices enable society to solve the problems of what, how, and for whom to
produce.

d) The cafe owner is in the business because, given the price of
hamburger meat, the rent and the wages that must be paid, it is still
possible to sell hamburgers at a profit.

e) Society is allocating resources into hamburger production through
the price system.

f)  Adjustments in prices encourage society to reallocate resources to
reflect the increased scarcity of cattle.

5. Read the following words and word combinations and find
Russian equivalents for them:
a)  bring together;

b)  local fruit stall;

c) meet physically;

d) to be transacted over;

e) shorthand expression;

f)  scarce resources;

g) limited resources;

h)  to satisfy one’s appetite;
1) expense accounts;

j)  adjustments in prices.

6. Questions for the final discussion:

What affects the supply of a particular good or service?

. How do demand and supply interact to determine prices?
3. How do shifts in demand and supply affect prices?

N —

TEXT B-1 THE ECONOMIC SYSTEM

1. Learn the following English terms and their Russian
equivalents:

economic order — 5KOHOMUYECKHI CTPOI

private enterprise — 4acTHOE MPeANPUHUMATEIBCTBO/TIPEATNPUATHE
controlled economies — HepbIHOYHAS SKOHOMHUKA

discretion — cBoOOa AeHCTBUI

beneficial services — IbroThI
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utility companies — KOMMYHaJIbHOE TIPEANPUSITHE
business community — JieJIOBbI€ KPYTH

full employment — nmosHas 3aHATOCTH

equitable distribution — cipaBeIMBOE pacnpeneacHue

W oA

Read the text. Define the main idea of each paragraph:

There are many forms of economic order, ranging from the mixed
private enterprise system to partially or completely controlled economies.
Regardless of their form, however, economic system is the system that a
society uses for allocation and distribution of scarce resources. Private
enterprise means that decisions about what and how much to produce are
left to the discretion of owners and managers. In controlled economies
such decisions are the responsibility of some governmental agency. There
is, of course, no economy today that is completely free of governmental
influence, nor is this condition necessarily undesirable. There are many
beneficial services and protections available from government. The
question then is a matter of degree. Irrespective of the form of economic
order, it performs certain valuable functions in the life of organizations of
all types.

Among the functions of the economic order the most important one
1s to provide some means of resource allocation. In a private enterprise this
function is basically performed by the price mechanism. This simply
means that demand for and supply of goods and services interact to set
their market price. In the case of regulated utilities, there are governmental
agencies such as public service commissions that determine the rates that
may be charged by utility companies. These rates are set at the level that
will allow a fair return on investments made by the companies. This form
of regulated monopoly is considered, on balance, preferable to unchecked
competition. This is true because of efficiency reasons. In taking actions in
the area of employment, government is attempting to control the economy
in such a fashion as to help the business community operate at the level of
production that will yield full employment.

Without a system of distribution economy simply could not exist. A
major part of this distribution system is credit. Economy flourishes on
credit or extended methods of payment. Such a system literally affects
every link in the distribution chain from the supplier of raw materials to the
ultimate consumer. Without this vital financing function being performed,
the economy would doubtless be forced to a lower order of production.

9



Economic goals for a nation include price stability, full employment,
economic growth, and equitable distribution of income. Price stability
contributes to the efficient allocation of resources and facilitates long-term
planning. Full employment means that jobs are available for those seeking
work. Higher standards of living require increased output per person
(economic growth per capita). An equitable distribution of income means
that the fruits of the economy are divided in a way that seems fair to the
majority of the people. With the long-run trend toward a more
sophisticated, highly integrated economic system, it 1s becoming
increasingly important for an individual decision maker to be aware of the
macroeconomic environment.

1. What is a system?

2. What are three main concepts of a system? What do they imply?
3. What is an economic system?

4. What functions does economic order perform?

5. What do economic goals for a nation usually include?

TEXT B-2 PROLOGUE TO ECONOMICS

Read the text. Make up the plan and retell the text using your
plan:

There is almost universal agreement that economies are becoming
more complex every year and that an understanding of how an economy
works 1s more important than ever before. For someone who is just
beginning to study economics, the task indeed appears to be a difficult one.
Economics is the study of the way in which mankind organizes itself to
solve the basic problem of scarcity. All societies have more wants than
resources, so that a system must be devised to allocate these resources
between competing ends. In a very real sense, the complexity of the
economy makes it difficult to decide exactly where to start.
Simultaneously, production is taking place, goods and services are being
allocated, and a great number of market participants are being motivated
by a diverse set of goals. In addition, there is the complex financial system
in which individuals, firms, and governments borrow and lend funds.

Economics is divided into two major branches: macroeconomics and
microeconomics. Macroeconomics is the study of behavior of the economy
as a whole with emphasis on the factors that determine growth and
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fluctuations in output, employment, and the level of prices.
Macroeconomics studies broad economic events that are largely beyond
the control of individual decision makers and yet affect nearly all firms,
households, and other institutions in the economy. Specialists in
macroeconomics are particularly interested in understanding those factors
that determine inflation, unemployment, and growth in the production of
goods and services. Such an understanding is necessary in order to develop
policies that encourage production and employment while controlling
inflation.

The other major branch of economics 1is microeconomics.
Microeconomics is the study of behavior of individual units within the
economy. The division of economics has resulted from the growing
complexity and sophistication of economic research.

These two approaches and the topics they include are in fact
interdependent. Individuals and firms make their decisions in the context
of the economic environment, which has an impact on the constraints the
decision makers face as well as their expectations about the future. At the
same time, when taken as a whole, their decisions determine the condition
of the overall economy. A good understanding of economic events and an
ability to forecast them require knowledge of both individual decision
making and the way in which individuals react to changes in the economic
environment.

1. Economies are becoming more complex every year. Why?
2. What is the main division of economics?

3. What is macroeconomics «responsible for»?

4. What does microeconomics deal with?

GRAMMAR IN USE
Crpanareabnblii 3ai0r (The Passive Voice)

CrpagaTenbHbI 3aJI0T TOKA3bIBAET, YTO JACHCTBUE, BBIPAKEHHOE
CKa3yE€MbIM, HAIIPABJICHO HAa IOJIJIC)KAIIICE.

®dopMbI r1arosia B CTpaJaTeIbHOM 3aJI0oTe 00pa3yroTCsl MPU TOMOIIU
BCIIOMOTaTeJIbHOTO riarona to be B coorBercTByromem Bpemenu u 111
GbopMBI CMBICIIOBOTO Tiarojia. TakuM o0pa3oM, U3MEHEHUIO MOIJICKUT
TOJILKO BCIIOMOTATeNIbHBINA Tri1aroi to be, a ¢gopma CMBICIOBOroO riarosia
OCTAeTCsl HEU3MEHHOM.
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Tabéauua BuIOBpeMeHHBIX (popM
IJIaroJioB B CTPA/JAAaTeJILHOM 3aJ10T€

Simple Continuous Perfect
(to be + (to be + being + (to have + been +
Participle 1I) Participle 1) Participle 1I)
[ am [ am I have
Present | He is invited | He is being | He has been
invited invited
They are They are They have
I was I was I had
Past He was  invited | He was  being | He had been
invited invited
They They They had
were were
I shall I shall
have
Future | He will  be He will been
invited invited
They will They will
I should I should
Future- | He have
in-the- | would be He would  been
Past invited invited
They
would They would
[Ipu o0pa3oBaHUU BOIIPOCUTEIBHOMN bopMBI 110503817

BCIIOMOTaTENIbHBIN TJIAroJl CTAHOBUTCS mepes nojexamum: Am I invited?
Shall I be invited?

[Ipn oOpazoBanmm OTpULIATEIHHONW (HOPMBI YacTHIla NOt CTaBUTCS
MoCJIe TIEPBOr0 BCIIOMOTaTeNIbHOTO Tuiarofa: I am not invited. I shall not be
invited.

Iloasexamiee Tmpu  CKa3yeMOM B CTpaJaTeIbHOM  3aJIoTe
MEPEBOANTCS  CYIIECTBUTEIBbHBIM  (MECTOMMEHHEM) HE TOJBKO B
MMEHHUTEJIFHOM, HO U B KOCBEHHOM Majexke (C MpeayioroM uiu 6e3).

Cka3zyemoe B CTpaJaTeIbHOM 3JI0T€ MIEPEBOIUTCS
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1. T'maronom «OBITB» M KpPAaTKUM CTPAJATEIbHBIM IPUYACTHEM C
cyddUKCcOM -H- UIHU -T-, T. €. PyCCKUM CTPaJaTEIbHBIM 3aJI0TOM.

2. TI'marosioM, OKaHYMBAIOIIUMCSI Ha «-CSI», «-Chb», B COOTBETCTBYIOIIEM
BPEMEHH, JIUIIE U YHCIIE.

3. 'maroyiom J€MCTBUTEIBLHOTO 3aJI0Ta B COOTBETCTBYIOIIEM BPEMEHH, 3-M
JUIE MH. YHCNa, SBISIONIAMCS YacThl0  HEOMPEAEICHHO-JIMYHOTO
PEIOKCHHUS.

4. I'marojioM JEeWCTBUTEIBHOIO 3aJI0Ta B COOTBETCTBYIOIIEM BPEMEHU IIPU
HaJIMYUU JOMOJIHEHUS € npeasioroM «by» wim «withy.

EXERCISES

1. Transform the sentences from Active into Passive:

1. The speaker stressed the importance of the Congress. 2. This actor will
play the part of Hamlet. 3. The students have learnt a lot of new English
words. 4. The director himself answered the phone. 5. Somebody
recommended me to see that doctor. 6. They had eaten all the dinner
before they finished the conversation. 7. Somebody has locked the box and
I cannot open it. 8. Our friends are making special preparations. 9. The
teacher asked the student to tell the story once again. 10. We shall receive
the answer in two days. 11. The fire destroyed many valuable paintings.
12. An electric fire warms the room.

2. Fill in each blank with the necessary form of the verb in the
Passive Voice:
1. The papers ... just by the dean (to sign). 2. The newspapers ... already by
me (to look through). 3. The proposal ... by that time (to discuss). 4. The
invitation ... tomorrow (to send). 5. The communiqu? ... by 6 o'clock (to
publish). 6. The new plan of the reconstruction of the town ... still (to work
out). 7. The treaty ... tomorrow (to sign). 8. I knew that he ... to go out as
he was not well (not to allow). 9. He left the hall when the first item of the
agenda ... still (to discuss). 10. He could not understand why he ... by
nobody for such a long time, (to visit). 11. What is going on here? — The
results of the exam (discuss) by the students. 12. I just (offer) a ticket for
the concert. 13. The article (to translate) by the time you return.

3. Translate the sentences and put questions to the words given
in bold type:
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1. English is spoken in many countries of the world. 2. The problem has
been settled by the signing of the communiqu?. 3. A lecture will be
delivered at 2 o'clock tomorrow. 4. A new rule is being explained now.
5. New underground lines are being built in the city. 6. The question of
establishing a system of collective security has been raised. 7. Much had
been learnt by the end of the term. 8. Many new books are being received
by our library. 9. The telegram will have been delivered before they ring
him up.

4. Translate the following sentences into Russian:

1. My letter of complaint was answered at once. 2. We were joined by a
group of our students in the Crimea. 3. These events were followed by a
wave of strikes. 4. The lecture on marketing was attended by many
students. 5. The terms were agreed upon. 6. We hope that an agreement
will be arrived at. 7. He was listened to attentively. 8. This problem was
not spoken about. 9. The doctor will be sent for at once. 10. This book on
theory of Economics was often referred to.

5. Put the verbs in brackets into the correct tense form:

1. This piece of music (to know) to me. But it never (to play) so
wonderfully before. 2. When I came into the cinema, a new film (to show).
3. It is raining and football (not, to play). 4. The students (to work) at the
laboratory the whole evening yesterday. 5. Nick was late for the party, so
when he came into the room all the guests (to introduce) to each other,
some of them (to dance) and some (to sing) in the next room. 6. The
mother (to tell) not to worry about her sick boy. He (to examine) soon by
the doctor. 7. We (to discuss) the problem already when you came. 8. The
weather changed for the worst. It (to rain) heavily. The windows (to break)
by the strong wind.

6. Transfer the verbs in brackets into the correct tense form:
1. Don't enter the room! A student (to examine) there. 2. The event (to
report) to the newspapers before they arrived home. 3. After the accident
he (to take) home immediately. 4. The letter (to type) by the typist when I
came in. 5. I am sure that his work (to complete) by the end of the month.
6. Some new magazines just (to bring). Would you like to look them
through? 7. The exercises usually (to correct) by the teacher at home. 8. |
can't show you my written work as it not (to return) by my teacher.
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9. Many new houses (to build) in our town lately. 10. The goods not (to
examine) yet at the custom-house. When they (to examine)?

7. Translate into Russian:
1. He was shown the way to the station. 2. She was told the news when she
I returned home. 3. They were offered the goods at a low price. 4. Children
are taught foreign languages at school. 5. They are paid twice a month.
6. He was offered some interesting work. 7. He was promised immediate
help. 8. The buyers were granted a credit of six months.

8. Change the Active constructions into the Passive ones:
1. Everybody objected to his proposal. 2. We sent for the broker as soon as
the telegram arrived. 3. I think that we can rely on this information.
4. They insisted on these terms and conditions. 5. Do you think that we can
rely on these figures? 6. I am afraid that they will not arrive at an
agreement. 7. I am sure that the newspapers will comment on this event.
8. I am sure that nobody will object to this plan.

9. Translate into English:

1. Kaxkoit Bompoc ceituac obcyxkmaercsa? — OOcyxmaercss paboTa Halero
Hay4yHOro oomiecta. 2. Ee MOXXHO BuIeTh B OMOIMOTEKE KaXKIbIil JICHb.
3. Korga Oyner oTkpbiTa HOBas OusHec-mikosna? 4. MHe mnpennoxuin
paboty Oyxrairepa. 5. 3a mocieqHee BpeMs B HAIIEM TOpPOJie MOCTPOEHO
MaJI0O KpacUBBIX 3/aHWK. 6. B 3TOM mIKoJie MpenoAaeTcsi 3KOHOMHUKA U
skonorus. 7. Kakue poctompumeyaTenbHOCTH TOpoAa OyayT MHOKa3aHbI
TypucTam?

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:

THE COMMAND ECONOMY, THE FREE MARKET ECONOMY,
THE MIXED ECONOMY

The Command Economy

To highlight the role of markets and prices, we now ask how
resources might be allocated if markets did not exist. One example is a
command economy.
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A command economy is a society where the government makes all
decisions about production and consumption. A government planning
office decides what will be produced, how it will be produced, and for
whom it will be produced. Detailed instructions are then issued to
households, firms, and workers.

Such planning is a very complicated task, and there is no complete
command economy where all allocation decisions are undertaken in this
way. However, in many countries, for example in the Soviet bloc, there
was a large measure of central direction and planning. The state owned
factories and land, and made most important decisions about what people
should consume, how goods should be produced, and how much people
should work.

To appreciate the immensity of this task, imagine that you had to run
by command the city in which you live. Think of the food, clothing, and
housing allocation decisions you would have to make. How would you
decide who should get what and the process by which these goods and
services would be produced? Of course these decisions are being made
every day in your own city, but chiefly through the allocative mechanism
of markets and prices.

The Invisible Hand or Free Market Economy

Markets in which governments do not intervene are called free
markets. Individuals in free markets pursue their own interests, trying to do
as well for themselves as they can without any government assistance or
interference. The idea that such a system could solve the what, how, and
for whom problems is one of the oldest themes in economics, dating back
to Adam Smith, the famous Scottish philosopher-economist whose book
The Wealth of Nations (1776) remains a classic. Smith argued that
individuals pursuing their self-interest would be led «as by an invisible
hand» to do things that are in the interests of society as a whole.

Suppose you wish to become a millionaire. You play around with
new ideas and invent a new good, perhaps the television, the motor car or
the hand calculator. Although motivated by our own self-interest, you
make society better off by creating new jobs and opportunities. You have
moved society's production possibility frontier outwards — the same
resources now make more or better goods — and become a millionaire in
the process. Smith argued that the pursuit of self-interest, without any
central direction, could produce a coherent society making sensible
allocative decisions.
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This remarkable insight has been studied at length by modern
economists.

The Mixed Economy

The free market allows individuals to pursue their self-interest
without any government restrictions. The command economy allows little
scope for individual economic freedom since most decisions are taken
centrally by the government. Between these two extremes lies the mixed
economy.

In a mixed economy the government and private sector interact in
solving economic problems. The government controls a significant share of
output through taxation, transfer payments, and the provision of goods and
services such as defence and the police force. It also regulates the extent to
which individuals may pursue their own self-interest.

In a mixed economy the government may also be a producer of
private goods such as steel or motor cars. Examples of this in the UK
include the nationalized industries such as railways and coal.

Most countries are mixed economies, though some are close to
command economies and others are much nearer the free market economy.
Even the Soviet Union allowed consumers some choice over the goods
they bought. Private agricultural markets co-existed with centrally
organized «collectives». Conversely, even countries such as the United
States which espouse more enthusiastically the free market approach, still
have substantial levels of government activity in the provision of public
goods and services, the redistribution of income through taxes and transfer
payments, and the regulation of markets.

EXERCISES

1. Look through the text to find the English equivalents of the
following terms and give the sentences with them:

YAUBUTENbHAS CYLIIHOCTD NOAYEPKHYTH POJIb
BBIITYCK MPOIYKIIAN TpaHC(EPTHBIN MIATEXK
IIPUHAJIEKALANA TOCYy1apCTBY pEryaupoBaTh pazMep 4ero-indo
MEXaHM3M PaCIpPEIEIICHUS COCYIIECTBOBATH C YEM-JINOO

2. Find the sentences in the text that correspond to the following
statements:
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1. A command economy is a society where the government makes all
decisions about what will be produced, how it will be produced, and for
whom it will be produced.

2. It is not an easy thing to perform planning, that is why there is no
complete command economy. But in some countries there is a large
measure of central direction and planning.

3. Individuals in free markets are able to pursue their own interests
without any government interference.

4.  In a mixed economy the government and private sector work closely
together to solve economic problems.

5. Different countries are closer to this or that type of economic system.

3. Answer the questions:

What is the name for the society where markets do not exist?
What kind of economy can we nominate as a command one?
What is a free market?

What kinds of problems does a free market economy solve?
What can you tell about Adam Smith’s famous idea?

What are the features of mixed economy?

What way does the government control the output?

What are the examples of mixed economies?

A

TEST

1. The papers ... by the Managing Director yet. He is on a business trip.
a. haven’t been signed | c. haven’t signed

b. aren’t signed | d. weren’t signed

2. The details of the deal ... at the board meeting now.
a. are finalized | c. have been finalized

b. are being finalized | d. are finalizing

3. A new government ... to overcome the economic slump.
a. formed | c. was formed

b. has formed \ d. have been formed

4. Promotional gifts ... at the presentation.
a. 1s handed out | c. has been handed out

b. will be handed out | d. have handed out
18



5. A discount may ... to make a consumer pay immediately.

a. have been offered | c. will be offered
b. is offered | d. be offered

6. The stock exchange ... twice a day.
a. 1s monitored | c. has monitored
b. were monitored | d. will monitor

7. The mail ... yet.
a. hasn’t received \ c. wasn’t received

b. hadn’t been received \ d. hasn’t been received

8. To improve the effectiveness of marketing strategy a market ...

separate definable elements.

1nto

a. has split | c. is split
b. splits | d. has been split
9. This model is of a new design and only a few units ... so far.
a. have been manufactured \ c. are manufactured
b. were manufactured \ d. had manufactured

10. The financial status of an enterprise ... in its financial account.
a. is reflected | c. is being reflected

b. has reflected | d. was being reflected
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UNIT 11

MACROECONOMICS
AND MICROECONOMICS

Read and remember the following words and word

combinations:

1. deliberately — ympinuieHHo, 001yMaHHO

2. gross domestic product (GDP) — BajioBOil BHYTpEHHUN MPOMYKT
(BBII)

3. national income — HaMOHAJIBHBIA JOXOI

4, personal income — JIMYHBIN 10X0]

5. personal disposable income — TMYHBIN T0X0/1 MOCIIE YIIJIAThl HAJOTOB

6.  business cycle — 5KOHOMHUYECKUI ITUKII

7. labour shortage — HexBaTka paboueil cuiIbl

8.  breakdown — pacnpenenenue, kaaccuduKkaiys

9.  bundle — Habop, MHOXKECTBO

10. aggregate — COBOKYITHBIN

11. on average — B cpeHeM

12. reveal — moka3bIBaTh

13. consumer goods — MOTPeOUTENLCKHE TOBAPHI

14. coverage — oxBar, ocBemienue (8 CMH)

15. total output — 061Kt 00BEM IPOU3BOACTBA

16. aggregate price level — oOmumii ypoBeHs 11eH

17.  unemployment rate — ypoBeHb 0€3pabOTHUIIBI

18. labour force — pabouas cuna

19. landed gentry — IBOpsSIHCTBO; 30. npeneOp. Tocoa

20. aggregate unemployment rate — oOmuii ypoBeHb 6€3pa0OTHUIIBI

Read and translate the text:
TEXT A WHAT IS MACROECONOMICS?

Macroeconomics emphasizes the interactions in the economy as a

whole. It deliberately simplifies the individual building blocks of the
analysis in order to retain a manageable analysis of the complete
interaction of the economy.
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For example, macroeconomists typically do not worry about the
breakdown of consumer goods into cars, TV sets, calculators. They prefer
to treat them all as a single bundle called “consumer goods” because they
are more interested in studying the interaction between households'
purchases of consumer goods and firms' decisions about purchases of
machinery and buildings.

As these macroeconomic concepts are intended to refer to the
economy as a whole, they tend to receive more coverage on television and
in the newspapers than microeconomic concepts, which are chiefly of
interest to those who belong to the specific group in question. To give an
idea of the building blocks of macroeconomics, we introduce three
concepts which you have probably read about in the newspapers or seen
discussed on television.

Gross domestic product (GDP) is the value of all goods and services
produced in the economy in a given period. GDP is the basic measure of
the total output of goods and services in the economy.

The aggregate price level is a measure of the average level of prices
of goods and services in the economy, relative to their prices at some fixed
date in the past.

There is no reason why the prices of different goods should always
move in line with one another. The aggregate price level tells us what is
happening to prices on average. When the price level is rising, we say that
the economy is experiencing inflation.

The unemployment rate is the percentage of the labour force without
a job. By the labour force we mean those people of working age who in
principle would like to work if a suitable job were available. Some of the
landed gentry are of working age but have no intention of looking for
work. They are not in the labour force and should not be counted as
unemployed.

In 1970s, economic interactions within and between national
economies led to substantial inflation rates. In 1980s, most Western
economies faced sharp rises in the aggregate unemployment rate.
Macroeconomists wish to understand how interactions within the economy
can lead to these outcomes and whether government policy can make any
difference.

LANGUAGE PRACTICE

1. Answer the following questions to the text:
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What does macroeconomics emphasize?

What do macroeconomists study?

Why do macroeconomics concepts receive more coverage in media?
What does a notion «GDP» mean?

What does the term «aggregate price level» denote?

What term do economists apply to name people of working age?

AN

2. Read the following statements and find out what is not true
about macroeconomics:
a)  Macroeconomics deals with global questions only.
b) Landed gentry are those who have no chance to find a job on
speciality.
c) Government policy always makes some effects on the national
economy.
d) Macroeconomic analysis shows the development of the economic
theory.
e)  GDP tells us what is happening to prices on average.
f)  The aggregate price level is the basic measure of the total output of
goods and services in the economy.

3. Read the following words and word combinations and give
definitions:
a)  macroeconomics;
b)  breakdown;
C) gross domestic product;
d) aggregate price;
e) labour force;
f)  inflation rate;
g) unemployment rate.

4. Read the sentences and translate them into Russian:

a)  Macroeconomics examines questions such as how fast the economy
1s running; how much overall output is being generated.

b) It also seeks solutions to macroeconomic problems such as how
employment can be increased, and what can be done to increase the output
of goods and services.

c) We can see from the aggregate price level s what is happening to
prices on average: when the price level is rising, the economy is
experiencing inflation.
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d) By the labour force we mean those people of working age who are
ready to work if a suitable job is available.

5. Find Russian equivalents to the following English word
combinations:
a)  building blocks;
b)  consumer goods;
c)  aggregate price level;
d) unemployment rate;
e) labour force;
f)  landed gentry;
g) aggregate unemployment;
h)  purchase;
1)  household;
j)  group in question.

6. Work in pairs or small groups. Think and say if you are able
to answer the following macroeconomic questions:
1.  What does it happen when the price level is rising?
2. Is it possible for macroeconomists to realize how interactions within
and between the economies can lead to such outcomes as inflation and
unemployment?

TEXT B-1 MACRO ENVIRONMENT

1. Learn the following English terms and their Russian
equivalents:

constraint — orpaHUYCHHE

consumer client group — noTpeduTenscKas rpymnmna
accepted behavior patterns — npunaTbie (HOPMBI MOBEICHUS
culture-bound — nMeromMil KyJIbTYpHBIE OTPAHUYECHUS
common practice — oObIvait

transfuse — mepenaBath; IPOMUTHIBATD

recreational areas — 30HbBI OTIbIXa

red tape — OropoKpaTHsi, BOJIOKHTA

feasible — peanbHBIN, OCYIIIECTBUMBIIA

facet — acniekT, cTopoHa

ultimate — nocyienHU, 3aBepIIatONINAA
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Read the text. Be ready to define the key sentence(s) of each
paragraph. Explain your choice:

Macro environment is the network of systems composed of culture,
political and economic forces, technology, skill mixes, and consumer
groups; a source of opportunities and constraints for the organization.
Once the organization has built its product or defined its service, it must
distribute it to consumer client groups who have wants and needs that they
attempt to satisfy through the consumption of such products and services.

Every organization exists within an extensive and complex
environmental network. Organizational environment refers to all groups,
norms, and conditions with which an organization must deal. It includes
such things as the political, cultural, economic, religious, educational, and
the like systems that affect an organization and which are in turn affected
by it.

Culture, composed of values, norms, artifacts, and accepted behavior
patterns, affects the way the organization 1s formed and how it operates.
Indeed, one must recognize that all of the decisions made in an
organization are culture-bound; i.e., they are a reflection of all these
components of culture. Societal norms are those standards that mold
behavior, attitudes, and values of those members who constitute a society.
They come from laws, customs, religious teachings, and common practice.
They are standards because members take them into account in their
decisions and behavior. Dress, speech, what i1s considered to be in good
taste, and the general understanding of what is right and wrong are all
affected by societal norms. At the same time, almost every institution in a
society is capable of transfusing some of its values, norms, and behavior
patterns into its environment. Organizations can hardly afford to ignore
such a vital ingredient in its macro environment.

Political forces are classified as the form and role of government in a
society. The source of law and other regulations that restrict or at least
affect the organization, the political system is also the source of a rich
variety of services for the organization. These services range from fire and
police protection to the provision of recreational areas. When one thinks of
the governmental sector, one might be likely to think of its negative
connotation and red tape. Although there is an element of restriction
originating from the political sector, it is by no means dominant. Even
though the presence of the political system has served to complicate
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management’s job, it has also made it easier at the same time. By knowing
that all similar organizations must observe the same rules and regulations,
managers can experience an element of certainty in their activity. They
know that they have a source of protection and redress when violations do
occur.

The political system is coupled with the economic system. The type
of economy a society has can range from private enterprise to planned
economy. Whatever its form, the economic system is concerned with the
allocation of scarce resources and the provision of some form of
distribution. It is, in practice, quite difficult to separate the political and
economic systems from each other.

The macro environment is also the source of fechnology — the
machines, techniques, and methods required for production and
distribution. To be able to compete successfully, organizations must have
access to modern technology. It is simply not feasible for an organization
to compete unless an adequate level of technology is available to it. It can
be safely stated that organization success is measured by the ability of the
organization to adjust to and to employ technological innovations. Among
their responsibilities, managers today must count the obligation to maintain
a spirit of creativity and ingenuity among members so that continued
progress on the technological front can be made. The ever-growing
shortages of resources of all types are but one indication of the seriousness
of this obligation.

Skill mix in the labor force i1s likewise an important facet of an
organization’s macro environment. All organizations depend to some
extent on a supply of labor that possesses the skill and ability to perform
the work necessary to attain objectives. Consequently, labor market
conditions and skill mixes are crucial to success.

The consumers are the ultimate arbiters of the organization’s success,
for it is they who make the critical choices to consume or not to consume
an organization’s output. Without the income (in whatever form) that
results from this consumption, the organization is doomed to a relatively
short life. This means that managers must be more aware of and sensitive
to the total environmental complex of their organization in order to
develop and implement plans for successfully coping with it.

1. What is macro environment?
2. Why is macro environment called a source of constraints and
opportunities for an organization?
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3. What is «the most influential element» of the environment?
2. Write a short summary of the text.

You may use the phrases like:

a) It 1s well-known, that ....

b) A large number of ....

c) It is believed that ....

d) As the practice shows ....

e) The latest studies say, that ....

TEXT B-2

Read the following text. Define its main topic. Divide the text into
logical parts. Give the title to the text and to each part. Explain the
meanings of the words and phrases which have been highlighted:

The study of economics would be incomplete without understanding
of the nation’s role in the world economy. The study of the world economy
is known as “international economics”. International economics
embraces two broad areas of interest: international trade and
international finance. World trade has been gaining increasing
significance among nations. Why do nations trade? The answer is that
nations have different quantities and qualities of economic resources and
different ways of combining them. As a result, each country can produce
certain goods more efficiently, or at relatively lower costs, than others.
This idea can be stated somewhat differently. Imagine a world consisting
of only two countries, each producing the same goods. Under such
circumstances, the alternative or opportunity cost to each country of
producing more of one good is the amount of the second good that must be
sacrificed. In view of this, which of the two goods should the countries
produce? The answer is that each should specialize. When two parties
engage, the sacrifice that each makes to obtain something from the other is
called the “terms of trade”. For example, in order to buy a book, you might
have had to give up five visits to the movies. Your terms of trade,
therefore, are 5 movies = 1 book. The terms of trade for a given
transaction equal the number of units of goods that must be given up for
one unit of goods received by each party to the transaction. Or in other
words, terms of trade are defined as the ratio of the prices of its export
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commodity to the price of its import commodity. Despite the fact that trade
is of great importance for each nation, all countries impose restrictions of
one form or another to protect some of their domestic industries. The
restrictions may be of several types: tariffs, import quotas, nontariff
barriers. Tariffs are customs duties or taxes imposed by a government on
the importation of a good. Tariffs may be (1) specific, in the form of a tax
per unit of the commodity, or (2) ad valorem, based on the value of the
commodity. Import quotas are laws that limit the number of units of a
commodity that may be imported during a specified period. Nontariff
barriers are any laws or regulations, other than tariffs, that nations impose
in order to restrict imports. For instance, to “protect the health and safety”
of their citizens, many countries establish higher standards of quality for
various kinds of imported goods than for similar goods produced
domestically.

GRAMMAR IN USE
Karteropusi naknonenusi (The Category of Mood)

Haxknonenue — rpaMmaTriyecKkas KaTeropus Ijarojia, BbIpaXKaronias
OTHOIIIEHUE MEXAY COAECPKAHUEM BBICKA3bIBAaHUSA U JIEHCTBUTEIBHOCTHIO.
B anrauiickom s3blke 3 HakiIoHEHHUs: H3bABHMTedbHOe (Indicative),
nosesMTesbHOe (Imperative) u cociararesibHoe (Subjunctive).

1. Hsvasumenvhoe HaKJOHeHUe BEIpa)KaeT JefcTBHE,
MIPEICTABIISIEMOE KaK peabHbIN (aKT.

He came home late yesterday. — Buepa on npuiiien 1oMoi mO3/1HO.

2. IlogenumenvHoe HaKloOHeHUe BBIPAXKAET NEUCTBUS, COBEPIIIACMbIC
10 MPOCKOe, MPUKA3AHUIO, COBETY.

Pass the dictionary, please. — [lepenaiite, moxkanyiicra, CIOBaphb.

3. CocnacamenvHoe HaklOHeHUe  BBIpaXKaeT  JCHCTBUS, HE
COOTBETCTBYIOILIME JAEUCTBUTEIIBHOCTH, & TAKXKE JECHUCTBUS, BO3MOXKHBIC
WM JKeJIaTelbHbIE, KOTOPhIE MOTIN OBl COBEPIITUTHLCS MPHU OMPEICTICHHBIX
YCIIOBHSIX.

If I knew English, I would help you. — Ecmau Obl 51 3Ha7T aHTIHICKUN A3BIK,
s ObI TOMOT TeoOE.
I wish I knew English. — Xanb, 4yTo 5 HE 3HAIO0 AHTJIUMCKOTO.

CocaraTejibHOE HAKJIOHEHHUE

AHanutryeckue Gopmbl Cunrernueckue Hopmbl
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Hacrosee/ MIPOIIIE/IIIee HacTosee/ MIpoIIe/IIee
Oynyuiee oynyuiee

should should ask/be (V1) had asked (V3)
would ask would  have

might (V1) might asked |asked/were (V2) |had been (V3)
could could (V3)

YnotpebieHue: ckazyeMoe

B IMPOCTBIX NPCIIIOKCHUAX U B MMPOCTBIX MPCATTOKCHUAX U
TJIaBHBIX B COCTABC YCJIOBHBIX IPHUIATOYHBIX

CJIOYKHOTIOTYNHEHHBIX ;
He would rather go by car. if I were there.
I should ask if he had been there.

He would have asked

B Tpex tunax npuaaToOYHbIX TPEAI0KEHNM:
1) mopnexamnux (it is necessary, it is desirable, it is possible, etc).
It is necessary that he (should) do it.
2) IOTIOTHUTENBHBIX (fo order, to demand, to suggest, to recommend, etc).
He demanded that we (should) do it.
3) uenu (so that, lest).
She must hurry lest she (should) be late.

ITocne rimarona to wish (wish-clauses)
I wish he would be/were a manager.

Ycaosuble npemsioxenus (Conditional Sentences)

B adrnumiickoM sA3bIK€ CYIIECTBYET TpPU THIA  YCIOBHBIX
npeuioxkenuit.  YcioBHoe mnpeiokenue I tuma  (Conditional 1)
OTPaXaeT BEPOATHBIE YCJOBHUS, OTHOCSIIMECS K HACTOALIEMY WU
OyJlylieMy BpeMEHHU.

If they offer me the job I will Ecnu MHe npennoxar 3ty padoTy,
accept it. S COIJIAIIYCh.

Ycnosuoe mnpemioxkenue II Tuma (Conditional 1I) orpaxkaet
MaJIOBEPOATHBIE YCIOBUS, OTHOCSIIHUECS K HACTOAMIEMY WA OyIyIlIemMy
BpPEMEHH.

If they offered me the job I would

accept it.

Ecnu Obl MHE DPEeASIOKIIN 3Ty

paboTy, st Obl coryiacwics (Ho s He

oymMaro, 4mo MHe ee npeonodican,).
VYcenosuoe mnpennoxkenue III tuma (Conditional IIT) orpaxkaet

HEpeaTbHBIC YCIOBUS, OTHOCAIINECS K TPOILIOMY.
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If they had offered me the job I
would have accepted it.

Ecnu Ob1 MHE IPETOKIIIH Ty
paboty, s Obl cornacuiics (Ho mHe ee

He NPeoNoNCUNIU).

Tun [Ipumarounoe ycinoBHoe | ['maBHOE mpeioxeHne
peJI0KEeHUS peIJIOKEHUE
[ Tun Present Simple Future Simple
(Ilepesooumcs
6yoyuwum If he works hard he will pass the exam.
8pemeHeM) Ecnu oH OyIer ycepiHO | OH CAACT SK3aMEH
paboTaTsh,
Il Tun Past Simple Should (would, could, might)
(Ilepesooumcs + Indefinite Infinitive 6e3
211A20/I0M 8 “to”
npouteouiem
BpPEMEHU C If he worked hard
yacmuyeti «ovly) | Eciu Obl OH paboTta he would pass the exam.
yCepHO, OH caJj Obl SK3aMEH.
I Tun Past Perfect Should (would, could, might)
(Ilepesooumcsi + Perfect Infinitive 6e3 “to”

mak orce, kax 11
mun)

If he had worked hard last
term

Ecau 651 oH paboTtan
YCEPIHO B TIPOIILJIOM
ceMecTpe,

he would have passed his
exam.

OH cJ1aa ObI DK3aMEH.

YcioBHBIC INpUAATOYHBIC TIPCAJIOKCHHUA BBOIATCA COMHO3aMU

if

(ecnm), unless (ecnu He), in case (B ciaydae €cim), provided (ipu yCIOBUM).
Bo3MoxHO Takke OECCO3HOE MOJYMHEHHUE YCIOBHBIX MPEHJIONKEHUH, B
TOM cllyd4ae B Hauale NPemJIOKeHUS NPHUCYTCTBYET Taron ‘‘should”,
“were” unu “had”.

Had I known about the meeting |
would have come.

Ecau 6wl st 3HA)1 0 cOOpaHuu, 51 ObI

Should he call, ask him to leave the

message for me.

[PUILLIET.
Eciiv OH MO3BOHUT, IOIIPOCUTE €TO

OCTaBUTh /ISl MEHS COOOIIEHUE.

EXERCISES
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1. Translate the following sentences paying attention to the
Subjunctive Mood:
1. It is desirable that the project should be finished in time. 2. The
production manager demands that the workers should increase their
productivity. 3. In this case it is not necessary that the scientist should
carry out a set of experiments. 4. I wish I had passed my driving test. But
unfortunately I failed. 5. There was danger lest the new business plan
become known to our rivals. 6. An engineer ordered that the equipment
should be repaired. 7. He wished it were the weekend already. He was so
tired. 8. One should be very careful so that the packing should be as
uniform as possible. 9. It is important that trade should be in balance and
the foreign exchange market should be in equilibrium.

2. Change the sentences according to the model. Translate them:
Model: If you arrange English classes, they will attend them.
If you arranged English classes, they would attend them.
If you had arranged English classes, they would have attended them.

1. If you explain me the rule, I shall understand this task. 2. If he stays
abroad long, we shall miss him. 3. If you have problems with English, your
teacher will consult you. 4. If he invites me, we shall discuss our
agreement. 5. If they organize international exhibition, our company will
take part in it. 6. If you read job vacancies, you will find the required
information. 7. If you work efficiently, you will perform the job
successfully.

3. Write sentences using the 2"' type of conditionals. Translate
the sentences:
Example: 1 am not rich. 1 don't have a big house.
If I were rich, I would have a big house.

1. He doesn't speak English. He won't work at the branch located in
Britain. 2. Mary gefs up late in the morning. She is not a fortunate business
lady. 3. Mr. Smith isn't an efficient manager. He doesn't make a progress.
4. Students have no problems with their studies. They won't consult a
teacher. 5. I don't know where to spend holidays. I’// stay at home.

4. Write sentences using the 3" type of conditionals. Translate
the sentences:
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1. If I have an interview, I’ll get a new job. 2. If I become the president of
the company, '/l increase the profit. 3. If you arrive in our country, I’'ll be
your guide. 4. If she attends practical classes at the English courses, she’//
pass an exam. 5. If he recruits this applicant, the department will be
profitable.

S. Translate from English into Russian:

1. If incomes are rising, the demand for most goods and services will tend
to increase. 2. If the price of butter fell, the demand for margarine would
probably fall. 3. If the supplier of such a commodity raised the price, many
buyers would turn to the close substitutes. 4. If demand were inelastic, the
movement of the supply curve would lead to a relatively large fall in price.
5. If the consultant had done more careful research, he would have
identified the gap in the market. 6. We would be very grateful if you sent
us the information as soon as possible. 7. If the government hadn’t
introduced the tax incentive scheme, we would have faced serious financial
difficulties. 8. Unless we reach break-even point within six months, we
will have to ask for another bank loan.

6. Rewrite the following as conditional sentences:

1. The government must take appropriate measures to decrease the
unemployment. 2. He was always late for work, that is why he was sacked.
3. The company lost a lot of money because their competitors reduced
prices. 4. We should spend more on advertising, then our products will sell
better. 5. The workers went on strike because their wages were inadequate.
6. We can order more goods, they will give us a discount. 7. He refused to
take the job because the salary was not high enough. 8. He would sign the
agreement but he does not like some of the terms.

7. Put the verb in brackets in the appropriate form:

1. If we increased production volume we (benefit) from a more economic
batch size. 2. If we had installed the equipment, we (become) more
competitive. 3. If a government cuts taxation, it (gain) a lot of popular
support. 4. We (beat) the price increases if we made the investment now. 5.
If the radicals (make) the government more responsible they would have
wasted their time. 6. If the market for our products (expand) we will have a
20 per cent increase in turnover next year. 7. We would have to reduce our
workforce if the bank (refuse) to extend our credit. 8. If wages rise,
unemployment (increase).
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8. Paraphrase the sentences:

1. Were I in the city, I would attend the lecture. 2. Had he pointed out all
the drawbacks, we should have found ways to solve the problem. 3. Had
the agent defaulted on the agreement, we would have taken legal action. 4.
Had I known that I wouldn’t have said anything. 5. Should the guests come
earlier, no one will be here to greet them. 6. Were I responsible for this job,
I would do it another way. 7. Should the supplier raise the price we would
have to buy from another one.

9. Translate from Russian into English:

1. Ecniu oHu mpenjioxkatr MHE 3Ty paboTy, s corjamrych. 2. Ecnmu Bbl
3aIylaTUTe 3apaHee, Mbl CHU3UM IIeHYy Ha 2 mpouieHta. 3. Eciu Obl OH He
OT103/1aJ1 BUepa Ha coOpaHue, OH OBl 3HaJ, O YeM Tam ropopuiu. 4. Ecnu
Obl OH MOJYYWJ Ballle MUCbMO, OH Tpuexan Obl panblie. 5. Eciu Obl s
MIOCJIE/IOBAJIa COBETY CBOETO JIPYyTa, 51 Obl MPOAOJIKANIA 3aHATUS HAYKOM. 6.
Ecnu Obl oHa OblTa 3/1€Ch, OHa ObI Jana Bam Jpyroit coBeT. 7.Eciau Obl
CTYJICHTBI IOCEIAIIN 3aHATHUS PETYISIPHO B MPOIIOM CEMECTPE, OHU CHAIIN
OBI DK3aMEH yCIEITHO.

10. Translate the situations into Russian and answer the
questions:
1. If you found a wallet in the street with 1,000 dollars, what would you
do?
2.  Ifyou saw a fight in the street, what would you do?
3. If you came home and found someone burgling your house, what
would you do?
4.  If you were offered two jobs, one of them was interesting but badly
paid, and the other was boring, but well paid, which one would you accept?

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:
MICROECONOMICS

Many economists specialize in a particular branch of the subject.
Labour economics deals with problem of the labour market as viewed by
firms, workers, and society as a whole. Urban economics deals with city
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problems: land use, transport, congestion, and housing. However, we need
not classify branches of economics according to the area of economic life
in which we ask the standard questions “what”, “how”, and “for whom”.
We can also classify branches of economics according to the approach or
methodology that is used. The very broad division of approaches into
microeconomic and macroeconomic cuts across the large number of
subject groupings cited above.

Microeconomic analysis offers a detailed treatment of individual
decisions about particular commodities.

For example, we might study why individual households prefer cars
to bicycles and how producers decide whether to produce cars or bicycles.
We can then aggregate the behaviour of all households and all firms to
discuss total car purchases and total car production. Within a market
economy we can discuss the market for cars. Comparing this with the
market for bicycles, we may be able to explain the relative price of cars
and bicycles and the relative output of these two goods. The sophisticated
branch of microeconomics known as general equilibrium theory extends
this approach to its logical conclusion. It studies simultaneously every
market for every commodity. From this it is hoped that we can understand
the complete pattern of consumption, production, and exchange in the
whole economy at a point in time.

If you think this sounds very complicated you are correct. It is. For
many purposes, the analysis becomes so complicated that we tend to lose
track of the phenomena in which we were interested. The interesting task
for economics, a task that retains an element of art in economic science, is
to devise judicious simplifications which keep the analysis manageable
without distorting reality too much. It is here that microeconomists and
macroeconomists proceed down different avenues. Microeconomists tend
to offer a detailed treatment of one aspect of economic behaviour but
ignore interactions with the rest of the economy in order to preserve the
simplicity of the analysis. A microeconomic analysis of miners' wages
would emphasize the characteristics of miners and the ability of mine
owners to pay. It would largely neglect the chain of indirect effects to
which a rise in miners' wages might give rise. For example, car workers
might use the precedent of the miners' pay increase to secure higher wages
in the car industry, thus being able to afford larger houses which burned
more coal in heating systems. When microeconomic analysis ignores such
indirectly induced effects it is said to be partial analysis.
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In some instances, indirect effects may not be too important and it
will make sense for economists to devote their efforts to very detailed
analyses of particular industries or activities. In other circumstances, the
indirect effects are too important to be swept under the carpet and an
alternative simplification must be found.

EXERCISES

1. Look through the text to find the English equivalents of the
following terms and give the sentences with them:

COXPaHHUTh MIPOCTOTY aHAIIN3A ceMeitHas eTMHUIA
MOJIHASI MOJIETb TOTPEOIEHUS WHUBUTyaIbHOE PELICHUE
YIYCTUTH CYTh SIBJICHUS OTpaciu 3KOHOMUKHU
0e3 pa3pyllIeHHs 1eUCTBUTEIBHOCTH AKOHOMMKA ropojia
oIPOOHOE PACCMOTPEHHUE BOIPOCa BCellesias MOJIENb NOTPEOICHUS
aTbTEPHATUBHOE YIIPOIICHUE PAZl KOCBEHHBIX 3(hPEKTOB

2. Match two parts to compose a sentence. Translate the
sentences:

1. For many purposes, the analysis  a) comparing the market of cars
becomes so complicated with the market for bicycles.

2. A microeconomic analysis of b) it 1s said to be partial analysis.
miners' wages could get known

3. Microeconomists offer a precise  ¢) that we can lose kernel of the
treatment of one aspect of economic issue in which we were interested.
behaviour

4. We are able to explain output of  d) the specific features of miners

these two goods themselves and the ability of mine
owners to pay wages.
5. When microeconomic analysis e) but ignore interactions with the

doesn’t touch such indirect effects  other branches of the economy in
order to keep the simplicity of the
analysis.

3. Answer the following questions:
. What are the ways of classifying branches of economics?
2. What does microeconomic analysis deal with?
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3. What is the approach to understand the pattern of consumption,
production and exchange?

4. What is an interesting task for economics?

5. What do microeconomists tend to offer and to ignore?

6. Are indirect effects important for microeconomists?

TEST

1.  He suggested that a new method ....

a. develops \ c. developed

b. should be developed \ d. will develop
2. IwishlI... able to prevent them from doing this.

a. was | c. has been

b. were ' d. am

3. It 1s desirable that corporation activities ...by antitrust laws
preventing their growth in a single field.
a. be restricted \ c. restricted

b. have restricted | d. are restricted

4.  If I were better qualified, I ...for this job.

a. should have applied \ c. apply
b. should apply ! d. shall apply
5. IfIwere in the city, I ...the conference.
a. will attend | c. attend
b. would attend \ d. would have attended

6.  If the top manager had pointed out all the drawbacks, we ...ways to
solve the problem.

a. should have found | c. will find

b. would find | d. find
7.  Had he known the rule, he ...so many mistakes.

a. would make | c. will make

b. would have not made | d. should have made
8.  Ifinterest rates ..., bank loans become more expensive.
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a. rise | c. will rise

b. rises | d. have risen

9.  Unless you click on that icon, it ....
a. will not print out \ c. doesn’t print out

b. will print out \ d. prints out

10. If the quality of the product hadn’t been so bad, we ... .
a. hadn’t complained c. wouldn’t have complained

b. wouldn’t complain | d. didn’t complain
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UNIT III
COMPETITION
Read and remember the following words and word combinations:

perfect competition — coBepilieHHass KOHKYPEHITUS

plausible — npaBon0K00HBIN, TOCTOBEPHBIH

trivial — MeJIKui, He3HAYNTENbLHBIN

sensible — 1ienecooOpa3HbIi, MPAKTUYHBIN

sole — e TMHCTBEHHBIN, HCKIIOYNTEIbHBINA

discretion — MPOHUIIATENBHOCTD, MPO30PIUBOCTH, OCTOPOKHOCTD,
OCMOTPHUTEIBHOCTH, OJlaropasymue

output — NPOAYKIIHS, BBIMYCK, BEIpaOOTKA

OPEC (Organization of Petroleum Exporting Countries) —
Opranusanus cTpaH — 3KCIOpTEpoB HePTH

10. cohesive — cBsI3aHHBIN, CIIIOUEHHBIN, 00Pa3yIOIIUN €IMHOE 11eTI0e
11. relevance — 3HaUMMOCTh, CyIIIECTBEHHOCTh, BaXKHOCTh

12.  price-taking firm — ¢pupma-1ieHOMOTyYaTETH

13. prohibitive — upe3mepHO, HETOMEPHO BHICOKHUI

14. revenue — 10X01, BBIpyYKa

15. enormous — rpoMaJHbIN, THTAHTCKUM, OOIITUPHBIN, OTPOMHBIN

16. profound — nosHbIA, COBEpPILIEHHBIN

17. rule out —uckiovarsb

18. thereby — Takum o6pazom

19. move up — yBennueHue

WX R WD =

Read and translate the text:
TEXT A PERFECT COMPETITION

A perfectly competitive industry, in which everyone believes that
their own actions have no effect on market price, must have many buyers
and many sellers. Agricultural markets are a good example. In London the
New Covent Garden fruit market confronts many buyers with many sellers.
Neither buyers nor sellers believe their own actions affect the market price.
Firms in a perfectly competitive industry face a flat or horizontal demand
curve. The horizontal demand curve for a product is the crucial feature of a
perfectly competitive firm. For this to be a plausible description of the
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demand curve facing the firm, we really need to have in mind an industry
with four characteristics. First, there must be a large number of firms in the
industry so that each is trivial relative to the industry as a whole. Second,
the firms must be making a reasonably standard product, such as wheat or
potatoes. Even if the car industry had a large number of firms it would not
be sensible to view it as a competitive industry. A Ford Sierra is not a
perfect substitute for a Vauxhall Cavalier. The more imperfect they are as
substitutes, the more it will make sense to view Ford as the sole supplier of
Sierras and Vauxhall as the sole supplier of Cavaliers. Third, in a perfectly
competitive industry all firms must be making essentially the same
product, for which they must all charge the same price. Even if all firms in
an industry made homogeneous or identical goods each firm might have
some discretion over the price it charged if buyers have imperfect
information about the quality or characteristics of the products of different
firms in the industry. If you don't know much about cars you may think
that a 1970 Ford Cortina being sold for 71000 must be in a better condition
than a 1970 Ford Cortina being sold for ?500. Hence, if no firm in a
competitive industry can affect the price for which it sells its output, it is
not sufficient that all firms are selling a homogeneous product. We must
also assume that buyers have almost perfect information about the
characteristics of the products being sold so that they know the products of
different firms in a competitive industry are really identical.

Why don't all the firms in the industry do what OPEC did in 1973-
747 1f existing firms collectively restrict supply, they can increase the price
of their output by moving the industry up its market demand curve. If the
analysis of price-taking perfectly competitive firms is to have any
relevance we must explain why such collective action is impossible.

One answer is that, with so many firms in the industry, the costs of
organizing themselves into a cohesive group might be prohibitive. Think of
all the committee meetings that would be needed. Managers might spend
more time negotiating with other firms than organizing production.
Nevertheless, if the market demand curve is very inelastic, the potential
increase in revenue from such co-operation could be enormous, as OPEC
discovered. We need a more profound answer to rule out co-operation.
Thus the fourth crucial characteristic of a perfectly competitive industry is
free entry and exit. Even if existing firms could organize themselves to
restrict total supply and drive up the market price, the consequent increase
in revenues and profits would simply attract new firms into the industry,
thereby increasing total supply again and driving the price back down.
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Conversely, when firms in a competitive industry are losing money, some
firms will close down and, by reducing the number of firms remaining in
the industry, reduce the total supply and drive the price up, thereby
allowing the remaining firms to survive.

LANGUAGE PRACTICE

1. Answer the following questions to the text:
1.  How can a perfectly competitive industry be described?
2.  How does a demand curve look like in a perfectly competitive
industry?

3. How many industry characteristics must an economist have in mind?
4.  What kind of firms must be in a competitive industry?
5. What kind of product must the firms produce to be viewed as

competitive ones in an industry?

6.  What is the third important characteristic of a perfectly competitive
industry?

7.  Why is it impossible to restrict supply collectively?

8. What is the fourth crucial characteristic of perfect competition?

2. Read the following statements and find out what is not true
about perfect competition:
a)  Agricultural markets are a good example of a perfectly competitive
industry.
b)  The horizontal demand curve for a product is the essential feature of
a perfectly competitive firm.
c) In a perfectly competitive industry all firms make homogeneous
goods, but charge different prices for them.
d)  With so many firms in the industry, they can organize themselves
into a cohesive group successfully.
e) Buyers usually have imperfect information about the quality or
characteristics of the products.

3. Read the following words and word combinations and give
definitions:
a)  sole supplier;
b)  substitute;
c)  supply;
d) demand;
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€) compete;

f)  homogeneous goods;

g)  perfectly competitive industry;
h)  demand curve.

4. Read these sentences and translate them into Russian:
a)  Both buyers and sellers believe their own actions affect the market
price.
b)  Firms in a perfectly competitive industry face a flat demand curve,
that being the crucial feature.
c)  Even if the car industry had a large number of firms it would not be
sensible to view it as a competitive industry.
d) Buyers know that products of different firms in a competitive
industry really are identical.
e) The horizontal demand curve for a product is the crucial feature of a
perfectly competitive firm.

5. Read the following words and word combinations and find
Russian equivalents for them:
a)  perfectly competitive industry;
b)  to have no effect on;
c) affect the market price;
d) flat or horizontal demand curve;
e) tobe not a perfect substitute;
f)  charge the same price;
g) 1dentical goods.

6. Questions for the final discussion:
1. What are the advantages and the drawbacks of a perfectly
competitive industry?
2. Why don’t existing firms collude to drive up the price for their
production?
3. What should a producer do to run his firm successfully in a perfectly
competitive industry?

TEXT B-1 COMPETITION IN THE WORLD MARKET

1. Read and remember the following words:
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follow suit — ciegoBaTh nmpumepy

drought — 3acyxa

extreme — camMmbIil OTJAJICHHBIN, KpAUHUN

levy — B3umath (Hayior), obsaraTh (HAJIOTOM), BBOJAWTH HAJIOTOBBIC
CTaBKHU

ensure — rapaHTUpPOBaTh, 00eCIeUnBaTh, py4aThCs

prohibitive — 3anpemnarnui, TpensaTCTBYOIINUMA

7.  negligible — He3HaYUTENbHBINA, HEBaXKHBIM, HE NPUHUMAEMbIA B
pacyer, UTHOPUPYEMBbII

L=

S

Read the text about competition in the world market and be
ready to answer the questions:

Changes in conditions in domestic markets are often the result of
events in other countries. The fall in world oil prices in 1986 quickly led
British producers of North Sea oil to follow suit. Wool prices in the
European Community change when there 1s a drought in Australia, one of
the world's largest wool suppliers. We now discuss how competitive
markets in different countries are linked together and show why shifts in
foreign supply or demand curves affect domestic markets.

When a commodity is internationally traded, its price in one country
cannot be independent of its price in another country. In the extreme case,
the «Law of One Price» will hold.

If there were no obstacles to trade and no transport costs, the Law of
One Price implies that the price of a given commodity will be the same all
over the world.

Without trade barriers and transport costs, suppliers would always
wish to sell in the market with the highest price but consumers would
always wish to purchase in the market with the lowest price. The
commodity could be simultaneously traded in two different countries only
if its price were the same in both markets. In practice, transport costs and
trade restrictions such as tariffs (taxes levied only on imports) allow
international differences in the price of a commodity. Nevertheless, unless
these costs and restrictions are prohibitive, international competition will
ensure that prices of the same good in different countries generally move
together.

1. Do shifts in foreign supply and demand curves affect domestic
markets?
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2. When is the price of a commodity in one country dependent of its
price in another country?

3.  What does the Law of One Price mean?

4. Are there any international differences in the price of a
commodity?

2. Make up sentences using the following words.
1. together, competitive, linked, different, to be, countries, markets, in.
2. or, affect, in, foreign, demand, shifts, curves, markets, supply, domestic.
3. when, traded, to be, a, in, of, a, commodity, countries, number, one,
country, depends, on, of, its, country, in, price, another, the, price, in.
4. trade, without, barriers, sell, suppliers, would, in, the, with, the, market,
price, highest.
5. restrictions, in, transport, practice, costs, and, trade, international,
differences, price, commodity, allow, in, the, of, a.

3. Prepare a report on the topic “Competition in the World
Market”.

You may use connectors like:
- in fact ...;

- though ...;

- on condition that ...;

- asaresult...;

- in short ....

TEXT B-2 OLIGOPOLY

Read the text about oligopoly, answer the questions below and
make a plan to the text:

Under perfect competition or monopolistic competition, there are so
many firms in the industry that no single firm needs to worry about the
effect of its own actions on rival firms. However, the very essence of an
oligopolistic industry is the need for each firm to consider how its own
actions will affect the decisions of its relatively few competitors.

What makes oligopoly so fascinating is that the optimal supply
decision of a particular firm depends on its guess about how its rivals will
react. Exciting recent developments in economics shed important insight
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into what constitutes a smart guess. First, however, we introduce the basic
tension between competition and collusion which lies beneath all
oligopolistic situations.

Collusion is an explicit or implicit agreement between existing firms
to avoid competition with one another. Initially, for simplicity, we neglect
the possibility of entry and focus only on the behaviour of existing firms.
The existing firms will maximize their joint profits if they behave as if they
were a multi-plant monopolist. A monopolist or sole decision-maker would
organize the output from the industry to maximize total profits. Hence, if
the few producers in an industry collude to behave as if they were a
monopolist, their total profit will be maximized.

Oligopolists are torn between the desire to collude, thus maximizing
joint profits, and the desire to compete, in the hope of increasing market
share and profits at the expense of rivals. Yet if all firms compete, joint
profits will be low and no firm is likely to do very well.

Collusion or co-operation between firms is easiest when formal
agreements are legally permitted. Such arrangements are called cartels. In
the late nineteenth century cartels were common, and they agreed market
shares and prices in many industries. Such practices are now outlawed in
Europe, the United States, and many other countries. Although there are
usually large penalties for being caught, informal agreements and secret
deals in smoke-filled rooms are not unknown even today.

The most famous cartel 1s OPEC, the Organization of Petroleum
Exporting Countries. Active since 1973, its members (of which the UK is
not one) meet regularly to set price and output levels. Initially, OPEC was
very successful in organizing quantity reductions to force up the price of
oil. Real OPEC revenues rose 340 per cent between 1974 and 1980. Yet
almost from the start, many economists have predicted that OPEC, like
most cartels, would quickly collapse. Usually, the incentive to cheat is too
strong to resist, and once somebody breaks ranks others tend to follow.

In practice, one reason OPEC was successful for so long was the
willingness of Saudi Arabia, the largest oil producer, to restrict its output
further when smaller members insisted on expansion. By 1986, however,
Saudi Arabia was no longer prepared to play by these rules, and refused to
prop up the price any longer. The oil price collapsed from just under $ 30
to $ 9 a barrel before recovering a little.

1. What is the essence of an oligopolistic industry?
2. What does the optimal supply decision depend on?
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3. What is collusion described as?

4. What are oligopolists torn between?
5. What is a cartel?

6. Why are cartels outlawed now?

Fill in the table:
The facts about oligopoly I have | The facts I have learned from the text
already known

GRAMMAR IN USE
Heauunbie ¢popmbl riarosa (Non-finite Forms of the Verb).

Henuuynsie ¢opmbl T1iaronioB — uHGUHUTUB (the Infinitive),
npuuactue (the Participle) n repyunuii (the Gerund) coBMemaroT B cee
NIPU3HAKU JIBYX YacTeil peun: MHOUHUTUB — TJIarojia U CyIeCTBUTEIHHOTO,
IPUYACTHE — MPUJIAraTeIbHOTO U TJIaroJia, TepyHINH — CYIIECTBUTEILHOTO
u rnarona. OHU BRIpaXKaroT AeHCTBUE 0€3 yKa3aHUs JIMIA, YHCIia, BPEMECHH
¥ HAKJIOHEHHS, HE MOTYT OBITh CKa3yeMbIM B NPEIJIOKCHUH, a JIHIIb
3HAYUMOM ero yactbio. Henmmunbie popmbl riarona umeroT 3anor (Active,
Passive) m BpemMeHHYIO OTHECEHHOCTh (HeompeneneHHple — Indefinite,
mmrtenbHbie — Continuous, coBepmieHHble — Perfect); mocnemxnue
YKa3bIBAIOT JIMIIIb HA TO, KaK MPOTEKaJ0 JEHCTBHUE MO OTHOIICHHH K
JEHCTBHIO, BRIPQXKCHHOMY CKa3yeMbIM. B 4acTHOCTH, HEOIpeACICHHBIC U
JUTATEIIbHBIC TTOKA3bIBAIOT, YTO JCHCTBHE IPOTEKAJIO OJHOBPEMEHHO C
JEHCTBUEM CKa3yeMOro; COBEpIICHHBIC ITOKA3bIBAIOT, YTO JEHCTBHE
MIPEANIeCTBOBANIO JEHCTBUIO CKa3yeMOoro.

IIpuuacrtue (The Participle)

[Ipuyactne — 310 HenmmuyHas (opma TIarona, Koropas oOjagacT
CBOWCTBaMH  TJIarojia, mpujaraTeJdpbHOro W  Hapeuusa. [lomoOHO
pwIaraTeIbHOMYy, TPUYaCTHE MOXET OBITh  OmpeleieHuEeM K
CYIIIECTBUTEIHPHOMY MJIM UMEHHOHN 9acThIO COCTABHOTO CKa3yeMOTO:

a broken agreement HapyuieHHoe COoTJIallleHue
the agreement was broken COTJIAIIICHHUE OBIIIO HAPYULEHO

[Tomo6HO Hapeuuto, MPUYACTHE MOXKET OBITh OOCTOSTEIHLCTBOM,
XapaKTEPU3YIOIINUM JICHCTBHUE, BRIPAKEHHOE CKa3yEeMbIM.
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Reading the text he wrote out new Yumas TEeKCT, OH BBITTUCHIBAII
words. HOBBIE
CJIOBA.

DopMbI NPUYACTUA

Active Passive
Participle I (Indefinite) asking being asked
Participle I (Perfect) having asked having been asked
Participle 11 asked

[IpugacTtusi, oOpa3oBaHHBIE OT HEMEPEXOJHBIX TJIarojoB, MMEIOT OJHWH
3aJI0T (ICCTBUTEIIBHBIN).

@OyHKIUM NPUYACTUSA B NIPeJI0OKEHUN

1. Onpenenenue Mother is looking at Martb cMOTPUT Ha
her sleeping child. CIIAIIETo peOeHKa.

2. O6CTOATETHCTBO

a) BpeMEeHU When asked he Korga ero cnpocunu,
refused to answer the  oH oTkazajicst oTBeyaTh
question. Ha BOIIPOC.

0) MpUYUHBI Having been Tak kak kHUTa ObLIa
translated into many  mepeBefeHa HA MHOTHE
languages the book A3bIKH, OHA CTaJIa
became world famous. u3BecTHOM BO BCceM

MUDE.

B) oOpasa nevictBust win  He was reading the OH uuTan razery, cuas

COITYTCTBYIOLIIETO newspaper sitting in B

00CTOSITENIHCTBA the armchair. Kpeciie.

3. HacTb ckazyemoro The plan is being [1nan obcyxmaeTcs.
discussed. All doors Bce aBepu ObutH
were locked. 3aKPBITHI.

IIpuyacTHbIe KOHCTPYKUMHU

Koncrpykuus | [Tpumep | ITepeBon
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OOBEKTHBIM
MPUYACTHBIA 000pPOT
(the Objective
Participial
Construction)
cymi. (o0mr. m.)/
MecT. (0OBEKT. 11.)

We heard him playing
the piano.

I considered the work
done.

[ had my books bound.

Mgl cablliain, Kak OH
WrpaJl HA MUAHUHO.

Sl cuuran, yro padota
BBINIOJIHEHA.

S neperuten ceou
KHUTH. (Kmo-mo

+ nepeniesl ux 0Jisl MeHs).
Participle I /11
CyOBbeKTHBIN He was seen crossing ~ Bupaenu, Kak OH

MPUYACTHBIA 000pPOT
(the Subjective
Participial
Construction)
cymi. (oomr. m.)/
MecT. (MM. 11.)

the street.

She was heard talking
about it.

He was seen looking
for something.

MIEPEXOINI YIIUITY.
Cnpimanm, Kak oHa 00
ATOM TOBOPHIIA.
Bunenu, kak OH 4TO-TO
WICKAJL.

+
Participle I /II
HezaBucumerii It being warm, we Tak kak ObLIO TEILIO,
npudacTHBIA 060poT  went for a walk. MBI TTOIUIH TYJISTh.
(the Absolute Radio was invented in  Paguo OvL10
Participial 1895, the inventor nuzoopereHo B 1895 r,
Construction) being the Russian nmpudeM n300peTaTelib

cymi. (oomr. m.)/
MecT. (MM. 11.)
+

Participle I/II

scientist.

EXERCISES

OBLIT PYyCCKHUM.

1. Translate into Russian, define the form and the function of the

Participle:

1. The textile goods produced by the factory are in great demand. 2. He left
the office at three o'clock, saying he would be back at five. 3. He stood
reading the address on the envelope. 5. He asked her to go on with her
story, promising not to interrupt her again. 6. Not receiving any letters
from her broker, she sent him a telegram. 7. The books lying on the table

belong to our marketer.
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2. Choose the proper form of the Participle and translate the
sentences:
1. There’s a (growing / grown) awareness of the need to improve
productivity. 2. (Enclosing / Enclosed) you will find our current catalogues
and price lists. 3. Activity ratios are meaningful when (comparing /
compared) with those of other companies. 4. The sales manager
(confirming / confirmed) the company’s orders is out at the moment.
5. Although (allowing / allowed), it was preferred that staffers should not
smoke inside. 6. Being absorbed in her work she didn’t pay any attention
to the (ringing / rung) telephone. 7. 1 am (bothering / bothered) by our
current financial status. 8. An accountant is a person (concerning /
concerned) with the maintenance and audit of business accounts and the
preparation of consultant reports in tax and finance.

3. Translate into Russian, change the Participial Construction
into subordinate clauses:
1. There are many useful books describing economic processes in post-
industrialized societies. 2. Being a good manager, he spent a lot of money
on books on Management. 3. All the goods discharged from the ship will
be sent to the warehouse. 4. The figures mentioned in his article were
published in «kKomersant». 5. Receiving the telegram he rang the manager

up.

4. Change subordinate clauses into the Participial Constructions
and translate them into Russian:
1. Yesterday the secretary sent off all the letters which had been signed by
the director. 2. While I was going to the Institute, I met one of my old
friends. 3. As he was very absent-minded, he made some mistakes in the
dictation. 4. The letter of guarantee which has been submitted by the firm
was signed by the director of a London bank.

5. Translate into English:
1. OH gan MHE CHCOK Ta3eT U )KYPHAJIOB, MOTy4YaeMbIX HAIIEd KOMIIaHUEH
eXeIHEeBHO. 2. Sl Buepa Mpoyen CTaThio, OIHKCHIBAIOLIYIO padoTy
AHTJIMIUCKUX [axTepoB. 3. UWTas 3TOT pacckas, s BCTPETHI HECKOIBKO
WHTEPECHBIX BBIpAXKECHUN. 4. Byayun XOpOmIMM MEHEIKEPOM, OH CMOT
BBINIOJIHUTH 3Ty pabdOTy B KOPOTKHIl Cpok. 5. B ero crarbe €cTh MHOIO
U dp, WUTIOCTPUPYIOLIUX PA3BUTHE HAILIEH TPOMBIIIJIEHHOCTH.
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6. Translate into Russian paying attention to the Absolute
Participial Construction:
1. The negotiations between the American and British representatives were
conducted behind closed doors, measures having been taken that no
correspondent should receive any information. 2. A business lunch being
over, we went into the garden. 3. The letter having been delayed, the news
reached us too late. 4. The key having been lost, they could not enter the
cottage. 5. The weather being fine, all the windows in the lab were opened.
6. The play being very popular, it was difficult to get tickets. 7. There
being no further business, the meeting adjourned. 8. We are not giving you
any particulars, the enclosed letter containing the necessary information.

7. Translate into English using the Objective Participial
Construction:
1. S Bupen, kak OHM NMOAXOAWIM K yHHBepmary. 2. OHa Bujena, Kak s
OTKpBIBaJl OKHO B cBoeM oduce. 3. OHa BHUjena, KaKk s OTKPHUI OKHO B
kabuHeTe ymnpasiswoniero. 4. S Buaen, Kak OH BbIXOAWI U3 OaHka. 5. S
BHJIEJI, KaK OHA IOracujia CBET B JJa0OpaTOPHHU U BBIIILIA.

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:
THE LIMITING CASES OF MARKET STRUCTURE

An industry is the set of all firms making the same product. The
output of an industry is the sum of the outputs of its individual firms. But
why indeed do some industries have many firms but others only one? This
is a question about market structure.

The structure of a market is a description of the behaviour of buyers
and sellers in that market. Speaking about market structure, first it 1s useful
to establish two benchmark cases, the opposite extremes between which all
other types of market structure must lie. These limiting cases are perfect
competition on the one hand and monopoly or monopsony on the other
hand. A perfectly competitive market is one in which both buyers and
sellers believe that their own buying or selling decisions have no effect on
the market price. A monopolist is the only seller or potential seller of the
good in that industry. A monopsonist is the only buyer or potential buyer
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of the good in that industry. The economist's definition of perfect
competition 1s different from the meaning of competition in everyday
usage. The economist means that each individual, recognizing that his own
quantities supplied or demanded are trivial relative to the market as a
whole, acts on the assumption that his actions will have no effect on the
market price. Each consumer constructs a budget line on the assumption
that market prices are given and unaffected by the quantities he chooses.
Changes in market conditions, applying to all firms and consumers, change
the equilibrium price and hence individual quantities demanded, but each
individual neglects any feedback from his own actions to market price.
This concept of competition, which we now extend to firms, differs from
everyday usage. Ford and Renault are fighting each other vigorously for
the European car market, but an economist would not call them perfectly
competitive.

Each commands such a large share of the total market that changes in
their quantities supplied affect the market price. Each must take account of
this in deciding how much to supply. They cannot regard themselves as
price takers. Only under perfect competition can individuals make
decisions that treat the price as independent of their own actions.

EXERCISES

1. Look through the text to find the English equivalents of the
following terms and give the sentences with them:

PAaBHOBECHAs IIEHA MIPOTHUBOMOJIOXKHBIE CITyYan
pBIHOYHAsA II€HA IIPEIEIIbHBIN ClTy4Yan
U3MEHEHHE PHIHOYHBIX YCIOBHI OECKOHEYHO DJTACTUYHBIM
OoJbIIast A0JIs1 O0IIEro phIHKA NIEPBOHAYAIIbHBIN BKJIA]l B TOBApPbI
paccMaTpuBaTh LEHY T0OPOBOJIbHBIN OOMEH

2. Read each statement below and decide which of the following
is not true:
1. A monopsonist is the only seller or potential seller of the good in the
industry.
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2. The decision-maker realizes that general public act on the assumption
that their actions will have no effect on the market price.

3. Any buyer plans his or her budget on the assumption that market prices
are given and cannot be affected by the quantities he or she chooses.

4. Changes in market conditions that affect all firms and consumers change
the equilibrium price.

5. Under perfect competition firms cannot make decisions that treat the
price as independent of their own actions.

6. A number of the firms in an industry depends on the structure of a
market.

3. Answer the following questions:
1. What is an industry?
2. What does a number of firms in an industry depend on?
3. What are the two limiting cases of a market structure?
4. Do any actions of individuals have effect on the market price in case of
changes in market conditions?
5. What is the assumption any consumer makes a budget line on?
6. Why can’t we call Renault or Ford perfectly competitive?
7. What must each large company take account of?
8. When do individuals make decisions that can treat the price?

TEST

1. A country ... to limit its population may discourage immigration and
encourage emigration.

a. wished | c. having wished

b. wishing | d. having been wished
2.  The amount of calculations ...depends on the quality of the
computers ....

a. carried out...used | c. have carried out...used

b. carrying out...using | d. carry out...use
3.  ...the necessary results, we stopped our experimental work.

a. obtained | c. obtain

b. obtaining ‘ d. having obtained
4. ... an experienced manager, he found the mistake at once.
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a. having been | c. have been

b. being | d. been

5. ..., the device began working much better.
a. repairing | c. having been repaired
b. repair ‘ d. having repaired

6. Well ..., the device will function properly.

a. done | c. having done

b. doing | d. having been done
7. The information ... is very valuable.

a. obtaining c. having obtained

b. have obtained d. obtained
8. The price level ..., the value of money decreases.

a. rising c. have risen

b. rises d. risen

9.  We continued our experiment, with some laboratory assistants ... us.
a. being helped \ c. helped

b. helping | d. having helped

10. The new equipment ..., the company was able to decrease the cost of
production and obtain higher profits.
a. having used | c. being used

b. uses | d. using
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UNITIV
TYPES OF BUSINESSENTERPRISE

Read and remember the following words and

combinations:

1.  acquire — npuoOpeTath

2.  adjustment — mpucnocoOnIeHue

3.  borrow — 3aHUMAThH

4.  bear — Hectu

5.  capable — ctocoOHBII

6. debt — qonr

7.  entrepreneur — npeaNpUHUMATEIH
8.  enterprise — OpeanpusTue

9.  event — ciyuaid, coObITHE

10. failure — Heynaua

11. flexible — rubxwuii

12.  Joint Stock Company — akiimoHepHast KOMIaHUs
13. liability — OTBETCTBEHHOCTH

14. loss — yOBITOK, MOTEps

15. maintenance — 3KCIUTyaTalus

16. ownership — coOOCTBEHHOCTH

17. partnership — ToBapuIecTBo

18. possess — o0nanatTh

19. profit — noxox

20. repair — peMOHT

21. responsible — OTBETCTBEHHBIN

22. restrict — orpaHMYUBATH

23. retail — po3HMYHBIN

24. seize — 3axBaThIBaTh

25. sole proprietor — eTMHOJIMYHUK COOCTBEHHHK
26. strength — cunbpHas cTopoHa; cuia

Read and translate the text:

TEXT A-1 THE SOLE PROPRIETOR

52

word



The different types of business organization to be found in the UK
and most other capitalist countries may be classified under five headings:
the sole proprietor, the partnership, the joint stock company, the
cooperative society, and the public corporation.

The sole proprietor

This is the simplest and the oldest form of business enterprise and is
often referred to as the one-person business. A single person provides the
capital, takes the decisions, and assumes the risks. He or she is solely
responsible for the success or failure of the business and has, therefore, the
sole rights to such profits as may be made, or, alternatively, bears the sole
responsibility for such losses as may accrue. The one-person business is
still far more numerous than any other type of business organization, but in
terms of total output employment, value of capital employed, or value of
total output, it is relatively unimportant compared with the joint stock
company.

The strength of this type of firm lies in the direct personal interest of
the proprietor in the efficiency of his enterprise. Ownership and control are
vested in one person who enjoys all the fruits of success and hence has a
great incentive to run the firm efficiently. Since the proprietor is the sole
decision-taker and has no need to consult colleagues when changes of
policy are required we should expect this type of organization to be
extremely flexible and capable of quick and easy adjustment to changes in
market conditions.

The great disadvantage of the sole proprietor from an enterprise lies
in the fact that the owner is personally liable for the debts incurred by his
firm and his liability is unlimited. All his personal possessions are at risk
and may be seized to meet creditors demands in the event of the business
becoming insolvent. Another disadvantage of this type of firm is the strict
limitation of its ability to acquire capital for expansion. Finance is
restricted to the amounts which the entrepreneur is able to provide from his
own resources and whatever sums he can borrow on his own security.

We find the one-person business prevalent in farming, bailing, building,
repair and maintenance work, and personal services such as hairdressing.

LANGUAGE PRACTICE

1. Answer the questions to the text:
1.What are the types of business organization to be found in the UK?
2.What is the simplest and oldest form of business enterprise?
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3.What is the strength of the one-person business?

4.What are the disadvantages of this form of business organization?

5.Why is the one-person business less important compared to the joint
stock company?

6. Where 1s the one-person business prevalent?

2. Read the following statements and find out what is not true
about the sole proprietor:
a)  The different types of business organization are classified as follows:
the joint stock company, the sole proprietor, the partnership, the public
corporation and the cooperative society.
b) The cooperative society is the simplest and the oldest form of business
enterprise and is often referred to as the joint stock company.
c) The one-person business is far more numerous and important than
any other type of business organization.
d) Ownership and control are vested in one person who has a great
incentive to run the firm efficiently.
e) The great disadvantage of the sole proprietor is that the owner is
personally liable for the debts incurred by his firm and his liability is
unlimited.
f) Another disadvantage of this type of firm is the direct personal interest
of the proprietor in the efficiency of his enterprise.

3. Read the following words and word combinations and give
definitions:
a)  sole proprietor;
b)  Joint Stock Company;
C)  cooperative society;
d)  public corporation;
e) decision-taker;
f)  market conditions;
g)  personal services.

4. Read these sentences and translate them into Russian:
a) The different types of business organization may be classified under five
headings.
b) The owner is personally liable for the debts incurred by his firm.
c) The one-person business is prevalent in farming, retailing, repair and
maintenance work.
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d)A single person provides the capital, takes the decisions, and assumes the
risks.

e) The oldest form of business enterprise 1s often referred to as the one-
person business.

5. Read the following words and word combinations and find
Russian equivalents for them:
a)  repair and maintenance work;
b)  extremely flexible;
c)  easy adjustment;
d) a great incentive;
e) personally liable;
f)  total output employment.

6. Questions for the final discussion:

1.  What skills must a person possess to run the one-person business

successfully?

2. What should the sole proprietor do to avoid losses?

3.  In what cases is it unreasonable to run the one-person business?
TEXT B-1 JOINT STOCK COMPANY

1. Learn the following English terms and their Russian
equivalents:

1. employ labour — npunumaTe Ha paboTy

2. annually — exxeroaHo

3. debenture — oOnuranys axIUOHEPHOTO OOIIECTBA WJIM KOMIIAHUH,
JI0JITOBOE 00513aTeNIbCTBO, TOJITOBast paciucKa

4. allot — pacnpenessTh, NpEeOCTaBIsATh, BBIACIATh, HAJEIATH,
peaHa3HavYaTh

criminal offence — yronoBHoe npecryruieHue

subscribe to — moanMcaTbCs HA aKIUU

file — mpeacTaBnATh, MOIaBaTh KAaKOW-JI. JOKYMEHT

Registrar of Companies — Bropo perucrpaium akilMOHEPHBIX KOMIIAaHUN
productive assets — MpOU3BOJACTBEHHBIE aKTHUBBI

O 0 AW

Read the text and divide it into some meaningful parts:
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The most important form of business organization in the UK is the
joint stock company. Basically, it consists of an association of people who
contribute towards a joint stock of capital for the purpose of carrying on
business with a view to profit. A company may be defined as a legal
person created to engage in business, capable of owning productive assets,
of entering into contracts, and of employing labour in the same way as an
individual. There are two kinds of Joint Stock Company: the private
company and the public company. In 1986 there were some 860 000 joint
stock companies in the UK, of which about 6000 were public companies.
The public companies are much larger units and account for about two-
thirds of all the capital employed by companies. In general, private
companies are small firms, often consisting of the members of one family.
Both public and private companies must have at least 2 members. A public
company must have a minimum allotted share capital of 50 000 pounds
(sterling) of which at least one-quarter has been paid up. A private
company must include the word «limited» in its name while a public
company must have the words 'public limited company' at the end of its
name although this can be abbreviated to plc. The basic distinction
between a private and a public company is that a public company can offer
its shares and debentures for sale to the general public. In the case of a
private company it would be a criminal offence to ask the public to
subscribe to its shares. All companies must file annually, with the Registrar
of Companies, details of their turnover, profits, assets, liabilities and other
relevant financial information about their structures and activities.

2. Write a short summary of the text.
The following plan would be useful in writing a summary:
a) This text suggests ....
b) The main idea of the Ist (the 2™ ...) paragraph s ...
c) It is useful to know ....
d) It is known that ....
TEXT B-2 THE PARTNERSHIP

Read the text and speak of the advantages and drawbacks of the
business organization in question:
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Partnerships are voluntary combinations of from 2 to 20 persons
formed for the purpose of carrying on business with a view of profit. This
type of organization represents a logical development from the one-person
business since the obvious method by which such a firm may acquire
further capital is to form a partnership. The motive, however, may not be
financial and partnerships are often formed in order to bring new ability
and enterprise into the business.

The partners usually share in the task of running the business, but a
partner need not play an active role. A person who joins a partnership,
supplying capital and sharing in the profits, but taking no part in the
management is known as a dormant or sleeping partner. Partnerships are a
common form of business organization in such professions as law,
accountancy, surveying, and medicine.

The advantages of this type of firm are similar to those of the one-
person business. It is a flexible organization which allows a greater degree
of specialization than the one-person business. Partners usually specialize
in one or more aspects of the business; one may be responsible for buying,
one for selling, one for production, and so on. Since it has greater access to
capital, it can achieve greater size than the sole proprietor.

The great disadvantage, like that of the one-person business, is the
fact that the liability of the partners is unlimited and they are all fully liable
for the acts of the other partners. There are, however, some limited
partnerships which have to be registered with the Registrar of Companies.
In such firms some partners (e.g. dormant partners) may have their liability
limited to some specified sum, but at least one of the partners must have
unlimited liability.

The survival of a partnership depends upon the continued
harmonious relationship between a number of people in situations which
often give much cause for disagreement. Thus, where trading risks are very
great, the partnership is not a very stable type of organization.

TEXT B-3 ORGANIZATIONAL CLIMATE

Read the text and be ready to discuss each point of cultural
values. Can you add anything?
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Although the concept of organizational climate is somewhat
nebulous, it is valuable in understanding several aspects of organizational
behavior. Organizational climate is the overall favourability of member
attitudes and perceptions with reference to specific activities and features
of an organization.

Organizations tend to have their specific culture: a peculiar mix of
values, attitudes, norms, habits, traditions, behaviors and rituals. Some
organizations are well aware of their culture and regard it as a powerful
strategic tool, used to orient all units and individuals toward common
goals, mobilize employee initiative, ensure loyalty, and facilitate
communication. They aim at creating a culture of their own and making
sure that all employees understand it and adhere to it. The specific cultural
values of an organization may concern, for example:

e the organization’s mission and image ( high technologies, innovative
spirit, superior quality);

e seniority and authority (respect for seniority; seniority as a criterion of
authority);

e the treatment of people ( concern for people and their needs, equitable
treatment or favouritism, privileges, respect for individual rights, training
and developing opportunities, how people are motivated);

e the importance of different management positions and functions
(authority of personnel department; importance of different  vice-
presidents’ positions; respective role and authority of research and
development);

e work organization and discipline (voluntary versus imposed discipline;
punctuality; use of time clocks; flexibility in changing roles at work; use of
new forms of work organization);

e decision making process (who decides; who has to be consulted;
individual or collective decision making; need to reach consensus);

e circulation and sharing of information (employees amply or poorly
informed; information readily shared or not);

e communication pattern (preference for oral or written communication;
rigidity or flexibility in using established channels, use of meetings; who is
invited to what meeting; established behaviour in the conduct of meeting);
e ways of handling the conflicts (desire to avoid conflict; preference for
informal or formal ways; involvement of higher management);

e performance evaluation (confidential or public; by whom carried out;
how results are used);

58



e socialization patterns (who socializes with whom during and after work;
facilities such as separate dining rooms or reserved clubs);

e management and leadership style (paternalism; authoritative,
consultative or participative style; flexibility and adaptability);

e identification with the organization (manager and stuff adherence to
company objectives and policies; enjoying working with organization).

1. What is meant by “organizational climate”?

2. Why is it important?

3. What part does an organization’s culture play in the daily lives of its
members?

GRAMMAR IN USE
I'epynauii (The Gerund)

I'epynauit — 3T0 HenmuuHas (opma riaroja, COeAMHsIoNmas B cede
CBOMCTBa CYLIECTBUTEIBHOIO W Ijarojia. B 3TOM OTHOIIEHWH TepyHIul
CXOJIEH C HWH(MUHUTUBOM, HO OTJIMYAETCA OT HEro TEM, 4YTO IepeaaeT
OTTEHOK MIpolecca JIEUCTBUS.

B pycckom s3pike HeT GoOpMBI TUIaroja, COOTBETCTBYIOIIEH
aHruiickomy repyHauto. DopMmbl TepyHIus COBMAAalOT ¢ QpopmamMu
MIPUYACTHSL.

Tabuauua ¢popm repynaus

Active Passive
Indefinite shipping being shipped
Perfect having shipped having been shipped

@yHKIUM FePYHIUS B NPeIJI0KEHUU H CIIOCOOBI
€ro nepeBoja Ha PyCCKMil si3bIK

DyHKIUHU Ynorpebienue [Tpumepsl IlepeBon

[Tomnexaree Swimming 1s my IlnaBaHue —
favorite sport. MOM JTFOOMMBII

BH/JI CIIOPTA.

Yactp nociie rmaroioB  Stop talking. [IpekpaTture
COCTaBHOI'O to stop, to finish, pPa3roBapuBaTh.
cKazyemoro to continue, to go He kept on OH npojoipKal
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on, to keep, asking her about cnpammBaTh ee

to begin, to start.  the details. 0
TOJIPOOHOCTSIX.
JlononHeHue
a) psIMoe TOCJIE TJIAroyioB to  Your Barme
JIOMOJIHEHHUE like, to need, to suggestion PEIOKEHNUE
prefer, to needs HY>KHO
remember, to discussing. 00CYIUTb.
enjoy, to mind, to 1 prefer reading S npennouurtaro
excuse, to be classical YUTaTh
worth novels. KJIACCUYECKHE
POMaHBI.
I don't mind 51 He BO3paxaro
going there. (HE IPOTHB)
MIOWTH TYyJA.
0) NpeUIOKHOE TOCIIE II1arojoB C
JIOTIOJIHEHUE  Mpeajioramu to He is fond of  On mobut
depend on, to rely collecting cobuparthb
on, to object to, to  stamps. MapKH.
blame for, to I am afraid of 51 Gorock, Kak
thank for, to be making a OBI HE CIeNIaTh
responsible for, to mistake. OIIIHOKY.
be fond of, to be
tired of, to be I am tired of A ycran
afraid of, to look  arguing with CIIOPUTH C
forward to, to feel you. BaMU.
like v T.71.

Ompenenenne  mociue You have no VY Bac Her
a0CTpaKTHBIX reason for OCHOBaHUI
CYILIECTBUTENBHBIX saying that. TOBOPUTB 3TO.
C TIpeIJIOTaMH:
way (of), hope I understand A nmornmaro
(of), the importance  BaXXHOCTh
opportunity(of), of learning W3YUYCHUS
experience (in), English. AHTJTUHCKOTO
reason (for), SI3bIKA.

interest (in),
importance (of) n
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T.1.

OOCTOATENBCTBO  yHOTPEOIISIETCS

BCErJia ¢
MPEAJIOrOM
a) C IIPEIIOTaMH: After returning Ilocne
00CTOSITENLCTBO after, before, on home he BO3BPALLECHHUS
BpEMEHU resumed his JIOMOU OH
work. BO300HOBUII
paodory.
0) c npemyoramu: by, She left the Omna yuuia u3
00CTOATEIILCTBO  Without, instead room without  KomHaTBbI, HE
oOpaza of, besides looking at me.  B3TJIAHYB Ha
NEUCTBUSA MEHS.

[Tocne rinaronos to like, to begin, to start, to continue, to stop, to intend u
CJIOBOCOYETAHUM it is no good, it is no use, it is useless ynorpeonsercs
KaK TepyHIUH, TaK 1 MHPUHUTHUB.

Kak BusHO U3 TaOIHIIBI, TEPYHIUN MOXKET MEPEBOAUTHCS HA PYCCKUM
S3BIK  CYIIECTBUTEIBHBIM, TJArojioM B  JUYHOM  dopme  WiIH
HeompeneeHHON (opMoii raarosia, IeenpuiacTueM.

CJ10:xkHBIH TepPYHANAJIBbHBIN 000pOT

CnoxHbld  TepyHAMANbHBIA ~ 00OPOT —  3TO  COYETaHUE
IPUTSKATEIHHOTO MECTOMMEHUS U CYLECTBUTEIILHOTO B
OPUTSHKATEIIBHOM WX 00ILEM Ma/IeKe C TEPYHIUEM.

[IpuTsk. MecTOUM. He insisted on my

being
+ repyHaui examined by the

Cy11. B NpUTSHK./0OTIL. doctor.

naj.
I know of Nick's father
delivering lectures in
chemistry
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EXERCISES

1. Choose the right Russian equivalent:
1. Oleg's refusing our help is regrettable.
a) To, uto Omer otkazancsa b) To, yto OJner oTKas3bIBaeTCs C) TO, YTO
Onery oTkazaJu.
2. She is upset of her son being accused of bad conduct at school.

a) ee CblHA OOBHMHMIIH b) ee ChIH OOBHHSET C) ee chlHA
OOBHHSIOT

3.He apologized to the teacher for not having done his lessons.

a) 3a TO, YTO HE cJieJan b) 3a TO, 4TO HE JEenaeT C) 3a TO, YTO HE

OyJzeT nenarth.

4.1 don't like being asked such questions.

a) 3a/1aBaTh TAKHUE BOMIPOCHI b) Korga MHE 3a7a0T C) KOTJja MHE
3aJ1aBaJIH.

5. The teacher was surprised at your having made so many mistakes.

a) 4TO BBI CJIEJIAJIH b) O6bLIO clenano C) Jenaere.

2. Transfer the verb in brackets into the form of Gerund using
the corresponding preposition:
1. I have no intention ... (to stay) here any longer. 2. She insisted ... (to
help) me. 3. Are you fond ... (to play) chess? 4. He has had very much
experience ... (to teach). 5. There is no possibility ... (to find) his address.
6. There is little chance ... (to see) her today. 7. We have the pleasure ... (to
send) you our catalogues. 8. I think ... (to go) to the south in the summer. 9.
He is afraid ... (to catch) cold. 10. I am proud ... (to have) such a son. 11.
The rain prevented me ... (to come). 12. He is engaged ... (to write) a book.
13. They had very much difficulty ... (to find) the house.

3. Change the subordinate clauses with the Gerund using the
corresponding preposition where necessary:
1. When I received the telegram, 1 started home at once. 2. You may avoid
many mistakes if you observe these rules. 3. When he entered the room, he
greeted everybody. 4. After they had sat there a few minutes, they
continued their journey. 5. While he was copying the text, he made a few
mistakes. 6. I am thankful that I have been stopped in time. 7. 1 remember
that I have read this book. 8. After she had tried all the keys on the ring,
she finally found the right one. 9. He is proud that he has never been
beaten at chess by his fellow students. 10. I don't remember that I have

62



ever come across his name before. 11. His arm was not in a sling and
showed no sign that it had been injured. 12. You can improve your
knowledge of English if you read more.

4. Make up sentences according to the models:
1. I don't mind seeing the film again.
(to take part in the conference; to stay in the country for another week)
2. I can't help smiling.
(to tell you about it; to laugh when I see him)
3. The book is worth reading.
(the question — to discuss; the proposal — to consider)
4. It's no use doing it.
(to talk to them; to help him)
5. Did you enjoy spending you holiday there?
(to watch the match; to visit the museum)
6. We insisted on his going there.
(to make the report; to organize a conference)

5. Translate into Russian, paying attention to the function and
the form of the Gerund:
1. Testing began last Friday. 2. Reading science fiction excited my
imagination. 3. His having received a bad mark did not surprise anybody.
4. She doesn't like being praised. 5. I don't mind being criticized when it is
fair. 6. I prefer doing this work myself. 7. She is busy translating an article.
8. I don't object to being disturbed.9. You are responsible for arranging the
conference. 10. Don't be afraid of being punished. 11. I don't feel like
going to the cinema so late. 12. The boy succeeded in winning the first
prize. 13. What's the reason for his being so angry? 14. He has a bad habit
of interrupting people. 15. On seeing the approaching bus we ran to the bus
stop. 16. You can't become a good specialist without being trained for a
long time.

6. Find the Complex Gerund Construction in the following
sentences:
1. He was proud of his son’s having finished his work so well. 2. Nick’s
being absent was very strange. 3. He is sure of his friend’s having taken
part in sport competitions. 4. They heard of my going to Minsk. 5. His
being sent to Moscow was quite unexpected. 6. Due to the ice-breaker
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being equipped with modern navigation devices, it will be able to sail in
any weather.

7. Translate into English using the Gerund:
1. 5 He cMory nepeBecTr 3TOT JOKYMEHT, HE IOCMOTPEB HECKOJIBKUX CJIOB
B cioBape. 2. S 3anmumry Homep Bamiero TtenedoHa, Tak Kak s O0KOChH
3a0bITh ero. 3. [Ipuas qoMoi, s cpa3y Hauyan padborats. 4. S modiaronapui
€ro 3a TO, YTO OH KyIWJ MHE TaKhe UHTEPECHbIE KHUTHU MO MAPKETHHTY.
5. OH NOHMMAET BAKHOCTh M3Y4YEHHUS MHOCTPAHHBIX SA3BIKOB. 6. Ilomyuus
TeJNerpammy, 1 HEMEUIEHHO TIO3BOHWI JUPEKTOPY.

8. Transfer subordinate clauses into the complex Gerund
Constructions using the corresponding preposition:
1. Do you mind if I close the window? 2. The doctor insisted that I should
stay at home. 3. Will you object if I smoke here? 4. There is a probability
that he will be appointed chief engineer at our plant. 5. There is no chance
that they will call on us tonight. 6. There is no possibility that we shall see
him this week. 7. There is no hope that you will receive a letter from him
soon. 8. We were informed that the ship had arrived at the port. 9. You will
excuse me if I ask you again. 10. We insisted that he should come with us.
11. Would you mind if he came to your lecture?

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:
JOINT VENTURE

Introduction. As Canadian companies develop, many businessmen
look to the export market as an area for expended sales. In so doing, they
often face tariff and non-tariff barriers erected by various countries to
restrict imports and encourage local industry. It is possible, however, to
penetrate these barriers by way of a joint venture in the target country. This
paper suggests some considerations to be kept in mind in the development
of international joint ventures.

Market study. The first step toward a joint-venture investment is a
market study. One can narrow down the choice of potential host countries
by preliminary studies done right here in Canada. Sources of information
are: the Department of Industry, Trade and Commerce, which includes the
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very helpful Trade Commissioner Service, the Canadian International
Development Agency, Trade Associations, Chambers of Commerce, trade
publications, and so on.

On-site visit. Having selected a potential foreign market, the next
step is to visit the chosen country and do an on-spot market study as
carefully as you would do a market study for a new product line or a new
plant investment in Canada.

You will want to be assured that your product meets the market need
or can be adapted to it in terms of specifications and designs. You will
want information on price levels, the transportation and distribution
system, the availability of local skills at the factory and administrative
level, the extent of local educational and training facilities, the local
competitors and their strengths and weaknesses. If you plan to begin the
venture by shipping parts from Canada for assembly in the host country,
you will want to know the customs regulations, valuations duties and the
efficiency of ports of entry.

You may find during this exercise that some countries do not wish to
have your particular product or plant. Such countries have concluded that
additional plants in your product line will only fragment the market or
threaten existing companies.

If you plan to sell to government departments or agencies, do not
assume that you will have an equal and fair opportunity to bid on tenders.
Very carefully check with the local authorities as to whether or not you
have a chance of becoming an authorized supplier. You should also
determine if there are any language requirements that could present
problems in conducting business.

Initial representation. If you decide to test the market by exporting
from Canada, you must choose your agent carefully, ensuring that he/she
has the marketing skills necessary to represent you. In reaching agreement
with your agent, you must keep in mind your longer-term objective of
manufacturing your product locally so that the length of your agreement
can be established accordingly.

Further discussions. In general, governments appreciate that foreign
investment can bring substantial benefits to their economics. This is
especially true of development nations. However, it is necessary to keep in
perspective the objectives and desired benefits which are sought by the
host government through such investment. These may include job creation,
regional development, the development of technical skills and local
technology, and benefits to local suppliers. Discussions with the relevant
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local authorities will indicate if your particular project conforms to the
social and economic goals of the host country.

In addition to discussions with government officials, you are also
advised to discuss the investment climate with local banks. Canadian
banks, the Export Development Corporation, are with foreign investors
already operating in the country.

Choice of partners. When you have decided to establish a
manufacturing facility or to invest in resource development in a foreign
country, you face the task of choosing a partner. We at Canada Wire
believe this to be the most important consideration in the establishment of
a joint venture. Since our company has a policy of taking a minority
interest in overseas partnerships, you will understand the importance we
place in choosing a partner.

Finding an appropriate partner requires a careful identification and
selection process. The key to making the right choice is identifying a
common interest on both the short and long term. Complementary
characteristics and complete mutual trust are also crucial. Our company's
experience indicates that a period of one year or understanding or the
absence of common interest can be identified during the course of an
extensive and extended evaluation process. It may happen, for example,
that while partners share common short-term goals, their long-term goals
conflict. Differences can either be resolved or be the basis for withdrawal
from proposed partnership.

Local management. Our company believes that the joint venture
should be managed by local people. They are more sensitive to the
political, social and economic conditions in which the company must
operate and they are better able to represent the company to the customers,
the government and the people. While our company may provide short-
term expertise in some aspects of the business, reliance is placed on local
management. It is therefore important that partners possess first-class
management skills.

Partnership. No partnership agreement can be drafted by lawyers
and accountants and be made to work without a firm commitment from the
people involved. There must be a consensus between the partners and they
must be able to resolve differences as they arise.

People from different cultures can work together in our Nigerian
joint venture; the partners are Nigerians, Hong Kong Chinese and
Canadians. The venture works well, one reason being that the partners
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continue to need each other. This is a necessary characteristic of all joint
ventures.

We expect a partner to be an participant in the business, not merely a
businessman interested in investing money alone.

You will, of course, need your own lawyer in the host country and
you should ensure that your interests are represented in the company's
Board of Directors.

Financial considerations. Before making a foreign investment, you
ensure that your domestic finances are in order. The foreign investment,
particularly in the early years, may require more funds than initially
anticipated. The partner should therefore have a strong financial position
also.

It is important for you and your partner to agree on the action plan for the
early years of operating performance.

You must respect the foreign exchange policy and regulations of the
host country and have them in mind when raising a portion of the equity in
local currency. Using a portion of local currency reduces your foreign
exchange risk. Canadian banks are valuable advisers on the matter of
financing.

Attention also should be given to the host country tax laws and
regulations. Advice should be sought on corporate tax rates, withholding
taxes, sales taxes, the taxing of export income, tax incentives for new
business and tax treaties between Canada and the host country so that your
return on investment does not suffer from double taxation.

Legal and other fees. The host country rules on the treatment of legal
and other professional fees should be understood. In general, reasonable
remittance of special service fees is permitted though some countries are
reluctant to allow the remittance or such fees as those for computer
programs.

Some countries resist or delay approval of royalty agreements. Thus
a Canadian Company can supply 100 per cent of the technology but can
share only the income from the investment portion. Some countries have
shown a reluctance to allow the remittance of director's fees.

The dividend policy of the government should be clearly understood.
Some countries limit the amount of dividends that may be declared. In
other cases, a declared dividend has to be converted into, or initiated as, a
stock dividend that in fact locks the funds into local currency. Some
countries take one or two years to register a conversion of dividends to
stock. This delays subsequent remittance of dividends to Canada of the
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increased stock holdings. Remittance can be made only from the date of
approval or registration.

Operations. You must determine the host country laws on industrial
relations and minimum wages and should allow for low rates of
productivity during the early stages of development.

During the planning stages, attention must be given to the cost of
building the manufacturing or resource development facility in the host
country, the government policy on the machinery, and on die entry of
specialists both to install the machinery and to train the local staff in the
operation of the machinery. Many countries have strict rules on these
matters, not all of them realistic.

The partnership must ensure that local skills are available to maintain
and repair machinery.

The foreign investor, in general, is bringing technology to the
partnership and must be prepared to commit human resources to the design
of the plant and equipment and long-term technical support to the venture.

EXERCISES

1. Look through the text to find the English equivalents of the
following Russian terms:

COBMECTHOE MPEANPUATHE MPOU3BOJICTBEHHBIE BO3MOXKHOCTH
30Ha PaCUIUPEHHOM MPOJAKU KpaTKOCPOYHAs SKCIEPTHU3a
MONUIMHHBIN Oapbep HaJIOT ¢ 3apa0OTHOM TUIaThI
HOBBIM ACCOPTHUMEHT MPOTPECCUBHBIN HAJIOT
YAOBJIETBOPSATH MOTPEOHOCTH OCYIIECTBJIEHUE ICHEKHOTO
TaMOYXECHHBIC TTPaBUJIA IepeBoIa
y4acTH€ B TOprax 3aJICpIKKa IIaTexa
AKKpEIMTOBAHHOE TIPENIPUSITHE YTBEPKACHUE PEIICHUS

2. Find the sentences in the text that correspond to the following
statements:
1.  Very often many foreign companies search for the export market for
enlarged sales.
2. The main task in joint-venture establishment is a market
investigation.
3.  In the target market it is necessary to make a market investigation for
a new assortment.
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4.  You should know exactly that your product meets the market
requirements.

5. Very important thing is to clear out whether you have an opportunity
to become an official supplier.

6. In general, the joint ventures make great contribution to the
economies of foreign countries.

7.  The most important factor in establishment of a joint venture is
believed to choose a partner.

8.  Any document concerning cooperation should be compiled on the
basis of a consent and agreement between the partners.

9.  The foreign partner of a joint venture should take into consideration
all industrial relations in the host country.

3. Answer the questions to the text:
1.  When does the need of finding export market arise?
2. What are the sources of information about the market in the target
county?
3. What is it necessary to clear up during on-site visit?
4.  Why is a new foreign undertaking not always desirable in the host
country?
5. Under what condition are you able to become an authorized partner?
6.  Who usually manages the joint venture?
7.  What is the financial basis if a joint venture?
8. What is it necessary for beginning the manufacturing operations of a
joint venture?

TEST

1. Methods of ... machines are changing.

a. designing | c. having designed

b. designed | d. having been designed
2. The way of ... these difficulties 1s unknown at present.

a. having been avoided | c. avoid

b. being avoided | d. avoiding
3.  There are unmistakable proofs of his ....

a. have been wrong | c. having wrong

b. having been wrong ] d. wrong
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4.  He was surprised at the problem not ...yet.

a. having been solved | c. being solved

b. solving | d. have solved
5. A new firm cannot enter the market without its goods ... from others
by means of an original trademark.

a. distinguish | c. being distinguished

b. having been distinguished | d. distinguishes

6. They objected to the data ...before all the experiments were

completed.
a. having published c. publish
b. being published d. publishing
7.  We know this company ...a new competitive market recently.
a. being entered c. entering
b. have been entered d. having entered

8. The engineer insisted on ... the device without delay.

a. being checked | c. checked
b. checking | d. have checked
9.  All of us were sure of the test ....
a. having been successful | c. is successful
b. successful | d. will be successful

10. The manager knows of the company ...losses recently.
a. having suffered | c. having been suffered

b. suffering | d. will suffer
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UNIT V
MANAGEMENT
Read and remember the following words and word combinations:

to prompt — Mo/ICKa3bIBaTh, MPUIJIANIATD

to state — KOHCTaTUPOBATH

reasonably — pazyMHo, ipuemiieMo

neatly packaged — akkypaTtHo ynakoBaH

mMessy — HEPSIIIUIUBBIN

prerequisite — MpeanochlIKa, HEOOX0IUMOE YCIIOBHE
particular setting — KOHKpeTHas MIOCTAaHOBKA

truism — 0aHaJIbHOCTh

profit — mpuObLIH

10. attainment — qoCTHXKEHHE

11. shareholder — akunonep, maimmk

12. target — nenp, MUAILICHB

13. to weigh — Becuth

14. benefit-cost criterion — KpuTepui U3AEPKEK U MPUOBLICH
15. means — cpeacTna

16. unambiguous — HEJIBYCMBICIICHHBIM

17. trade-off — kommpomucc

18. customary — oOBIYHBIN, TPAAUITUOHHBIN

19. yield — npubsLIL

20. to be pinned down — ObITh IPOCYNUTAHHBIM, OMIPEEIECHHBIM
21. to predict — mpeacka3bIBaTh

WX R WD =

Read and translate the text:

TEXT A-1 MANAGEMENT: SIX BASIC STEPS IN
DECISION MAKING (part I)

Step 1: Define the Problem

Decisions do not occur in a vacuum. Many come about as part of the
firm's planning process. Others are prompted by new opportunities or new
problems. It is natural to ask: What brought about the need for the
decision? What is the decision all about? In all kinds of textbooks
examples, the decision problem is stated and is reasonably well defined. In
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practice, however, managerial decisions do not come so neatly packaged;
rather, they are messy and poorly defined. Thus, problem definition is a
prerequisite for problem management.

A key part of problem definition is identifying the setting and the
decision content. Identifying the decision content the decision maker
represents a large step toward understanding the process of choice. The
particular setting has a direct bearing on both the decision maker's
objectives and the available courses of action. The next two steps consider
each of these aspects in turn.

Step 2: Determine the Objective

When it comes to economic decisions, it is a truism that “you can't
always get what you want”. But to make any progress at all in your choice,
you have to know what you want. In most private sector decisions, the
principal objective of the firm — and barometer of its performance — is
profit: the difference between the firm's total revenues and its total costs.
Thus, among alternative courses of action, the manager will select the one
that will maximize the profit of the firm. Attainment of maximum profit
worldwide is the natural objective of the multinational steel company, the
drug company, and the management and shareholders of Disney, Canon,
Texaco, and Pennzoil. Sometimes the manager focuses on the narrower
goal of minimizing cost. For instance, the firm may seek to produce a
given level of output at the least cost or to obtain a targeted increase in
sales with minimal expenditure on advertising. In a host of settings,
measures that reduce costs directly serve to increase profits.

The objective in a public sector decision, whether it be building an
airport or regulating a utility, is broader than the private profit standard. In
making the choice, the government decision maker should weigh all
benefits and costs, not solely those that accrue as revenue or are incurred as
expenses. According to this benefit-cost criterion, the airport may be worth
building even if it fails to generate a profit for the government authority.
The optimal means of regulating the production decisions of the utility
depend on a careful comparison of benefits (mainly in the form of energy
conservation) and costs (in material and environmental terms).

In practice, profit maximization and benefit-cost analysis are not
always unambiguous guides to decision making. One difficulty is posed by
the timing of benefits and costs. Should a firm (the drug company, for
example) make an investment (sacrifice profits today) for greater profits
five or ten years from now? Are the future benefits to air travelers worth
the present capital expense of building the airport? Both private and public
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investments involve trade-offs between present and future benefits and
costs. Thus, in pursuing its profit goal, the firm must establish a
comparable measure of value between present and future monetary returns.

Uncertainty poses the second difficulty. In many economic decisions,
it is customary to treat the outcomes of various actions as certain. For
instance, a fast-food chain may know that it can construct a new outlet in
21 days at a cost of $90 per square foot. The cost and timing of
construction are not entirely certain, but the margin of error is small
enough to have no bearing on the company's decisions and thus can be
safely ignored. In contrast, the cost and date of completion of a nuclear
power plant are highly uncertain (due to unanticipated design changes, cost
overruns, schedule delays, and the like).

At best, the utilities that share ownership of the plant may be able to
estimate a range of cost outcomes and completion dates and assess
probabilities for these possible outcomes. (With the benefit of hindsight,
one now wishes that the utilities had recognized the risks and safety
problems of nuclear plants 10 and 20 years ago, when construction on
many plants was initiated.)

The presence of risk and uncertainty has a direct bearing on the way
the decision maker thinks about his or her objective. The drug company
seeks to maximize its profit, but there is no simple way to apply the profit
criterion to determine its best R&D choice. The company cannot use the
simple rule “choose the method that will yield the greater profit”, because
the ultimate profit from either method cannot be pinned down ahead of
time. In each case, there are no profit guarantees; rather, the drug company
faces a choice between two risky options. Similarly, public programs and
regulatory policies will generate future benefits and costs that cannot be
predicted with certainty.

What is the decision maker's goal? What end is he or she pursuing?
How should the decision maker value outcomes with respect to this goal?
What if he or she is pursuing multiple, conflicting objectives?

LANGUAGE PRACTICE

1. Answer the following questions to the text:
1. What is the difference between the book examples and practice?
2. What role does the problem of definition play for the problem
management?
3. What role does context play for problem definition?
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4. What is a “truism”?

5. What is the difference between the objective in a public and private
sector decision?

6. What are the difficulties of the decision making?

2. Read the following statements and find out what is not true:
a) Decisions come as a part of the planning process.
b) Problems are very hard to recognize in practice.
c) Identifying context is a key part of problem definition.
d) Profit 1s the aim of any firm's transaction.
¢) Maximizing profits and minimizing yields is the primary problem of any
manager.
f) Ultimate profit from either method cannot be pinned down ahead of
time.

3. Define the following in English:
a) profit;
b) shareholders;
c) particular setting;
d) attainment of maximum profit;
¢) means of regulating the production;
f) objective.

4. Read the sentences and translate them into Russian:
a)  Identifying the decision content the decision maker represents a large
step toward understanding the process of choice.
b) In most private sector decisions, the principal objective of the firm is
profit: the difference between the firm's total revenues and its total costs.
c) The objective in a public sector decision is broader than the private
profit standard.
d) In making the choice, the government decision maker should weigh
all benefits and costs.
e) In many economic decisions, it is customary to treat the outcomes of
various actions as certain.

5. Read the following words and word combinations and find
Russian equivalents for them:
a)  managerial decisions;
b)  poorly defined;
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C)  prerequisite;

d) decision content;

€)  private sector decisions;
f)  public sector decision.

6. Questions for the final discussion:
1. Give an example of a “messy and poorly defined” problem which
you had to solve. What was your first step?
2. Do you agree that problems in textbooks are “neatly packaged”? Is it
reasonable to use the examples if one cannot use the solutions in practice?
3. Do you agree that the objective of any firm is profit? What about the
image and reputation? What is more important for the development of a
firm?

TEXT B-1 MEETINGS

Read the text and be ready to answer the questions that
follow it:

Meeting is an essential part of manager’s work. They are held for
three main reasons: 1) to carry out training, 2) to transmit information, 3)
to solve a problem.

Read the following recommendations and try to follow them in your
life.

Before you call the meeting:

- decide if the meeting is the best method of achieving the objective;
- put the objective in writing;

- collect all the information necessary;

- select specific items for discussion;

- anticipate difficulties, awkward members and prepare documents and
courses of notion to overcome the difficulties expected;

- prepare the agendas with no more than 5 objectives.

During the meeting:

- state the purpose of the meeting;

- outline the objectives it is hoped to achieve;

- do not impose your views on the group;

- direct discussion toward the objectives;

- develop participation by contrasting different viewpoints;
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- watch the clock and note reaction of members who appear to be
losing interest;
- where opinion is divided a vote is to be taken.
After the meeting:
- the secretary of the meeting prepares "minutes";
- minutes must be an accurate account of the substance of the meeting.
No opinions, no discussions, no irrelevant talk. They should be brief;
- minutes should follow the agenda of the meeting.

Tips for better meeting:
1. Hold them early in the day and don’t allow phone calls to interrupt the
proceedings.
2. Pay particular attention to meeting; chairs should not be plastic-covered
but fabric-covered and firm.
3. If you know you are going to have a difficult person at the meeting,
offer a seat on your right or left. If this person is allowed to sit opposite
you, the meeting will often be split into two.
4. Get everyone to contribute to the discussion but don't put people on the
spot by asking, "What do you think, Jane?"
5. Place your watch on the table in front of you so that people can see you
are going to run to time; start on time; finish when you say you will.
6.Avoid letting people know what you think before they have made their
views known.

1. You often take part in different meetings. What are their main
drawbacks?

2. Are they held in accordance with the recommendations given in the
text?

3. What points are most often violated?

The following two texts are devoted to the problem solving.
1. Read both texts and prepare a recommendation summary on “How
to solve a problem”.
2. Define your own problem (your neighbour’s, your friend’s, your
relative’s) and try to find the solution to it using your own
recommendations.

TEXT B-2 CASE ANALYSIS
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If you have some problems the first step to do is to analyze the
reports and the cases. Your general approach to case analysis and reports
should be as follows:

1. Define the problem. The problem is always a blocked managerial
objective. What objective (profit, growth, cost control, etc.) is being
undermined in the situation?

2. Analyze the causes. What factors are causing the problem of blocked
achievement of objectives (inadequate communication, poor motivation,
indefinite plans, sloppy controls, interpersonal conflicts, fear of change)?
This should not be the search for villains, however, because individuals are
seldom the sole or fundamental cause of problems.

3. Develop alternatives. Evaluate the alternatives. What action might be
taken to remove the causes and solve the problem? Remember that these
alternatives should deal with causes, not symptoms of the problem.

4. Evaluate alternatives. Evaluate the alternatives according to appropriate
criteria:

- How well does the alternative meet the management’s objective?

- How much time and organizational resources are required?

- What are the costs?

- Does the alternative conform to personal and organizational values for
equitable and responsible behaviour?

- What is the probability of the success?

5. Select alternatives. What are the weak points of the alternative?

6. Recommend a detailed plan of implementation. Who should do what?
When? How?

Three more points should be taken into account.

- Past history. In many cases it is often useful to look at historical data in
order to gain some indication of future conditions.

- Expert opinion. It is often possible and useful to obtain opinions from
individuals considered to be knowledgeable.

- Manager’s own judgment. In many cases a manager will simply have
some ‘gut feeling’ about possible future conditions. And an analysis of a
cross section of opinions may provide you with a good decision.

TEXT B-3 PROBLEM SOLVING

Problems can be located in only two places — in the work situation
and in people. Problems in the work situation can be further subdivided
into those located in plant, machinery and equipment, and problems
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located in procedures, methods and ways of working. Problems with
people can be subdivided into those located in individuals and those in
groups.

Locating the source of a problem is not a simple task because
different people see the same problem caused by different reasons.
Nevertheless, your first task in a problem-solving meeting is to agree on
the source of the problem.

When the source of the problem has been located, a decision has to
be made. Decisions are of two types: quality decisions, and acceptance
decisions. Quality decisions are those which may be regarded as good
decisions and will solve the problem. However, the word "good" is open to
argument here. Decisions can only be judged retrospectively. You cannot
say "This 1s a good decision", only, “That was a good decision". For this
reason the word "quality", rather than good, is used to describe a decision
which, when implemented will be efficient. Acceptance decisions are those
which will be accepted by the people involved in the problem.

The majority of decisions tend to fall in the middle, where quality
and acceptance are of equal importance. Who takes the decision then? The
majority of problems are being solved during meetings. Here are seven
sections to guide you in the conduct of such meetings.

1. Understand the language. Problems cannot be solved if the language is
not thoroughly understood. And not simply the language of the country,
but the language of the particular subject, trade, industry.

2. Get the facts. The difficulty in getting all the facts is that, often, we do
not know how many facts there are. When we meet to solve problems, we
are considering symptoms.

3. Locate the cause of the problem. If opinions in the meetings are strongly
divided as to the cause, then you must develop possible courses of action
for each.

4. State in objective terms. This is stating the problem without subjective
opinion, without adjectives that indicate what someone thinks, about the
statement. Where possible, the problem should be stated in quantitative
rather than qualitative terms.

5. Consider possible solutions. Possible solutions are not probable
solutions; they are possible. Make sure that all possible solutions are
recorded for consideration.

6. Screen solutions. When a meeting makes a lot of progress, ideas flow,
much discussion takes place, and solutions are sometimes tabled more in
enthusiasm than in cold, logical deliberation. Screen the possible solutions.
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Be very careful of solutions that have been transferred from other
situations. This 1s not a good basis for accepting the solution. What
happened in another place, in another time, is unlikely to be the same in the
current climate.

7. Select decisions. Some solutions are incompatible and therefore
mutually exclusive. Some solutions can be combined. Determine the cost
of al solutions; establish how practical they are; how many can be
combined; the likely outcome of implementing them; the degree of
acceptability by those who have to carry them.

GRAMMAR IN USE
Nupunutus (The Infinitive)

NupuHuTHB, SBIASICH HEMMYHOW (POpMOI TIiarona, UMEET CBOMCTBA
KAaK CyIIECTBUTEIBHOIO, TAK U TJIAr0JA.

B npennoxkeHun WHPUHUTUB MOXKET BBINOJIHATH CIEIYIOIIHE
GyHKIMY:

Dynkyuu Ilpumepot Ilepeeoo
1. [Tognexamee To read aloud is very =~ Yumamb BCilyX OYEHb
useful. NOJIE3HO.
2. YacTbh COCTaBHOIO Our aim is fo master Hama uens — o61adems
IJ1IaroJbLHOTO English. AHTJIMHACKUM.
CKa3yeMoro
3. JononHenue He likes to draw. OH mo0uT pucosame.
4. OnpeneneHue Here is the article fo be Bot crarbs, komopyro
5. OOCTOSATENHCTBO translated. HYHCHO nepegecmu.
I came o help you. A mpuren, 4ToObI

nomouysb BaM.

Tabauua popm ungpunumuea

Infinitive Active Passive
Indefinite (Simple) | to write to be written
(to be + Participle II)
Continuous to be writing
( to be + Participle 1) ]
Perfect to have written to have been written
(to have + Participle II) ( to have been +

Participle II )

Perfect Continuous | to have been writing -
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(to have been + Participle

D

NupunuruBubie KOHCTPYKUMHU (The Infinitive Constructions)

Koncmpykuyus 1 Ipumep Ilepesoo
OOBEKTHBIN We believe her to be MpbI TIoJ1araem, 4To oHa
uHGUHUTUBHBINA 000poT in Gomel now. celiyac Haxooumcs B
(Complex Object) ['omere.
cyi. (o0ur. m.) She wanted me to Omna xotena, 4ToObl 5
+ return soon. CKOPEE BepHYJICA.
uHp./ We expect him to MBI oxugaeM, 4To oH
MecCT. (00bEKT.II.) come here. npudem CrOJa.

KoHcTpykiust «00beKTHBIN HHOUHUTUBHBIN 000pOT» YIOTPEOIIeTCs
TIOCJIC TJIaroJIOB, BRIPAXKAIOIINX
1) >xenmanue win oTpeOHOCTH: to want, to wish, to desire, would like.

[ want you to help me. A xouy, 4TOOBI 861 NOMO2IU MHE.
Would you like me to translate this  Xotenu Obl Bbl, YTOOBI 2 nepeser
text? ATOT TEKCT?

2) npennoioxeHue, MHEHUE: to suppose, to expect, to consider, to believe.
They consider him to become a OHU CUUTAIOT, YTO OH CMaHem
good manager. XOPOILIUM MEHEIKEPOM.

We believe her to have been sent to  Mpbl onaraem, 4to ee omnpasu.iu B
Minsk. MuHck.

3) dbuznyeckoe BoCIpUsITHE U ONIyIIeHue: to watch, to see, to hear, to feel
(ungpunumue 6e3 yvacmuyul to!).

The students heard him play the CTyIeHTBI CIBIIIAIN, KaK OH Uspall
piano. Ha MTUAHUHO.
She felt somebody look at her. Ona 4yyBCTBOBAaJa, UTO KMO-MO

cmMompum Ha Hee.
4) yTBEpKIEHHE, OCBEIOMJICHHOCTh, 3HaHWE, KOHCTaTaluio ¢akra: to
know, to find; to declare.
We know him to have taken part in ~ MpbI 3HaeM, YTO OH NPUHSI YUACMUE
the conference. B paboTe KOH(EPEHIIUH.
5) a) npuHYXJIeHUEe, IPpUKa3 WIK 3anpeT(be3 uacmuywl to): to cause, to get,
to make, to command, to order.
We could not get him go there. MBI HEe MOTJIU 3aCTaBUTh €20 nOUmu

Tyna.
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0) mpockOy, MO3BOJICHUE WIM paspelieHue (6e3 wacmuywl to): ask, to
allow, to permit, to enable.

I allowed him to come 1n. S pazpemuna emy sovmu.
Koncmpykuyus 2 Ipumep Ilepesoo
CyOBeKTHBIN They are said to have  T'oBopdT, 4TO OHU
UHOUHUTHBHBIN 000poT travelled a lot. MHOTO
(Complex Subject) The data proved MyTENIeCTBOBAIH.
Cyum. (00m. m.) / to be wrong. JlaHHBIE OKa3aIUCh
MecTt. (MM.IL.) HEBEPHBIMH.
+riarou-ckayemoe
+UH()PUHUTHB
Koncrpyknus «CYOBEKTHBIN WH()UHUTUBHBIN o0opoT»
yHnoTpeOasieTcs:

1) c rmarosamu B cTpajnarenbHOM 3aiore: to hear, to see, to find, to know,
to report, to expect, to consider, to believe, to say, to suppose u ap.

The delegation was reported to Coo0muiam, 4To JIeferaiust yxe
have already arrived. npuexarna.

The conference is believed fo take [Tonaratot, yTo KOHpEpEHIIUS
place in Minsk. cocTouTcsi B MUHCKE.

2) ¢ riarojaMM B JEeWCTBUTEIBLHOM 3ayiore: to seem, to appear, to prove, to
happen, to turn out — u cioBocoueranusmu:  to be unlikely (likely), to be
sure (unsure), to be certain (uncertain).

The dinner seems to be ready. Kaxxercs, o6e roTos.

The weather is not likely fo change. BeposiTHO, TOTO/1a HE U3MEHUTCH.

They are sure to come. be3ycii0BHO, OHU NIPUIYT.

Koncmpykuus 3 Ilpumep Ilepesoo

Everybody waited for  Bce xxnanu, korna

for + cym./ mecT.+ uHd. the meeting to start. HauyHETCs coOpaHue.
He waited for her to OH xk7an, 4ToObl OHA
speak. 3aroBOpHUJIA.

EXERCISES

1. Express the following using simple sentences with Complex
Object.
Example: 1 see how this woman goes to the factory every day.
I see this woman go to the factory every day.
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1. I heard that the director explained the details of the plan. 2. We heard
that they spoke about their Institute. 3. I heard that the workers discussed
the problems they had to solve to increase the output. 4. We saw that they
used the equipment we sent them last month. 5. I heard that the engineer
explained the new methods of production.

2. Fill in the blanks with one of the following verbs in the form of
the Infinitive:
arrive, cry, do, explain, go, get, hear, know.
1. Please stay with me, I don’t want you .... 2. David’s parents didn’t want
him ... married. 3. She didn’t understand the story, so she asked me ... it to
her. 4. Talk quietly. I don’t want anybody ... us. 5. You have come early.
We expected you ... later. 6. It was a very sad film. [t made me .... 7. Please
don’t tell Tom about my plan. I don’t want him .... 8. What do you think
about my problem? What do you advise me ...?

3. Translate from English into Russian and underline Complex
Object:
1. Tell me what you would like me to do. 2. Seeing her enter the room he
rose to greet her. 3. Hearing the bell ring he went to see who was at the
door. 4. Did you feel the bridge shake? 5. I don't like you to say such
things. 6. Put on a thicker coat, I don't want you to catch cold. 7. We knew
him to be very brave. 8. He asked for a telegram to be sent to his son. 9.
We expected the steamer to arrive at New-York yesterday, but as the
charterers ordered part of the cargo to be discharged in another port, the
steamer will arrive at New-Y ork tomorrow.

4. Express the following using simple sentences with Complex
Subject:
1. It is known that new economic theory is tested by practice. 2. It seems
that this approach ignores the objective conditions. 3. It is said that you
know the data very well. 4. It is understood that the seller will help us to
choose the necessary goods. 5. It is believed that the wage incentive
program will be adopted in May.

5. Transform the sentences using Complex Subject and the
words in brackets:
Example: He has lost weight (to seem).

He seems to lose weight.
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1. You know a lot of our customers (to seem). 2. Our product line is getting
better (to appear). 3. That car has broken down (to appear). 4. Our
executing officer forgets things (to tend). 5. The situation in this warehouse
is more difficult than we thought (to seem).

6. Translate into Russian:

1. With more and better goods and services available everyone’s living
standard is likely to improve. 2. If producers expect prices to increase in
the future, they may increase their production. 3. When a budget has
expenses that exactly equal income, it is said to be balanced. 4. When
proposed expenses are greater than expected income, the budget is said to
have a deficit. 5. The proportional tax seems to be fair because everyone
pays the same rate. 6. When dollar values are down, overseas sales are
likely to increase. 7. Sellers in each country expect to be paid in their own
currency for the goods they sell to other countries. 8. The management of
the firm wants them to report about the results or their negotiations. 9.
Such times of inflation and deflation are likely to create hardships for
many sectors of the economy.

7. Translate sentences using Complex Subject:
1. T'oBopsr, uto o B MuHcke. 2. OXKUJaI0T, 4TO AOTOBOp OyA€T MOJINKCaH
Ha 2ToM Hepgene. 3. CooOmiaroT, 4TO SKCIEAUIMA Bblexama 15 Mas.
4. I3BeCTHO, YTO OH TMPUJIEPKUBAETCA JAPYroro MHEHHUS IO HTOMY
Bompocy. 5. 'oBOpST, 4TO 3TOT JOM OBLI MOCTPOEH OKOJO JIBYXCOT JIET
TOMY Ha3a/.

8. Translate from Russian into English using the «for»
construction:
1. TekcT ObULI CIMIIKOM TPYAHBIM, YTOOBI OH MOI TEpEeBEeCTU ero 0e3
CJoBaps. 2. Ceiluac CIMIIKOM paHO, 4YTOOBI JOKEpHl Haydalu
pasrpyxatb cyqHO. 3. HaM oueHb TpyJIHO MOJIYUYUTh CBEICHUSI 00 00bemMax
npoaax. 4. Heobxoaumo, 4ToObl TOKYMEHTHl U OWJIETHI OBUIM OTOCJIAHBI
CEroJIHs.

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:

MANAGEMENT: SIX BASIC STEPS
83



IN DECISION MAKING (part II)

Step 3: Explore the Alternatives

After addressing the question “What do we want?” it is natural to ask
“What are our options?”. The ideal decision maker, if such a person exists,
would lay out all the available courses of action and then choose the one
that would best achieve his or her objective. Given human limitations,
decision makers cannot hope to identify and evaluate all possible options.
Still, one would hope that attractive options would not be overlooked or, if
discovered, not mistakenly dismissed. No analysis can begin with all the
available options in hand. However, a sound decision framework should be
able to uncover options in the course of the analysis.

Most managerial decisions involve more than a once-and-for-all
choice from among a set of options. Typically, the manager faces a
sequence of decisions from among alternatives.

At the outset, management at Time Inc. had to decide whether or not
to develop Picture Week for market testing. The whole point of the
development and testing program was to provide information on which
management could base its main decision: whether or not to undertake a
full-fledged, nationwide launch of the magazine. Notice that the company
could have launched the magazine without extensive market testing.
However, it rejected this risky strategy in favor of a contingent plan of
action: to undertake the testing program and then launch the magazine if
and only if the test results and economic forecasts were both favorable.

Sequential decision making also lies at the heart of the negotiation
dilemma which many firms face. Each side must formulate its current
negotiation stance (how aggressive or conciliatory an offer to make) in
light of current court results and the offers (both its own and its opponent's)
made to date. Thus, a commonly acknowledged fact about negotiation is
that the main purpose of an opening offer is not to have the offer accepted
(if it were, the offer probably was far too generous); rather, the offer
should direct the course of the offers to follow.

Step 4: Predict the Consequences

Depending on the situation, the task of predicting the consequences
may be straightforward or formidable. Sometimes elementary arithmetic
suffices. For instance, the simplest profit calculation requires only
subtracting costs from revenues. Or suppose the choice between two safety
programs is made according to which saves the greater number of lives per
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dollar expended. Here the use of arithmetic division is the key to
identifying the preferred alternative.

In more complicated situations, however, the decision maker often
must rely on a model to describe how options translate into outcomes. A
model is a simplified description of a process, relationship, or other
phenomenon. By deliberate intent, a model focuses on a few key features
of a problem to examine carefully how they work while ignoring other
complicating and less important factors. Of course, the main purposes of
models are to explain and to predict — to account for past outcomes and to
forecast future ones.

The kinds of predictive models are as varied as the decision problems
to which they are applied. Many models rest on economic relationships.

Suppose the multinational steel company predicts that a 10 percent
price cut will increase unit sales by 15 percent in the foreign market. The
basis for this prediction is the most fundamental relationship in economics:
the demand curve.

Other models rest on engineering, statistical, legal, and scientific
relationships.

So far as prediction is concerned, a key distinction can be drawn
between deterministic and probabilistic models. A deterministic model is
one in which the outcome is certain (or close enough to a sure thing that it
can be taken as certain).

For instance, a soft-drink manufacturer may wish to predict the
numbers of individuals in the 10-to-25 age group over the next ten years.
There are ample demographic statistics with which to make this prediction.
Obviously, the numbers in this age group five years from now will consist
of those who today are between ages 5 and 20, minus a predictable small
number of deaths. Thus, a simple deterministic model suffices for the
prediction. However, the forecast becomes much less certain when it
comes to estimating the total consumption of soft drinks by this age group
or the market share of a given product. Obviously, the market share of a
particular drink — say, one with ten percent or more real juice — will depend
on many unpredictable factors, including the advertising, promotion, and
price decisions of the firm and its competitors, as well as consumer tastes.
As the term suggests, a probabilistic model accounts for a range of possible
future outcomes, each with a probability attached. For instance, the five-
year market-share forecast for the natural-juice soft drink might take the
following form: a 30 percent chance of less than a 3 percent share, a 25
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percent chance of a 3 to 6 percent share, a 30 percent chance of a 6 to 8
percent share, and a 15 percent chance of an 8 to 15 percent share.

EXERCISES

1. Look through the text to find the English equivalents of the
following terms and give the sentences with them:

0JIaropa3zyMHOE peIlleHHE MPEJIEIIbl YETTOBEUECKUX
OKOHYATEJIbHBIN BHIOOD BO3MOKHOCTEHN
MO3UIIHS Ha IEPETOBOPaX MOCIIEI0BATEIIbHOE TPUHSTHE
BEPOSATHOCTHASI MOJIEIb peleHuit

ACTCPMUHHUPOBaHHAA MOJICIIb
COBOKYITHOC l'IOTpC6J'ICHI/Ie

2. Find the sentences in the text that correspond to the following
statements:
1.  Ddecision makers cannot evaluate all possible options, but at least
they try not to overlook or mistakenly dismiss any attractive options.
2. Most managerial decisions are made out of a sequence of decisions
from among alternatives.
3. Sequential decision making assumes that each side formulates its
current negotiation stance in light of current court results and the offers
made to date.
4.  Sometimes the task of predicting the consequences may use
elementary arithmetic, for instance, in case of the simplest profit
calculation.
5. A model is a simplified description of any phenomenon; it only
focuses on a few key features of a problem.

3. Answer the following questions:

What would an ideal decision maker do?

What is a sequential decision making?

What fact about negotiations is commonly acknowledged?
When does elementary arithmetic’s suffice?

When should decision maker rely on models?

What 1s a general definition for the model?

What types of predictive models are mentioned in the text?

Y N R L=

TEST
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1.  They expected us ... the answer to the question.
a. have found | c. find
b. to have found | d. finding
2. High unemployment benefits appear ...more unemployment.
a. cause | c. being caused
b. causing | d. to have caused

3. Their proposal is unlikely ....
a. to reject | c. to have rejected

b. to be rejected | d. rejecting

4.  There are two ways for companies ...a profit.
a. make | c. to make

b. having made | d. have been made

5. We see the prices for consumer goods ...recently.
a. have been raised | c. to have been raised

b. being raised | d. are raising

6. We assume man ... on the Earth more than a million years ago, but
we still do not know exactly where.

a. appear C. appearing

b. to have appeared d. having appeared
7. I want the translation ...tomorrow.

a. to have been finished c. to be finished

b. to finish d. to have finished

8. This phenomenon does not appear ... yet.
a. to have been studied | c. study

b. to have studied | d. being studied

9.  He is a wonderful teacher and I have never seen him ... his temper.
a. to lose | c. to have lost

b. lose | d. had lost

10. Here is one more important point for the speaker ....
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a. explaining | c. have explained

b. to explain | d. have been explained
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UNIT VI
MARKETING

Read and remember the following words and word combinations:

. managerial — ynpaBieHUeCKun

. to assess — OollCHUBAaTh

. promotional activities — 1eiCTBHUS MO MPOJABHUKEHHUIO TOBapa
. price discounting — IEHOBbIE CKUJIKH

. placement — pa3merieHue

. couponing — UCIOJIb30BaHUE KYTIOHOB

. enhancement — yBeInM4eHue, yIyUdllieHUE

. survey data — maHHBIE OCMOTpPA, OLICHKU

. audit — mpoBepka

. advent — nosiBNeHue

. coincidence — coBMaicHUE

. sophisticated — n3oipeHHbIHI

. prevalent — mpeoOagaronui, TPEBATUPYIOIIHNIA

. competitor — KOHKYpPEHT

. extent — 31. Mmaciurad

. Source — MICTOYHHUK

. market share — gomns peiHKa

. temporary price reduction — BpeMEHHOE CHUKEHUE 1IeH
. effectiveness — a3 pexTrBHOCTD

. long-term price elasticities — 7oJrOCpOUYHAs 3ITACTUYHOCTH 1[EH
. success — ycrex

. failure — mpoBan

. to cancel — oTMEHATH

. comparison — CpaBHEHUE

Read and translate the text:

TEXT A MARKETING RESEARCH

Philip Kotler defines marketing as «a social and managerial process
which individuals and groups obtain what they need and want through

creating and exchanging products and values with others». Marketing
research i1s used to assess the market's response to the firm's marketing
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inputs which include promotional activities such as price discounting,
placement of in-store displays, multimedia advertising, and couponing;
expanding distribution; and product development and enhancement. The
goal of marketing research is to assist the firm in determining the most
effective, i.e. most profitable, mix of marketing inputs given knowledge of
the marketplace.

As a formal scientific discipline marketing research began in the
early twentieth century with most analyses being based on survey data. In
the 1930s, the A. C. Nielsen Company began collecting in-store data using
manual audits. Today, with the advent of scanning technology, the amount
of timely data available from stores and household panels has grown
exponentially. Coincident with this data explosion, the data delivery
systems and the techniques used to analyze the data have become
increasingly sophisticated. Marketing research is an integral part of
organizations in both the consumer durable and nondurable goods sectors,
and in recent years the use of marketing principles has become increasing
prevalent among nonprofit and government sectors.

Marketing research is interdisciplinary requiring the knowledge of
economists, operations researchers, psychologists, and statisticians. For the
economist, the economic theory of consumer behavior and the theory of
the firm provide basic building blocks. Marketing research can be viewed
as an operational or tactical activity and as a strategic activity. Although
both activities require knowledge of the workings of the marketplace at
both the macroeconomic and microeconomic levels, tactical analyses focus
on monitoring a product's performance and testing the effectiveness of
marketing programs relative to competitors. Strategic research involves
selecting and optimizing marketing opportunities.

In order to understand the marketplace, the researcher must define
the market in terms of both the geographic unit and the product class and
collect data. Data on consumer purchases permit an analyst to determine
what was sold and how particular brands performed relative to each other.
In addition to sales and price information, causal data assist the analyst in
understanding the reason that sales took place. Examples of causal data are
newspaper advertising which indicates the extent of retailer advertising
support, display activity, and coupon ads. Another important source of
information for understanding the source of sales is television advertising.
Measuring the effects of television advertising is relatively difficult owing
to the dynamic effects such advertising has on consumer behavior,
however.
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Once the data are collected, the analyst may choose to evaluate the
information by simply looking at the raw series together over time or
compute straightforward measures such as market share in order to arrive
at a qualitative assessment of market activity. Statistical models might be
estimated in order to address issues such as temporary price reduction,
effectiveness, the extent of cannibalization due to promotional activity, 1.e.
the extent to which sales of one specific product decline as a result of
promoting another similar product produced by the same manufacturer, the
competitive effects of promotions, differences between markets,
competitive pricing points, and long-term price elasticities.

Forecasting is an activity likely to be undertaken by a business
economist working in a marketing research department. Conventionally,
business economists have been responsible for producing forecasts for the
macroeconomic environment or for activity within industry groups. More
recently, forecasting movements in mature product categories, in segments
within categories, and in brands has increased in importance.

Forecasting the success or failure of new product introductions is
also important. New product introductions require a considerable amount
of a firms resources, and failure to read the marketplace correctly and early
in the development process can lead to costly errors. The development of a
new brand begins with the identification of new market opportunities.
Consumer survey research directed at identifying the market response to
the brand concept and elements of the marketing mix, e.g., pricing, is
typically conducted. On the basis of the survey a firm may decide to
continue with the development plans for the brand, revise current plans in
response to the survey results and retest, or cancel development plans
completely. Comparisons may also be made between attitudes toward the
new concepts and existing products.

LANGUAGE PRACTICE

1. Answer the following questions to the text:
l. How does Philip Kotler define marketing?
2. What is marketing research used for?
3. What is the goal of marketing research?
4. When did marketing research begin as a «formal scientific discipline»?
5. What knowledge does marketing research require?
6. What are the basic steps of marketing research?
7. According to the text, how can marketing research be viewed?
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8. What are the sources of information of a marketing research manager?

2. Read the following statements and find out what is not true
about marketing research:
a)  Marketing as a formal scientific discipline has its roots in Greece and
Rome.
b)  Philip Kotler, a prominent economist, defined marketing research as
«a social and managerial process».
c)  Marketing research began in the early twentieth century.
d)  Marketing research requires the knowledge of economists, operation
researchers, psychologists and statisticians.
e) The research must understand the location and product class of a
certain market in order to understand it.
f) A person working in a marketing research department is a good
forecaster.

3. Read the following words and word combinations and give
definitions:
a)  marketing;
b)  promotional activities;
C)  couponing;
d) tactical activity;
e)  strategic activity;
f)  statistical models;
g)  business economist.

4. Read these sentences and translate them into Russian:
a)  Marketing is a social and managerial process by which individuals
and groups obtain what they need and want through creating and
exchanging products and values with others.
b)  Marketing research is used to assess the market's response to the
firm's marketing inputs.
c) Coincident with this data explosion, the data delivery systems and
the techniques used to analyze the data have become increasingly
sophisticated.
d)  Marketing research can be viewed as an operational or tactical
activity and as a strategic activity
e) Forecasting the success or failure of new product introductions is
very important.
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5. Read the following words and word combinations and find

Russian equivalents for them:

a)
b)
c)
d)
¢)
f)

managerial process;

promotional;

activities;

placement of in-store displays;
multimedia advertising;

durable and nondurable goods sectors.

6. Questions for the final discussion:

1) Is it reasonable to use independent marketing research in small business?
2) What skills are the most useful for specialists in marketing?
3) How can marketing research be made less expensive?

TEXT B-1 MARKETING STRATEGY

1. Learn the following English terms and their Russian

equivalents:

SO XN R W=

market research — uccienoBanue priHka

to accomplish objectives — nocturars menei

to provide opportunities — Ipen0CTaBIATh BO3MOXHOCTH
market segment — CEKTOp pbIHKA, CETMEHT PhIHKA

market mix — MapKETUHTOBBIN KOMILIEKC

differential marketing — nuddepenimpoBaHHbI MAPKETUHT
concentrated market — KOHIIEHTPUPOBAHHBIN PHIHOK
supporting market — o Iep>KUBaIOIMKAN PHIHOK
counteracting market — mpOTUBOEHCTBY IO PHIHOK
synchromarketing — cHHXpOMapKeTHUHT .

2. Read the following verbs and verbal phrases and pay attention

to the prepositions used after them:

to depend on ... to consist of ...
to take into account ... to refer to ...
to provide for ... to divide into ...

to be intended for ...
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Read the text and divide it into some meaningful parts, giving the
proper title to each of them:

The market development situation presents an interesting strategic
challenge. Management can influence the direction of market development,
but it faces the risk of creating a future competitive disadvantage.
Marketing advantages can be achieved in various ways, the finding of
which is not easy.

A good marketing strategy is a combination of penetrating analyses,
sound judgment, and an intuitive sense of what is appropriate for the
situation. Strategy selection is facilitated if one divides the task into two
parts. First, the strategic fit of the options under consideration is
determined; second, important selection criteria are used to identify
alternatives that appear the most promising.

The marketing strategy selected by each corporation is matched to
the strategic factors that are important in its competitive area.

Marketing strategy helps to determine whether a business can survive
and grow in to-day's highly competitive business environment. A
marketing advantage is essential for all firms. Customer satisfaction is the
responsibility of everyone on the corporate team, not just those assigned to
marketing positions.

Write a short summary of the text.

You may use the phrases like:

a) It is well-known, that ....

b) A large number of ....

c) It is believed that ....

d) As the practice shows ....

e) The latest studies say, that ....

TEXT B-2
Read the text. What is it about? Give the title to the text.

Marketing is closely related to economics, the social science
concerned with the production, distribution, and consumption of useful
goods and services. In traditional economic thought economic activity
creates utilities of form, place, time, and possession. To marketers the form
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created is the product; place and time refer to having the product available
where and when it is needed; and possession relates to ownership or
transfer of title. Marketing is a part of the broad field of economics and
helps to create these four all-important utilities.

Marketing is also related to other social sciences. It draws freely
from sociology, the scientific analysis of social institutions as a functioning
whole and as they relate to the rest of society. Marketing studies people in
a social context, as members of different groups. Advertisers, for example,
aim their appeals at particular market segments, such as the youth market,
the urban market, the black market, or the farm market. Sociology helps us
understand the differences not only between our society and those of other
nations but also between various subcultures within our own country.

Psychology is the study of the mental, attitudinal, motivational, or
behavioral characteristics of an individual or a group of individuals.
Marketing practitioners find knowledge of psychology helpful in
formulating advertising and sales campaigns. How do people think? What
motivates them to buy? How can we change their buying habits? What
price will have the strongest appeal? Psychological research has become a
major tool of marketing analysts.

How does the study of marketing relate to economics? Sociology?
Psychology?

TEXT B-3 CONSUMERS ARE SO DIFFERENT

Read the text. Define the key sentence(s) of each paragraph and
resume it:

Consumer’s self-orientation determines the types of goals and
behaviours that individuals will pursue. Marketers differentiate the
following groups of consumers.

Actualizers are successful, sophisticated, active, ‘“take-charge”
people with high self-esteem and abundant resources. They are interested
in growth and seek to develop, explore, and express themselves in a variety
of ways — sometimes guided by principle, and sometimes by a desire to
have an effect, to make a change. Image is important to actualizers, not as
evidence of status or power, but as an expression of their taste,
independence, and character.
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Fulfillers are mature, satisfied, comfortable, reflective people who
value order, knowledge, and responsibility. Most are well educated, and in
(or recently retired from) professional occupations. They are well-informed
about world and national events and are alert to opportunities to broaden
their knowledge. Content with their careers, families, and station in life,
their leisure activities tend to center around the home. Fulfillers have a
moderate respect for the status quo institutions of authority and social
decorum, but are open-minded about new ideas and social change.
Fulfillers tend to base their decisions on strongly held principles and
consequently appear calm and self-assured. Fulfillers are conservative,
practical consumers; they look for functionality, value, and durability in
the products they buy.

Believers are conservative, conventional people with concrete beliefs
based on traditional, established codes: family, church, community, and
nation. Many Believers express moral codes that are deeply rooted and
literally interpreted. They follow established routines, organized in large
part around their homes, families, and social or religious organizations to
which they belong. As consumers, they are conservative and predictable,
favoring native products and established brands.

Achievers are successful career- and work-oriented people who like
to, and generally do, feel in control of their lives. They value consensus,
predictability, and stability over risk, intimacy, and self-discovery. They
are deeply committed to work and family. Work provides them with a
sense of duty, material rewards, and prestige. Their social lives reflect this
focus and are structured around family, church, and career. Achievers live
conventional lives, are politically conservative, and respect authority and
the status quo. Image is important to them; they favor established, prestige
products and services that demonstrate success to their peers.

Strivers seek motivation, self-definition, and approval from the world
around them. They are striving to find a secure place in life. Unsure of
themselves and low on economic, social, and psychological resources,
Strivers are concerned about the opinion and approval of others. Money
defines success for Strivers, who don’t have enough of it and often feel that
life has given them a raw deal. Strivers are easily bored and impulsive.
Many of them seek to be stylish. They emulate those who own more
impressive possessions, but what they wish to obtain is generally beyond
their reach.

Experiencers are young, vital, enthusiastic, impulsive, and rebellious.
They seek variety and excitement, savoring the new, the offbeat, and the
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risky. Still in the process of formulating life values and patterns of
behavior, they quickly become enthusiastic about new possibilities but are
equally quick to cool. At this stage of their lives, they are politically
uncommitted, uninformed, and highly ambivalent about what they believe.
Experiencers combine an abstract disdain for conformity with an outsider’s
awe of others’ wealth, prestige, and power. Their energy finds an outlet in
exercise, sports, outdoor recreation, and social activities. Experiencers are
avid consumers and spend much of their income on clothing, fast food,
music, movies, and video.

Makers are practical people who have constructive skills and value
self-sufficiency. They live within a traditional context of family, practical
work, and physical recreation and have little interest in what lies outside
that context. Makers experience the world by working on it — building a
house, raising children, fixing a car, or canning vegetables — and have
sufficient skill, income, and energy to carry out their projects successfully.
Makers are politically conservative, suspicious of new ideas, respectful of
government intrusion on individual rights. They are unimpressed by
material possessions other than those with a practical or functional purpose
(e.g., tools, pick-up trucks, or fishing equipment).

Strugglers’ lives are constricted. Chronically poor, ill-educated, low-
skilled, without strong social bonds, elderly and concerned about their
health, they are often resigned and passive. Because they are limited by the
need to meet the urgent needs of the present moment, they do not show a
strong self-orientation. Their chief concerns are for security and safety.
Strugglers are cautious consumers. They represent a very modest market
for most products and services, but are loyal to favorite brands.

GRAMMAR IN USE
Tunsl npensoxkennii (Types of Sentences)

[To cTpykType TpeIIoKeHUsT MOXKHO pa3leliuTh Ha IMPOCTHIE,
CJIO’)KHOCOYMHEHHBIE, CIIOKHOIMOYMHEHHBIE.

IIpocTtoe mnpemnmoxxkenue (the Simple Sentence), kak npaBuIoO,
COCTOMT W3 IVIaBHBIX YJIEHOB MPEIJIOKEHHS — MOJJIEKAIIETO U CKa3yeMOro
U yIIOTPeOJISIeTCS] HE3aBUCUMO.

CJ10’)kHOCOUYMHEHHOE MPEITIOKECHUE (the Compound
Sentence) cOCTOUT U3 ABYX WJIU 0OJiee PaBHONPABHBIX MPEIOKEHUN.
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CII0)KHOITIOJYMHEHHOE IIPEIOKEHUE (the Complex
Sentence) COCTOMT W3 TJIABHOTO TMPEMIOKEHUS M OJHOTO WM OoJiee
MOAYMHEHHBIX TPUJATOYHBIX MPETI0KEHUN.

Ipuaarounsie npeanoxenusi (Subordinate Clauses)

Cno)XHOTIOJUMHEHHOE — TPEIJIOKEHHE  COCTOMT U3 TJABHOTO
npeioxkenust (The Principal Clause) W ogHOTO WM HECKOJBKUX
npugatouHbix (The Subordinate Clause), mnoscHSOMMX TJIaBHOE
peJIOKEHUE.

[IpunaTouHble NpeaIOAKEHUS BBIMOJIHSIIOT B CJI0KHOM MPEIIOKEHUN
pOJIb PA3IUYHBIX YJIEHOB TMPEIJIOKEHUS: MOMJIEkKAIIEro, CKa3yeMoro,
JIOTIOJTHEHHUS, OIpEACICHHs,, OOCTOSTEIbCTBA — U  MOJAPA3IAEISAIOTCS
COOTBETCTBEHHO  HA  NPUAATOYHBIE  TOMAJEXAIUe,  CKa3yemble,
JOTIOJIHUTEbHBIE,  ONpEeNeNUTeNIbHbIe,  0OCTOSTEIhLCTBEHHBIE.  Tun
OPUJATOYHOTO  TPEUIOKEHUS  ONpPEACNSIETCS [0 €ro  MeCTy B
PEIIOKEHUU.

[IpugaTouHoe mnojiekallee MNPEII0KEHHE HAXOAUTCS B Hayaje
CJIO)KHOIIOJJTYMHEHHOTO  TPEJUIOKEHUSI Iepell CKa3yeMbIM TIJIABHOIO
PEIIOKEHUS; TPUAATOUYHOE CKa3yeMoe — MOCIIe TJIarojia-CBsI3Ku «to bey;

MpUIaTOYHOC JOITIOJIHUTCIIBHOC — ITOCJIC CKa3zyemoro I'’IaBHOT'O
MMPECAJIOKCHUA, MpUAaTOYHOC OIIPCACIINTCIBbHOC — ITOCJIC
CYHICCTBUTCIBHOI'O; IPHUAATOYHOC 0OCTOSITEILCTBEHHOE — B Hadalie

peUIoKeHUs (Tepe]l MOAJIeKAIIUM TJIABHOTO MPEIJIOKEHUS) WU B KOHIIE
npeiiokeHuss  (mociie  MOJUIeKAIEero M CKa3yeMoro  IJIaBHOIO
MPEIOKEHUS ).

Coro3bl UM COIO3HBIE CIIOBA SIBISIFOTCS «CUTHAJaMW» COHO3HBIX
NPUIATOYHBIX MPEIJI0KEHUH, OHU MHOTO3HAYHBI U IS UX MPaBUIBHOTO
nepeBoia clielyeT BHAYaye ONpeAeIuTh TUIl MPUJATOYHOTO MPEI0KEHHUS.

Tunsl NpUAATOYHBIX MPEIJI0KEHUHA U COI3bI (COI03HbIE CJIOBA),
¢ IOMOIIBI0 KOTOPBHIX OHU BBOJSITCH

Tun Co103 WM COIO3HOE [Tpumep

PETOKCHUS CJIOBO

[IpunaTounoe What we need is a

[oJIeKaliee better marketing
that, if, whether, who, | strategy.

[Ipunarounoe what, which, when, The question is if
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CKa3zyeMoe where, how, why (whether) these
products will be in
demand.

[IpungaTounoe He does not really

JIOMOJIHUTEIILHOE know what he wants in
his career.

[Ipunarounoe who(m), whose, which, | Food which is sold in

OTIPENICIIUTEIILHOE that, when, where, how, | supermarkets needs
why a relatively long shelf-

life.

[Ipupgatounoe

00CTOSTEILCTBEHHOE:

BpEMEHHU when, while, before, When some good is in
after, till (until), as, as | short supply, its price
long as, rises.
as soon as, since

MecTa where, wherever Where the temple once
stood there is now
a multi-storey car park.

MPUYUHBI because, since, as, for | As the demand for
money changes, so
does the supply.

(S 171 that, in order that, so She must hurry lest she

that, lest (should) be late for the
conference.

yCJIOBUS if, unless, provided/ If sales increase, the
providing (that), company will make
suppose/supposing higher profit.

(that), in case, on
condition (that)
YCTYIUTEIBHOE (al)though Though he was very

young, he was a good
manager.

Beccoio3nble NpuIaTOYHbIE NPEAT0KEHUS
(Asyndetic Subordinate Clauses)

beccoro3Hble TpUAATOYHBIE TPEAJIOKEHUS OBIBAIOT TPEX THUIIOB:
00noJIHUMeENbHbIe, OnpedeIumenbHble U 00CMOAMENbCMBEHHbIE YCI0GHbIE.
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DTO 3HAYMT, YTO COO3BI MIEPEe] HUMU MOTYT OMYCKAaThCs, HO Ha PYCCKUU
SI3BIK TAKHE TMPEIJIOKESHHS TIEPEBOIATCSI C COOTBETCTBYIOIIMMH COFO3aMH.

1.  IlpunmaroyHoe JOMOJHUTENBHOE (CTOUT MOCJE CKa3yeMOro).

I think (that) I have made a mistake.

2.  IlpupmarouHoe onpeAenuTeNbHOE (CTOUT MOCHE CYIIECTBUTEIBHOTO).
The facts (that) the scientist had observed led him to important
conclusions.

3.  IlpupmatoyHoe 0OCTOSITEILCTBEHHOE YCJIOBHOE (CTOUT B HAyaje WU B
KOHIIE MPEIJIOKECHUS).

Were the computer in order, we should use it for making calculations.

We should use the computer for making calculations were it in order.

EXERCISES

1. Define the subordinate clauses in the following sentences.
Translate the sentences:
1. Who is the best student in the group will be shown at examinations.
2. When we buy things or use services, we are consumers. 3. Corn and
wheat are two crops that farmers grow in their fields. 4. Although we can
buy meat in the shops, some people still like to hunt animals as a hobby.
5. Everyone who was at the meeting will receive a copy of the minutes.
6. When there 1s a demand, one raises prices, but prices are reduced when
one wants to sell something quickly. 7. When we speak about absolute
poverty, we mean the people who live below the poverty line. 8. As prices
for fuel and electricity have risen, we expect an increase in all prices.
9. The chief advantage of the Metric System over the English one is that all
metric units are divided into 10 and 100 parts. 10. When demand for goods
and services is steadily growing, companies have to take on more
employees, and customers’ confidence rises as their incomes also go up.

2. Analyze the subordinate clauses paying attention to the
conjunction «that». Translate the sentences:
1. It 1s necessary to note that the study of economics is of great use even to
those students who have no wish to become professional economists.
2. Many words that we use in our everyday speech acquire a more precise
and often restricted meaning in the language of science. 3. The new line
that we introduced last year is aimed at the youth market. 4. Inputs are the
factors of production that are put into a business to produce goods and
services. 5. That Smith’s vision of economy should ever have been
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considered original might seem strange to modern minds. 6. It is known
that there are a lot of factors in agriculture that must be assumed as risks by
the farmers. 7. The two main trade unions say that the reforms are the
direct attack on workers’ rights.

3. Translate the sentences paying attention to asyndetic
subordinate clauses:
1. The population is the number of people a country has. 2. The facts the
newspaper refers to were published only yesterday. 3. He said he had been
studying English for 5 years. 4. People on a low income spend all the
money they have on daily necessities; they cannot save. 5. The method we
are applying results in high efficiency. 6. Real income is the amount of the
goods and services a consumer can buy with his money income.
7. Production costs are the amount of money companies spend to make
product. 8. Many experts think the growing use of fertilizers and other
chemicals presents a danger for the environment.

4. Combine two parts of the sentences so that they make sense:
1. Many African countries suffer  a) when they want to attract more

from regular droughts customers.

2. Perhaps time and further study  b) when it imports and exports

will reveal goods and services.

3. Mathematics is one of the most c¢) where people come to buy fruit

important subjects and vegetables.

4. In the modern world an d) the economy continues to grow

economy 1s considered open but at slower rates.

5. The consumer has to decide e) when no rain falls for months.

6. Every Saturday this road f) whether the classical or the

becomes the local street market Keynesian conception of economic
life accords more closely with
experience.

7. When the slump g) for it 1s applied in all branches

(aKOHOMUYECKUL KpU3UC) COmes of science.

8. A country has a trade deficit h) by how much the good A is
9. Businesses advertise their preferred to the good B.
products in the media 1) if imports exceed exports.

5. Define the type of the subordinate clause. Translate the
following sentences:
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1. A consumer is a person who consumes the products and services he
buys. 2. The market where employers buy workers’ service for wages is
called labor market. 3. The Great Depression was a devastating collapse
for the American economy with the effects that were felt almost in every
country of the world. 4. Firms do not grow only in order to become more
efficient, they know that the size also gives greater control over the market.
5. What I like best about my job is the contact with people. 6. The people
who are making the real decisions are all at the Head Office.

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:
MARKETING

Marketing concept began to develop from 1930 when great emphasis
was placed on selling. In order to sell successfully and earn the profit it is
necessary to identify the needs of potential customers. For gaining the goal
all resources of the enterprise should be directed to realize its goods or
services. To realize that task the proper market should be determined. To
evaluate the market in which the business exists it is necessary to analyze
the attitude of the customers and competition. The attitude of the customers
depends on the composition of the population. The profitable business
should take into account and analyze the following characteristics of the
population: education, income, employment, ethnic composition, average
family size, age groups.

In order to accomplish its objectives, the business should develop
marketing policies providing opportunities for satisfaction of customers'
needs and getting profit. To make effective marketing policy, it is
necessary to develop the marketing strategy of the enterprise. This strategy
includes two elements: the market segment and the marketing. The market
segment is the part of the market where your business can develop surely
and profitably, resisting competition and getting goodwill of the customers.
In other words the market segment may be called target market. The
market mix is intended for achieving the customers' satisfaction and
profitability. It consists of four elements referred to as the four P’s: the
product, the place, the price and the promotion. Otherwise, in the market it
1s necessary to have the right product, at the right time, in the right place
and to call attention to it by means of advertizing. All those actions

102



constitute the process of marketing. The task of marketing is to find
customers and find out what they need. Thus, it is possible to say that
marketing is such business activity that directs the flow of goods and
services from producer to consumers. One should not forget that such
activity includes product transportation, storage, pricing, advertising and
selling with maximal satisfaction of customers’ needs and earning profit.
There are various types of marketing: macro, micro, differential, non-
differential, conversional, concentrated, mass, supporting, counteracting
synchromarketing.

All that is indispensable part of economy, which, in its turn, is
typically divided into two parts: macroeconomics and microeconomics.
The former studies the aggregate economic behavior of the economy as a
whole, the latter — the individual behavior in the economy.

The distinction between macro- and microeconomics is also reflected
in discussions of business investment. In macroeconomics we want to
know what determines the aggregate rate of business investment and how
those expenditures influence the nation's total output, employment, and
prices. In microeconomics we focus on the decisions of individual
businesses regarding the rate of production, the choice of factors of
production, and the pricing of specific goods.

EXERCISES

1. Look through the text to find the English equivalents of the
following terms and give the sentences with them:

JeaaTh yIop Ha 9TO-T100 COCTaB HACEJICHUS
OMPENENIATh TOTPEOHOCTH CETMEHT PbIHKA
JIOCTUTATh LEJIEN KOMILIEKC MAPKETUHTA
OIICHUTh BO3MOKHOCTH PhIHKA L[EJICBON PHIHOK

2. Find the sentences in the text that correspond to the following
statements:
1.  Marketing ideas were raised when great attention was devoted to
selling.
2. For achieving its purposes, the profitable business should meet the
requirements of perspective buyers.
3.  To realize effective marketing program, it is necessary to work out
the marketing strategy of the organization.
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4. The market mix is aimed to meeting the customer’s needs and getting
profit.

5. The market segment is the niche where you can cope with the
competition and make marketing more effective taking into account the
interests of your customers.

3. Answer the following questions:
. What is the aim of marketing?
. How are the purposes of marketing realized?
. What elements does the marketing strategy consist of?
. What does the market segment refer to?
. What is the market mix intended for?
. What are the ways of goods promotion?
. What types of marketing do you know?
. What 1s the difference between macroeconomics and microeconomics?

01O\ DN A WN =

TEST

1. ... people consume goods and services, they provide a basis for
further production.
a. that | c. why

b. when | d. where

2. A controlled economy is the one ... a government decides what can
be bought and sold and/or how it is done.

a. where \ c. when

b. how | d. since
3. ... the experimental data do not correspond to this formula is not
clear.

a. since | c. what

b. as | d. why
4. ... you don’t understand is ... the professor will never approve this
experiment.

a. if...since | c. what...why

b. that...how | d. what...then
5. ... the price for petrol rises, the demand for cars reduces.
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a. as \ c. why

b. what | d. as if
6. The usual procedure is ... information storage is followed by
information analysis.
a. if c. that
b. as d. which
7. ... 1s worth doing is worth doing well.
a. that C. since
b. who d. what
8. ... you are not good at figures, it is pointless to apply for a job in a
bank.
a. where | c. unless
b. if | d. how
9.  The question is ... he has signed the contract.
a. as \ c. whether
b. who | d. what
10. The model ... was launched last year is selling very well.
a. which | c. who
b. when | d. how
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UNIT VII
MONEY AND BANKING
Read and remember the following words and word combinations:

arrangement — yCTpOHCTBO

article — uzgenue, ToBap

coincidence — coBnajicHHE

cumbersome — rpoMO3/IK1ii; 00pPEMEHUTEIIbHBIMI
deferred payment — oTCpOYEHHBIN TIIATEK
delivery — mocraBka

deteriorate — mopTUThCA

exchange rate — 0OMeHHBIN Kypc

hire purchase — nokyrmnka B paccpouky
10. insure — rapaHTUpPOBaTh, CTPAXOBAThH

11. laborious — 3aTpyAHEHHBIN

12. medium — cpeacTBo, c1ocoo

13. merely — Tonpko, IpocTO

14. payment — miatéx

15. rely upon — nonararbcst Ha

16. remove — ynanarb

17. spread — pacmpenensaTh, pacCIpOCTPAHATH
18. stock —3amac

19. store — xpaHuTh, 3amacaTh

20. surplus — u30bITOK

21. trade — ToproBaTh

22. extenuation — UCTOIIEHUE

WX R WD =

Read and translate the text.
TEXT A MONEY AND ITS FUNCTIONS

Money is one of man's greatest inventions and the fact that all but the
least developed of human societies use money indicates that it is an
essential tool of civilization. In the absence of some form of money,
exchange may take the form of barter which is the direct exchange of
goods and services for goods and services. Barter will serve man's
requirements quite adequately when he provides most of his needs directly
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and relies upon market exchanges for very few of the things he wants. As
the extent of specialization increases, the barter system proves very
inefficient and frustrating. In the simplest societies each family will
provide by its own efforts most of its needs and perhaps some small
surpluses. A farmer will exchange any small surplus of food, wool or hides
for the surpluses of other producers. But this system of exchange becomes
very cumbersome as economic activities become more specialized. A
specialist metal worker must seek out a large number of other specialists in
order to obtain, by barter, the variety of goods he needs to satisfy his daily
wants.

The great disadvantage of barter is the fact that it depends upon a
“double coincidence of wants”. A hunter who wants to exchange his skins
for corn must find, not merely a person who wants skins, but someone who
wants skin and has a surplus of corn for disposal. The alternative is to
exchange his skins for some other article and they carry out a series of
similar exchanges until he finally gets his corn. Time and energy which
could be devoted to production is spent on a laborious system of exchange.
Quite early in his history man discovered a much more convenient
arrangement. The use of some commodity as a medium of exchange makes
exchange triangular and removes the major difficulty of the barter system.
If a commodity is generally acceptable in exchange for goods and services,
it 1s money. A producer now exchanges his goods for money and the
money can be exchanged for whatever goods and services he requires.

The functions of money

1. A medium of exchange

As we have already explained, the use of money as a medium of
exchange makes possible a great extenuation of the principle of
specialization. In an advanced society the use of money allows us to
exchange hours of labour for an amazing variety of goods and services. We
can exchange, for example, two weeks' labour for a holiday abroad just as
easily as we can exchange it for a piece of furniture or a year's rent on a
television set. Such exchanges are taken for granted yet they would be
inconvenient without the use of money.

2. A measure of value

The first step in the use of money was probably the adoption of some
commodity as a unit of account or measure of value. Money, most likely,
came into use within the barter system as a means whereby the values of
different goods could be compared. The direct exchange of goods for
goods would raise all sorts of problems regarding valuation. For example
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'How many bushels of corn are equal in value to one sheep, if twenty sheep
exchange for three cows and one cow exchanges for ten bushels of corn?'
The problem of exchange rates is easily solved when all other commodities
are valued in terms of a single commodity which then acts as a standard of
value. Money now serves as such a standard and when all economic goods
are given money values (i.e. prices), we know, immediately, the value of
one commodity in terms of any other commodity.

3. A store of value

Once a commodity becomes universally acceptable in exchange for
goods and services, it is possible to store wealth by holding a stock of this
commodity. It is a great convenience to hold wealth in the form of money.
Consider the problems of holding wealth in the form of some other
commodity, say wheat. It may deteriorate, it is costly to store, may be
insured, and there will be significant handling costs in accumulating and
distributing it. In addition, its money value may fall when it is being stored.
The great disadvantage of holding wealth in the form of money has
become very apparent in recent years — during periods of inflation its
exchange value falls.

4. A means of making deferred payments

An important function of money in the modern world, where so
much business is conducted on the basis of credit, is to serve as a means of
deferred payment. When goods are supplied on credit, the buyer has
immediate use of them but does not have to make an immediate payment.
The goods can be paid for three, or perhaps six, months after delivery. In
the case of hire purchase contracts, the buyer takes immediate delivery but
pays by means of installments spread over one, two, or three years.

A complex trading organization based upon a system of credit can
only operate in a monetary economy. Sellers would be most unlikely to
accept promises to pay in the future which were expressed in terms of
commodities other than money. They would have no idea how much of the
commodities they would need in the future, and if they do not want them,
they face the trouble and risks involved in selling them. Sellers will accept
promises to pay expressed in terms of money because, whatever the pattern
of their future wants, they can be satisfied by using money.

LANGUAGE PRACTICE

1. Answer the following questions to the text:
1. What is barter?
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When may exchange take the form of barter?

When is barter inefficient and frustrating?

What are the main functions of money?

Why has it become unprofitable to hold wealth in the form of money
in recent years?

6. Why is money a perfect means of deferred payments?

7. How does a complex trading organization operate in a monetary
economy?

Nk

2. Read the following statements and find out what is not true
about money and its functions:
a) The barter system becomes very efficient as the extent of
specialization increases.
b)  Barter proves to be quite useful when people provide most of their
needs directly.
c) The great disadvantage of barter is that it depends upon a “double
coincidence of wants”.
d) The use of some commodity as a medium of exchange raises all sorts
of problems regarding valuation.
e) It is very convenient to hold wealth in the form of money because
during periods of inflation its exchange value falls.
f)  When goods are supplied on credit, the buyer has immediate use of
them but does not have to make an immediate payment.

3. Read the following words and word combinations and give
definitions:
a)  money;
b)  the barter system,;
c)  exchange rates;
d) deferred payment;
e)  hire purchase;
f)  surplus;
g) monetary economy.

4. Read the sentences and translate them into Russian:
a)  In the absence of some form of money exchange may take the form
of barter.
b) A specialist metal worker must seek out a large number of other
specialists in order to obtain, by barter, the variety of goods he needs.
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c) The use of money allows us to exchange hours of labour for an
amazing variety of goods and services.

d) The direct exchange of goods for goods would raise all sorts of
problems regarding valuation.

e) The problem of exchange rates is easily solved when all other
commodities are valued in terms of a single commodity.

f) Itis a great convenience to hold wealth in the form of money.

5. Read the following words and word combinations and find
Russian equivalents for them:
a)  an essential tool of civilization;
b) the direct exchange of goods and services;
c) the great disadvantage of barter;
d) alaborious system of exchange;
€) an amazing variety of goods and services;
f)  the value of one commodity;
g) ameans of making deferred payments.

6. Questions for the final discussion:

1.  Why do people accept money?
2. What are the functions of money?
3. What kinds of money do you know?

TEXT B-1 THE ROLE OF BANKS IN THEORY

1. Learn the following English terms and their Russian
equivalents:

[E—

financial intermediary — ¢uHaHCOBBII TOCPETHUK

credit union — KPEUTHBIN KOONEPaTUB

deficit spending — ngeduruTHOE pacxolioBaHUE, MPEBBLIIICHUE
pacxooB HaJ A0X0JaMU

surplus spending — npeBbIllIeHUE JOXOJA0B HAJl PacX01aMu

lender — kpeautop

borrower — 3aeMIIHUK

marketable securities — ppIHOYHBIC [ICHHBIE OyMaru

pertinent — yMECTHBIN, UMEIOITUI OTHOIIICHNE, TPUMEHUMBIH

Rt

X~ N b
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Read the text. Define the questions discussed in the text. In each
paragraph, find the sentences supporting the main idea of the text.
What paragraph contains the most important information?

Banks are financial intermediaries, similar to credit unions, savings
and loan associations, and other institutions selling financial services. The
term financial intermediary simply means a business that interacts with
two types of individuals or institutions in the economy: (1) deficit-
spending individuals or institutions whose current expenditures for
consumption and investment exceed their current receipts of income and
who, therefore, need to raise funds externally by negotiating loans with and
issuing securities to other units; and (2) surplus-spending individuals or
institutions, whose current receipts of income exceed their current
expenditures on goods and services so they have surplus funds to save and
invest. Banks perform the indispensable task of intermediating between
these two groups, offering convenient financial services to surplus-
spending individuals and institutions in order to raise funds and then
loaning those funds to deficit-spending individuals and institutions.

There is an ongoing debate in the theory of finance and economics
about why banks exist. What essential services do banks provide that other
businesses and individuals couldn't provide for themselves?

This may at first appear to be an easy question, but it has proved to
be extremely difficult to answer. Why? Because research evidence has
accumulated over many years showing that our financial system and
financial markets are extremely efficient. Funds and information flow
readily to both lenders and borrowers, and the prices of loans and securities
seem to be determined in highly competitive markets. In a perfectly
efficient financial system, in which pertinent information is readily
available to all at negligible cost, in which the cost of carrying out financial
transactions is negligible, and all loans and securities are available in
denominations anyone can afford, why are banks needed at all?

Most current theories explain the existence of banks by pointing to
imperfections in our financial system. For example, all loans and securities
are not perfectly divisible into small denominations that everyone can
afford. To take one well-known example, U.S. Treasury bills — probably
the most popular short-term marketable security in the world — have a
minimum denomination of $10,000, which is clearly beyond the reach of
most small savers. Banks provide a valuable service in dividing up such
instruments into smaller securities, in the form of deposits, that are readily
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affordable for millions of people. In this instance a less-than-perfect
financial system creates a role for banks in serving small savers and
depositors.

Another contribution banks make is their willingness to accept risky
loans from borrowers, while issuing low-risk securities to their depositors.
In effect, banks engage in risky borrowing and lending activity across the
financial markets by taking on risky financial claims from borrowers,
while simultaneously issuing almost riskless claims to depositors.

Banks also satisfy the strong need of many customers for /iquidity.
Financial instruments are liquid if they can be sold quickly in a ready
market with little risk of loss to the seller. Many households and
businesses, for example, demand large precautionary balances of liquid
funds to cover expected future cash needs and to meet emergencies. Banks
satisfy this need by offering high liquidity in the deposits they sell.

Still another reason banks have grown and prospered is their superior
ability to evaluate information. Pertinent data on financial investments is
both limited and costly. Some borrowers and lenders know more than
others, and some individuals and institutions possess inside information
that allows them to choose exceptionally profitable investments while
avoiding the poorest ones. Banks have the expertise and experience to
evaluate financial instruments and choose those with the most desirable
risk-return features.

Moreover, the ability of banks to gather and analyze financial
information has given rise to another view of why banks exist in modern
society — the delegated monitoring theory. Most borrowers and depositors
prefer to keep their financial records confidential, shielded especially from
competitors and neighbors. Banks are able to attract borrowing customers,
this theory suggests, because they pledge confidentiality. Even a bank's
own depositors are not privileged to review the financial reports of its
borrowing customers. Instead, the depositors hire a bank as delegated
monitor to analyze the financial condition of prospective borrowers and to
monitor those customers who do receive loans in order to ensure that the
depositors will recover their funds. In return for bank monitoring services,
depositors pay a fee that is probably less than the cost they would have
incurred if they monitored the borrowers themselves.

By making a large volume of loans, banks as delegated monitors can
diversify and reduce their risk exposure, resulting in increased deposit
safety. Moreover, when a borrowing customer has received the bank's
stamp of approval, it is easier and less costly for that customer to raise
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funds elsewhere. In addition, when a bank uses some of its owners' money
as well as deposits to fund a loan, this signals the financial marketplace
that the borrower is trustworthy and has a reasonable chance to be suc-
cessful and repay its loans.

1. What does the term “financial intermediary” mean?

2. Explain the meaning of the terms “deficit-spending individuals” and
“surplus-spending individuals”.

3. What task do banks perform?

4. Why do banks exist?

TEXT B-2 INTERNATIONAL BANKING

Read the text and answer the following questions:
1. Where were the first banks located?
2. What forces is international bank fund-raising being affected by?
3. What do many international banks see their future success in?

Banks have been heavily involved in selling their services across
national borders from the industry’s very beginning. The first banks were
located principally in global trading centers around the Mediterranean Sea,
including Athens, Cairo, Jerusalem, and Rome, aiding merchants in
financing shipments of raw materials and goods for sale and exchanging
one nation’s currency and coin for that of another to assist travelers as well
as local merchants.

Nowadays international bankers face unprecedented challenges in
both raising and allocating funds. E. Gerald Corrigan, president of the
Federal Reserve Bank of New York, perhaps has best captured the essence
of today's global bank management problems: “Financial markets and
institutions are caught up in an unprecedented wave of change and
innovation which makes it very difficult to distinguish ends from means,
causes from effects, and actions from reactions”.

As the bankers themselves admit, international bank fund-raising
increasingly 1s being affected by three forces:

1. Financial markets are broadening rapidly into worldwide institutions,
and many of these markets (such as the markets for Eurocurrency deposits,
commercial paper, foreign exchange, and government securities) are
becoming 24-hour markets linking Europe, North America, the Far East,
and the Middle East in a chain of continuous trading. Not far behind are
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the stock and futures markets, with overseas exchanges expanding to
accommodate multiple listings of companies and financial instruments (as
evidenced, for example, by the recent expansion of the Tokyo Stock
Exchange and LIFFE and SIMEX in London and Singapore). Moreover,
the developing nations, confronted with huge capital needs and the decline
of these traditional funding sources, are seeking to tap the surplus liquidity
of industrialized countries and recycle global savings.

2. Old kinds of debt and borrowing methods are being transformed into
new kinds of financial instruments and new fund-raising techniques.
Among the most notable developments here are securitized loans, currency
options and dual-currency bonds, and global mutual funds. In recent years,
international banks have found it increasingly difficult to bring in low-cost
deposits and must reach farther afield for funds, encouraging financial
innovation but also bringing international banks into competitive conflict
over sources of funds with thousands of other financial institutions. At the
same time, scores of desirable loan customers have found innovative ways
to raise their own funds (such as through direct sales of short-term notes to
investors) without the banker's help.

3. The barriers between securities dealers and international banks are
falling in many countries, aided by London's "Big Bang" and deregulation
in leading countries. This erosion of traditional roles is making it harder for
the public to see real differences between financial institutions. While
banks were the first to internationalize their operations, securities dealers
have followed in the 1970s and 1980s, capturing many former customers
that traded almost exclusively with international banks.

Many international banks and other financial firms see their future
success closely linked to their ability to establish a firm beachhead in all
major global markets and to offer a complete line of financial services,
centered around securities trading and underwriting, investment planning
and saving, credit insurance, and risk management. This is particularly
important in fund-raising by international banks because of the necessity in
today's intensely competitive environment for each bank to find the
cheapest funds sources, whenever they may be found, around the globe.

Sum up the text in 10-12 sentences and present your summary in
class.

GRAMMAR IN USE
CoraacoBanue BpemeH (The Sequence of Tenses)
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B aHrnuiickoMm si3bIke CYIIECTBYET MPABUIIO COTJIACOBAHUSI BPEMEH B

CJIO>KHOIIOJTYMHEHHBIX MPEIOKEHUSX C MPUJATOYHBIMU
JTOTOTHUTEIBHBIMU. OHO 3aKJII0YAETCSA B TOM, YTO YIOTPEOJIECHUE BPEMEHH
IJ1aroja-cka3yeMoro B MPHAATOYHOM JOMOJHUTEIBHOM MPEIIOKEHUN
3aBUCUT OT BPEMEHU TIJIarojia-CKa3yeMoro TJIaBHOTO MpeaiokeHus. B
PYCCKOM SI3BIKE COTJIACOBAHUS BPEMEH HET.
1.  Ecnu rnaros-ckazyemoe IJIaBHOTO MPEJJIOKEHUSI CTOUT B OJHOU U3
dbopM HacTOAIlIETO WM OYyAylIEro BPEMEHH, TO [IJaroji-CKazyeMoe
MPUJATOYHOTO JOMOJHUTEIBHOTO MPEI0KEHUS MOXKET CTOSTh B JIFOOOM
BpEMEHH, KOTOopoe TpeldyeTcs mo cMmbicny. B 3ToM ciydae mnpaBuio
COTJIACOBAHUSI BPEMEH HE JIEUCTBYET.

00HOBPEeMEHHOE he works.

Oelicmesue he is working
(pabomaem).

npeoutecmeayroujee he worked.

He says oelicmaue he was working

(paboman).
he will work.

0yoywee oetlicmeue he will be working
(byoem pabomamy).

2. Ecnm rmarosn-cka3zyemMoe TJIaBHOTO MPEIJIOKEHUS CTOUT B OJHOM U3

(GopM MpoLIENIIEr0 BPEMEHHU, TO M TJIAroj-cKazyeMoe MpHIaTOYHOIO
JOTIOTHUTENILHOTO MPEAJIOKEHUS JOJDKEH CTOSITh B OJJHOM U3 IPOLIEAIINX
BpPEMEH.

00HOBDEeMEHHOE he worked.
oelicmeue — he was working
Past Indefinite / (pabomaem).
Past Continuous
npeouecmayrujee he had worked.
He said Oeticmaue — he had been working
Past Perfect / (paboman).
Past Perfect
Continuous
6yoywee oeticmsue — | he would work.
Future-in-the-Past he would be working
(6yoem pabomamy).
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3. IlpaBuio cormacoBaHms BpeMeH He COOJI01aeTCs:
a) Ecmu pomomHuMTEeNnpbHOE MPHIATOYHOE NPEAIOKCHHE BBIpAKAET
0O0I11IeU3BECTHOE TOJIOKEHUE, (PAKT, CY>KJICHUE U T.I1.

Galileo proved that the Earth  |["anuneii moka3zan, uro 3eMiis BpamiaeTcs
moves round the Sun. BOKpyr CoJiHIIA.

0) B mpumaTouHBIX NPEJIOKEHUSIX ONMpPEACIUTENbHBIX, 00pa3a AeCTBUA,
OPUYMHBI W CIEACTBUS, TJI€ MOTYT OBITb HCIOJIb30BAHBI JOOBIE
BpEMEHHbIE (DOPMBI, TPEOYIOIIUECS IO CMBICITY:

It was not so cold yesterday as |Buepa ObL710 HE Tak XOJI0/IHO, KaK

it is now. cenyac.

My brother told me about the |Moii OpaT paccka3ai MHE O KHUTE,

book you are writing. KOTOPYIO BBl Ceuac MUIITUTE.

4.  VYkazaTeJabHble MECTOMMCHHS W HapeuHs MeCTa M BPEMCHH TaKKe
npeTepreBaloT U3MEHEHUsI: this — that, these — those e, here — there, now —
then, yesterday — the day before, today — that day, tomorrow — the next
(following) day, ago — before, last week / year — the previous week /year,
next week / year — the following week / year.

IIpsimasi m kocBenHas peub (Direct and Indirect Speech)

IIpsimasi peub — 5TO peub KaKOTO-HUOY/b JIMIIA, TepeaaBaeMas 0e3
W3MEHEHUM, HEMOCPEACTBEHHO TaK, KaK OHa ObljIa MPON3HECeHa.

KocBeHHasi peusb repefacT cloBa TOBOPSIIETO  JIMIIb IO
COJIEpKaHUI0, B BHJE OIOJHHUTEIBHOTO MPUAATOYHOTO MPEIIOKEHUS.
[Ipu 3TOM B CTPYKType MPEATI0KESHHUS TIPOUCXOIIT HEKOTOPhIE N3MECHEHHUSI.

IlepeBoa npsiMoii pe4 B KOCBEHHYIO.

B caywasx 3ameHbl MpsSMOM peyd Ha KOCBEHHYIO COOJ0aeTcs
IIPaBUJIO COTJIACOBAaHUs BpeMeH. [Ipu aTom:
1.  3amdAras, crosmas mocie CIOB, BBOAAIIMX NHPSIMYIO pE€uYb, a TAKKE
KaBbIYKH, B KOTOPBIE 3aKIIOYEHA MpsiMasi pedb, onmyckaroTca. KocBeHHas
pedb BBOAUTCS COO30M that umo, KOTOpbINA, OJTHAKO, YACTO OIYCKAETCHl.
2. Ecnu B cnoBax, BBOASIIMX NPSIMYIO peudb, YNOTpPeOJEH riaroi to
say 0e3 JIOMOJTHEHUS, YKa3bIBAIOIIEr0 Ha JIUIIO0, K KOTOPOMY O0paIiarTcs ¢
peunto, TO to say coxpansietca. FEciam ke mocrie to  say uMeercs
JonojiHeHre (00s13aTeNbHO ¢ IpeasioroM to, Hanpumep — said to me), To to
say 3ameHseTcs riaarojom to tell (nanee nononunenue 6e3 npejyiora to).
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3. JluyHble W  TPUTSKATEIBHBIE  MECTOMMEHUS MPSIMOU  peuu
3aMEHSIIOTCSI IO CMBICITY, KaK U B PYCCKOM SI3BIKE.

4. Eciu B mnpsAMONl peud €CTh MOJAJIbHBIE IJIarojibl, TO T€ W3 HUX,
KOTOpbIe UMEIOT (OpPMBI MPOMIEAIIETO BPEMEHHU, W3MEHSIOTCA B
KOCBEHHOW  peud: can Ha could, may Ha might, have (to) na had (to).
OcranbHbl€ NPU NMEPEXOJE B KOCBEHHYIO peYb HE MEHSOTCS: must, ought
to u 1p.

5.  Cneuuanvnvle 6onpocel Ipu OOpAIEHUH B KOCBEHHYIO peyb
CTAHOBSITCSL  JOTOJIHUTEJIBHBIMUA  TMPUJATOYHBIMU  MPEJI0KECHUSIMH,
MPUCOETUHIAEMBIMU K TJIABHOMY C MOMOIIBIO TE€X BOMPOCUTEIbHBIX CIIOB,
KOTOpble OBLIM WCMIOJB30BaHBI B caMOM Bompoce. THUIUYHBIMU

BOIIPOCUTEITbHBIMHU clIoOBaMH B ATUX BOIpPOCax
apisitoresi: who, when,where, why, which, whose u T.11.
6. Oobuwue 6onpocwl 3aMEHSIOTCA  NPUIAATOYHBIM  MPEJIOKEHUEM,

KOTOpOE€ MPUCOEAMHSIETCS K IJIaBHOMY IpH momoiinu coro3oB if/whether,
MMEIOIIMX 3HAYEHUE YACTHULIBI J1i. 3arsTasi HE CTaBUTCA.

7.  KocBeHHble TpuKa3zaHWd M TPOCBOBI BBOJATCA  IJarojamu,
BbIpaxarmumMu npocb0y: to ask , to beg — unu komany, npukaszanue: to
tell, to order, to allow, to warn u ap. /leiicTBue, BBIPaXKEHHOE B MPSIMOU
peYH MOBEIUTENIbHBIM HaKJIOHEHUEM (MH(QUHUTHUBOM Oe3 t0), 3aMeHseTcs B
KOCBEHHOM peur MHOUHUTHBOM C uactuiiel to. OrpunarenbHas gopma
rjiarojia B TIOBEJMUTEIBHOM HAKJIOHEHUU 3aMEHsIeTCs WHOUHUTHBOM C
IIPEILLIECTBYIOIIEH YacTULIe not.

EXERCISES

1. Translate the following sentences paying attention to the tense
forms in the principal and subordinate clauses:
1. Economists said that lower demand led to lower equilibrium price and
the lower quantity of demanded goods. 2. The Prime Minister said that the
monthly pension would grow two times by the end of the year. 3. It was
written in the book that some forms of money had been used by man from
early times. 4. The slide showed that the two curves were going in parallel
to each other. 5. Adam Smith, “the father of modern economics”,
considered that a nation’s wealth depended on its ability to produce goods.
6. The visitors were told that the secretary had just gone out and would
come back in half an hour.
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2. Convert into reported speech paying special attention to the
adverbial modifiers of time and place:
1. “I posted your letter yesterday,” said Pearl to her. 2. “I'll have another
talk with him tomorrow,” said Agnes. 3. “You have a beautiful place here,”
said Pete. 4. “Jessica arrived last night and she wanted to see you,” said
Anny. 5. “I have not seen him this morning,” said Luke. 6. “He'll meet
Betsy here today,” she said. 7. “I saw Jack at the University today,” she
said. 8. “Tonight I shall stay at home and read what the editor has given to
me,” said Nelly. 9. “Tomorrow I shall do it myself,” said mother.
10. “Now everything has changed here, you won't recognize a thing in this
company,” said the chief executive.

3. Choose the proper adverb or the adverbial phrase:
1. Mr. Brown said the manager would be back in London (tomorrow, the
following day). 2. He says he enjoyed the film (yesterday, the previous
day). 3. The secretary told Mr. Black that Mr. Brown had called him up
(two hours ago, two hours before). 4. The secretary said Mr. Brown was
having an appointment (now, then). 5. Mary says she will book tickets for
the cinema (tomorrow, the next day).

4. Change sentences with modal verbs and their equivalents into
indirect speech:
1. "If what you have said is true I must go to the police," he said. 2. "You
don't need to come in tomorrow," said my employer. "You may take a day
off." 3. The official said, "This passport photo isn't like you at all. You
must have another one taken." 5. "I needn't get up till nine tomorrow," I
said. 6. "I must go to the dentist tomorrow," she said to me. "I have an
appointment." 7. "I will go to bed. I had to get up very early today," he
said. 8. "I couldn't meet her, I was working," he said. 9. "Something was
wrong with the receiver, I could not hear you well yesterday," she said.

5. Find one sentence in which there is no mistake. Correct the
other sentences:
1. Mike told the policeman that he lost his identity card. 2. Jane said to
Dick that Julia doesn’t live next to her. 3. She told the detective that she
sees the thief in the house. 4. He said that he ate nothing since morning.
5. My girlfriend told me that she felt very bad, and she had a headache.
6. Tom’s boss said to him that he hasn’t done the work properly. 7. Anna
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said that she doesn’t want to wear her old dress. 8. Her brother told her that
they will have plenty of time to do their work.

6. Translate into Russian:
1.Yac Hazan oH ckaszaj, 4To NpUIET croga BeuepoM. 2. OHa HalOMHUWIA
MHE, 4TO BeuepoM OyaeT cobpanue. 3. OHa BOCKIMKHYJIA, YTO OH JDKET.
4. Ona ckazana, 4yro OoJibllle HUKOTJa He Oyner Tak cyacTimBa. 5. OH
CKa3aJjl, 4YTO ATU KHUTHU MPOAAIOTCS BO BCEX Mara3uHax.

7. Change the questions into indirect speech beginning them with
the words in brackets:
Example: Is he coming back today? (She asked me...) — She asked me if he
was coming back that day.
When will he come back? (She asked them...) — She asked them when he
would come back.
1. Have you found the book? (She asked me...) 2. Are there any more
books here? (The man asked...) 3. Did she go shopping yesterday (I wanted
to know...) 4. Has she bought the dictionary? (He did not ask her...)
5. Does she know the name of the man? (I doubted...) 6. Did Boris see the
man this morning? (I asked...) 7. Have they sold the picture? (I did not
know...) 8. Do they know anything about it? (I wondered...) 9. Has Jack
given you his telephone number? (She asked me...) 10. Where is he going?
(He didn't tell anybody...) 11. Where has he gone? (I wondered...)
12. Where is he? (The woman asked...)

8. Translate into English:
1.5 cipocu Mapu, CXOAUT Jid OHA B MarasuH. 2 . Sl ero cupocus, XoauT Ju
OH Ha MPOTYJKY KaxIbli Beuep. 3. CMUT CHPOCUII, OTIPABHII JIA SI €ro
nucbMo. 4. S cnpocuit oTHa, BEPHYJI U cocell KHUTY. 5. OH MEHS CIpoCu,
IIOEly JI1 5 Ha CIEeAYyIoLIeH Henene B bocToH.

9. Change commands, requests, recommendations into indirect
speech:
Example: "Close the door," she asked me. — She asked me to close the
door.
1. "Open the safe!" the raiders ordered the bank clerk. 2. "Please do as I
say," he begged me. 3. "Help your mother, Peter," Mr. Pitt said. 4. "Don't
make too much noise, children," he said. 5. "Do whatever you like," she
said to us. 6. "Don't miss your train," she warned them. 7. "Read the
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document before you sign it," the lawyer said to his client. 8. "Fill in the
blank again," he said. 9. "Buy a new car," I advised him. 10. "Don't drive
too fast," she begged him.

VOCABULARY AND GRAMMAR REVIEW
Read and translate the text with the help of the dictionary:
THE COMMERCIAL BANKS

The banks handling the major part of the domestic banking business
in the United Kingdom are limited liability companies which, in the main,
are subject to the ordinary law relating to such companies.

Some of the main features of the United Kingdom commercial banks
are:

1.A relatively small number of banks control a large number of branches,
United Kingdom members of the British Bankers' Association include 11
London dealing banks, 5 banks in Scotland and 3 in Northern Ireland; they
control some 13.000 branches and had total net deposits of over 9.230
million.

2.The volume of cheques handled is very large and, in spite of a stamp
duty of 2 on each cheque, many payments — and even relatively small
payments — are made by cheque. The average monthly value of cheques,
drafts, bills and bankers effects cleared through the London and Provincial
Clearing Houses was 29.889 million; and many cheques do not, for various
reasons, pass through clearing houses. In addition, a growing volume of
payments is effected through the credit transfer scheme: the average
monthly value of the credit clearing through the London Clearing House is
657 million.

3. It is the practice of the London clearing banks to maintain a ratio of
about 8 per cent between cash reserves and total deposits (of which rather
more than a half are repayable on demand, the remainder being mainly
deposits at interest and subject to notice).

The banks make advances to customers partly in the form of
overdrafts and partly in the form of loans (with or without collateral
security); in either case, the advance is normally for a short term only
unless renewed.

The ratio of London clearing bank advances to total deposits
declined from about 43 per cent in 1938 to about 17 per cent at the end of
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the war, but gradually climbed back to settle down to a level of 26 to 30
per cent for a number of years from 1951. After the withdrawal in 1958 of
official requests to the banks to restrict the level of their advances, the
percentage again moved up, and by July 1961, when the banks were again
asked to restrain their lending, was over 47 per cent. In May 1965 the ratio
of advances to total deposits was 535 per cent, well above the 1938 level.
The analysis shows the relative size of bank advances outstanding in recent
years to different sectors of the economy.

The increase in the volume has been accompanied by innovations in

bank lending practice, including the introduction of schemes for personal
loans repayable by fixed monthly installments over periods up to two
years, and facilities for limited service accounts at low cost. Another
development was the acquisition by many banks of share capital in hire-
purchase finance companies.
4. Certain banks in Scotland and Northern Ireland have retained limited
right to issue notes; these issues, apart from an amount specified by
legislation for each bank, must be fully covered by Bank of England notes
and by coin.

EXERCISES

1. Look through the text to find English equivalents of the
following terms and give the sentences with them:

KOMITaHUS C OTPAHUYEHHOU OTPAaHUYUTH PEIOCTABICHUE 3aMa
OTBETCTBEHHOCTBIO (kpenuTa)
POBOAUTH BEKCEJIb WIIA YEK Yepe3 IprUOOpETEHNE aKITMOHEPHOTO
OaHK KanuTasa
OCYIIECTBJISATh IATEXKHU MO CUCTEME MPEIOCTaBICHHAS CCy1a

nepeBoJia KpeauTa

BKJIaJI 10 BOCTPEOOBAHUS
o0ecreueHrne UMYIIECTBOM,
IIEHHBIMU OyMaramu BKJIAJI TIOJ] TIPOIIEHTHI

2. Find the sentences in the text that correspond to the
statements:
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1.  The banks which are the limited liability companies supervise the
most part of the national banking business in the UK.

2. Mostly all cheques, drafts and bills are passed through the Clearing
Bank.

3. A great amount of payments is realized through the credit transfer
scheme.

4.  After the recall of governmental demands to limit the amount of the
loans and later when the banks were asked to restrict loaning, the
percentage raised.

5. The raise of advances has been the result of the novelty in bank
loaning system.

6. It is convenient for the loan borrower to pay it off by regular partial
contribution.

7. One of innovations was the receiving by banks of common stock in
hire-purchase finance companies.

8. Some banks have held the restricted right to emit bills.

3. Answer the questions to the text:

What is a limited liability company?

What types of payments are cleared through commercial banks?

What financial services are rendered to the customers by banks?

. What was the reason of increasing in the volume of financial
operations?

A

TEST
1.  Katherine’s told me she ... for a better job at the moment.
a. was looking | c. looked
b. looks | d. is looking

2. Last year’s financial statement indicated that it ... a very profitable
year for the company.
a. 1s \ c. has been

b. was \ d. had been

3.  The financial adviser convinced the CEO that the new project ... a
success.
a. will be | c. would be

b. is going to be \ d. was
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4. The suppliers said that they... already ... us the duplicate invoice.

a. had sent | c. would send

b. have sent | d. were sending
5.  The correspondent asked the Returning Officer ... on the election
results.

a. to comment \ c. commented

b. don’t comment | d. would comment

6.  The Managing Director said at the meeting that he ... a joint venture
... the best way to break into the foreign market.

a. thinks... was c. thought... is
b. thinks... is d. thought... was
7.  The secretary asked her boss what time he ...for the airport.
a. will leave c. leaves
b. was leaving d. has left

8.  He wondered what he... to set the situation right.

a. has done \ b. does

c. will do | d. would do
9.  The company’s executive director informed the staffers that they... a
few days off.

a. would give \ C. give

b. would be given | d. gave

10.  Mr. Martin denied that he ... any money from the company.
a. took | c. had taken

b. would take | d. takes
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APPENDIX
MY HIGHER DEGREE COURSE
Read and remember the following words and word combinations:

postgraduate student — aciupanT
undergraduate student — maructpant
trainee probationer — cTaxxep
doctoral candidate — conckarens
doctor of Philosophy (PhD) — kanaunat Hayk
principal lecturer/associate professor — goueHT
senior lecturer/reader — cTapmmii mpenoaaBaTesb
supervisor / adviser — pyKOBOJAUTEb
assistant lecturer — muamui npenogaBaTelib
10. master thesis — Marucrepckas 1uccepraius
11. academic / teaching staff — npenonaBaTenbckuii cocran
12.  vice chancellor / Pro-rector — mpopekTop
13. pro-rector for academic affairs — npopexTop mo yueOHoI paboTe
14. pro-rector for research — mpopekTop Mo Hay4yHOH padoTe
15. to prepare / write a thesis — HamKcaTh JUCCEPTALUIO

I'm planning to finish writing the thesis by the end of the next year.
16. to defend/prove/maintain a thesis — 3aIIUTUTH AUCCEPTALIMIO

If a thesis meets necessary requirements it will be proved at
Academic Counsil.
17. to do smth with a high level of technical skill — genats uto-1UGO
npodeccuoHanbHO

The research will be conducted with a high level of technical skill.
18. to employ the most suitable techniques — wucnonb30BaThH
COOTBETCTBYIOIITUE METOIBI

They employ the most suitable techniques and procedures of
investigation.
19. to take qualifying exams — ciaBaTh KaHIUIaTCKUE SK3AMEHBI
20. core subjects of the field — ocHOBHBIE MpeaMeThl HaHHOW 00IACTH
3HAHUU

The postgraduate students will take qualifying exams in the core
subjects.
21. to prepare research publications (articles and papers) — roToButh
HayYHbBIC ITyOJIMKAITIN

WX R WD =
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22. written reports — MMCbMEHHBIC TOKJIAIbI

Do you prepare research publications and written reports on the
work carried out?
23. to prepare articles and papers on matters relevant to the investigation
— TOTOBUTD CTATbU U JTOKJIABI 110 TEME JUCCEPTAIIUU
24. to select a promising topic — BEIOpaTh NEPCIIEKTUBHYIO TEMY

The supervisor helps them to select a promising topic.
25. to meet smb. at regular intervals — peryispHo BCTpedaTbCsi ¢ KEM-
17 (40)
26. to discuss the progress of work — 06cyx1ath X0 padoThI

You’ll meet your supervisor at regular intervals to discuss the
progress of your work.
27. to produce significant results — 1aTh 3HaUYUTEIIBHBIE PE3YJIHTATHI

Will you produce significant results in the appointed period of time?
28. to review the major sections of the thesis — mpocmarpuBaTh (UUTaThH)
OCHOBHBIC pa3ieibl TUCCEePTAIIUN
29. to make critical comments — genaTh KPUTUUECKHUE 3aMEUAHUSI.

The supervisor will review the major sections of your thesis and
make critical comments on each draft of the thesis.

Read and translate the text:

[ am an undergraduate student of the Gomel State Technical
University named after P. Sukhoi. I don’t only study but also work as a
teacher at the Economics and Humanities Department of our University. I
do not have many working hours, but I get great experience. [ combine
practical work with my scientific research. My master course will last three
years. Within this period I am to carry out an investigation and prepare a
thesis on it. My master thesis is to show that my research is being
conducted with a high level of technical skill. I am to employ the most
suitable techniques. The procedures are to be of a high academic standard.
I hope my work to be an original contribution to knowledge and its results
to be capable of practical application.

Now I am attending seminars and colloquiums. At the end of the year
I’m going to take qualifying exams in the core subjects of my field,
philosophy and the foreign language. My core subject is Economics and
industrial management. I’'m doing research in the field of economics. It’s a
great science. People have been interested in it since earliest times.
Economics is the social science concerned with the analysis of commercial
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activities and the ways of producing goods and services. Every nation must
organize the production and distribution of goods and services wanted by
its citizens. To do this a nation’s economic system must solve four basic
problems:

1. What shall be produced?

2. How shall goods and services be produced?

3. Who shall get goods and services?

4. How fast shall the economy grow?

Economists use scientific methods to study economic problems.
Even a mathematical statement was worked out by Leon Wolras to show
how each part of economy was related to all the other parts.

Nowadays research generally centers on understanding the
relationship between various parts of the economy. Economists base their
findings on observation, on case studies. Many economists emphasize the
use of mathematics and statistics in testing economic theories. Their
method is known as econometrics. The methods of economic analysis have
been applied to many problems like education, family life, the organization
of government. This method may be useful when resources available to
achieve an objective are limited.

My work is primarily of practical importance. I work in close
cooperation with my colleagues. We also collaborate with the researchers
of other universities of our Republic and some universities of the CIS. 1
work under the supervision of my adviser, Ph.D. associate professor Petrov
P.P. I meet him at regular intervals to discuss the progress of my work and
the obtained data and get his advice in solving problems. I consult him
when I encounter difficulties in my research. He helped me to select a
promising topic to produce significant results in the appointed period of
time. I hope he will review the major sections of my thesis when it is
written.

Now I’m through with the introduction and some theoretical parts of
my thesis. It’s with my supervisor’s assistance that I prepare articles and
papers. I prepare research publications and written reports on the work
carried out and publish my articles in economic journals. I take part in
various scientific conferences and willingly participate in scientific
discussions and debates. I’'m planning to be through with my thesis by the
end of the following year and prove it in the Scientific Council. I hope to
get my master degree.

Answer the following questions:
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. What are you?
. Where do you work?
. What is your special subject?
. What field of knowledge are you doing research in?
. Have you been working at the problem long?
. Are you a theoretician or experimentalist?
. Who do you collaborate with?
. Who is the team you work in headed by?
. Who is your personal supervisor?
10. When do you consult your scientific adviser?
11. What are the methods used in your work?
12. What do you investigate?
13. How many scientific papers have you published?
14. Do you take part in the work of scientific conferences?
15. Where and when are you going to get your higher degree?

O 00 1O\ bW —

NOTES

staff member: one of those working in an establishment, institution,
organization;

to hold a senior doctorate: to hold a scientific degree which corresponds to
the degree of Doctor of Science;

technical skill: practical knowledge and ability to conduct an investigation;
the most suitable techniques: methods which are the best for some
particular investigation;

procedure: scientifically tested order of doing things while carrying out an
experiment;

to conduct research: to investigate something systematically in order to
discover and interpret new knowledge;

written report: a written account of one’s achievements;

to prepare a paper: to prepare a scientific contribution to be read to a
learned society or to be published.
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